ThermoGrip®

72 Bic T1 4%
Shrink Chucks




2

FEHRP:

AFTEAM, FEKXETIER, MIRMNEFESHMEEY

HIB A, #EM &2 B ARI4% - 6%, #AFBHHILE=TT]
HI & SR AN IR

Mo, HaFiEeBiLENTI AR ERERIKE, F
Higm7B&EmE? XAFMERBAERN TR FERE
HIkEER S

BMNE—MAESFLRMNFKKRE, XEZWGHEELNFT

RHF S RN RICEH T ZHF@EE. K~
B SEXER L,

ThermoGrip®

“EREHF AMUNRERE—AOS, MERNMRENKE,
21, RN m—EEBRFERNNKIE,

X FRBHEARTEEN R, BT RESIHRITHRERTT
E, BREARIMNEENBRARER,

Pb 7R % 7= fm S FF EIBA




Dear reader,

As everyone knows, money is made at the ,,cutting edge”.
The productivity of this cutting edge influences the total
costs of cutting processes, however its contributions only
amount to 4 - 6 %.

Most production and cutting experts will agree with these
statements.

What should you do to fully profit from the cutting edge
performance and to increase tool life?

This manual will support you in selecting the optimal clam-
ping tools for your “cutting edges”.

Our long experience as a traditional family-run company
helps us to develop products you can rely on and com-
pile a comprehensive product range in this manual. Many
improvements have been included.

JD/JDF/BT

o §

a1l

“Always better” is not just a slogan for us. It is a promise
for quality. We and our products keep our promises.
Beyond this product range, we can offer you various custom-
designed solutions.

Please speak with us about new solutions for your applica-
tions.

Many people react, we act.

On behalf of the whole Bilz Team

MMS/MQL

ThermoGrip®

Appendix



AR TIMRE T

Shrink Chucks Overview

T FRAEMBK JI48 Shrink Chucks

HSK-A32 15 HSK-C32 27 HSK-E25 28 HSK-F40 40 CAT40 Inch 43
HSK-A40 15 HSK-C40 27 HSK-E32 29 HSK-F63 41 CAT40 44
HSK-A50 15 HSK-C50 27 HSK-E40 31 HSK-E63 Inch 42 CAT50 Inch 45
HSK-A63 16 HSK-C63 27 HSK-E40 Inch 32 CAT50 46
HSK-A80 21 HSK-E50 35
HSK-A100 22 HSK-E50 Inch 36
HSK-E63 39
i - i - ) )
bz pxe X bz
AD e | ADB/ADF X® BTD ¥ BTUDF oo
AD30 48 ADB40 51 BT30 Inch 56 BT40 57
AD40 49 ADB50 53 BT50 60
/ [ [
TSF ZHBV#EK T4 Slim Shrink Chucks
el s

a—

-

g

BTD o
HSK-A63 19 HSK-E25 28 HSK-F40 40 AD40 52 BT40 59
HSK-E32 30
HSK-E40 Inch | 33-34
HSK-E50 37-38

HAKAL Thermogrip® Shrink Units

ISGZR I &% Overview ISG Series 83
AR B Equipment Thermogrip® Shrink Units 87-88
TDSc##E A TDSc Data Carrier 89

4 ThermoGrip®



THD Z=#H #7148 Heavy Duty Shrink Chucks

~4=

==

4=

LX) g X1} LT
HSK-A .= | ADB/ADF /= BTAD Jo | CAT e
HSK-A100 25 ADB50 55 BT50 59 CAT40 Inch 47
HSK-A125 26 CAT50 Inch 47

T Cool Jet #.f 14 Shrink Chucks

e = = =

O] Gz W it W
HSK-A ... AD40 . |ADF50 ... |JDF40 = JD50 ...
HSK-A63 17 AD40 50 | ADF50 54 | JDF40 58 | JD50 61
HSK-A100 23
—— =
S
ER #AK = EKFT FHRIERAT
ER Shrink Fit Adaptor Extensi Chuck Extensions with MMS
p Xtensions Vibration Damping MQL
L] k] i g
ER Page TSFV Page VIDAT Page HSK-A Page
ER 68 110-160 62 LNE-T..;20 65 MQ1 72
ER Inch 69 200-250 63 LNE-T..;25 65 MQ2 73 -75
110-2501Inch 63 LNE-T..;32 65
LNE-MH 65

BBk TIFFELE Equipment Shrink Chucks

g4 Adjusting Screws 76
& Measuring 77
7 RAENKEMIFE (MMS 1+2 Kanal) Universal Meeasuring Adaptor (MQL 1+2 Channel) 78
N EMiIAE Length Adjusting Sleeve 79
HI%T Pull Stud 80-81
R4 EREBHEA Assembly Instrucktions — Coolent Transfer Set 82
FEERF Important Hints 91

ThermoGrip®

MMS/MQL TER LNE TSFV JD/JDF/BT AD/ADF CAT HSK

Appendix



PAR TR LB TN 1%
Thermogrip® Shrink Chucks Advantages and properties

=]

EREE

Wit A BT G
- GREFNREER

- BEASHEMTEERAHE
- BRI

Optlmlzed Stablllty through “Balanced
by Design” and subsequent fine balancing

= Better surface quality

= |deal for HPC/HSC processing

= Low wear of the machine spindle

BIHERF

AT AT HANRERAHELL RSB
- EEME AR

- BIEA BB R

- TAFREHRLES

Longest tool life and form stability
due to the use of high heat resisting, special
purpose steel

= High radial rigidity

= Low deflection

= High rate of infeeds possible

6 ThermoGrip®



ZE

" PR XTSI TR RS, MDINTSIS
ARl BEIFNER! X DIN6535 HA®!, HBRIFNIHEZR!
« REEARBE AT AL

Security

= All cylindrical shanks acc. to DIN 1835 Form A,
B and E as well as DIN 6535 Form HA, HB and
HE can be clamped

= No loss of clamping force on greasy and
oily shanks

ZRIIFLIZIT
BET AR HAATERL AHNMABER,
RILIRAE, FHRERLD15% - 20% MAGER,

The patented counterbore
allows insertion of the tool under cold conditions,
as well as an automatic shrinking process and
simplified handling.

15% — 20 % less heat required when heating

the shrink chuck

SEIE

7F0.003mm I T IFFEEE TS EE, Z1ERE R
= REIAEMEREE, SMEER 7 O

" HORY

Highest concentricity

< 0,003 mm and precise taper tolerances,

manufactured in an air-conditioned production area

= Reduced tool costs due to improved tool life,
allows a constant cutting edge contact

= Reduced chatter marks

ThermoGrip®

7

MMS/MQL TER LNE TSFV JD/JDF/BT AD/ADF CAT HSK

Appendix



infLi%it - the ThermoGrip® Brand
Counterbore — the ThermoGrip® Brand

= Mg T AL L [ BRI
= @ 15% - 20%N#HE
» LR T A RE

= Precentering of the tool
for an automatic shrinking process
= 15% - 20 % less heat needed
during heating - low wear
= Optimal shrinking out of HSS shanks

Bilzit 7Lt it Z R R % 7] e i P
The patented Bilz counterbore allows problem free tool
change

Ik R i3 FRY K

Hot Spot produces symmetric widening

FHA{EER Information

FEMBRERT R MM EIRE, TR0 X5
HRE M, AN TFEERE, A TFNRREHEESTHE,
NHSHEFNLHR——E—NEER, BRERIPKF,
BRENHMARE A LA ENRENS—2, BESRTHL
WOTIERXIEHEERR BT XFERFEHMBAN, FRIET
TIFiE KA F o

ThermoGrip®

il
Counterbore

The picture above shows the cross section of an inductively
heated shrink chuck. The surface of the chuck mainly heats
the Hot Spot area very quickly. This area is situated in the
middle of the coil spindle. Since the temperature is always
higher on the surface of the chuck than in the inner part, the
chuck opens by micrometres - similar to a banana - slightly

outwards.

Because of this, the chuck is always slightly more open at
the Hot Spot than at the boring entry. The cylindrical coun-
terbore bypasses this critical area securely at reduced ener-
gy requirement. Due to this low wear heating process, a lon-
ger tool life of the shrink chucks is guaranteed.




ThermoGrip® R EY K TI4R
ThermoGrip® Slim Shrink Chucks

TSFRBIAM N A—E ARETLF R ARKBURE
LERFREAZNCHNERESTIE, WRKAIMITNESE T/,
FEITSFARKTIMEYSMIRSARIZ T RS Rifg, ERTEAEMT,

KRB WG AT E R RE.

X TIAREYE O B /NF0.003 K, FEHE/NT1 gmmkg, FTEH
AR T REM T HMN R RMAREHSHURER, ZRSHR
BRI AT AT, R T A T AT R MAM AL AL
TR B XU

ITzREREETEATARKE, AREHED,

Introducing the new shrink chuck TSF ThermoGrip® - the slim
version has been developed especially for the mold and die
industry. This chuck type is used for induction shrinking of carbide
tools. Due to the slim shape of this new chuck, interfering edges are
a thing of the past.

The external geometry of the new shrink chuck TSF is designed with
a 3° incline, compatible with dies and molds.

The slim shrink chucks have a non-corroding coating.

The chucks have a concentricity of < 0,003 mm and are fine bal-
anced at < 1gmm/kg. Specifically for these slim chucks, all new
ThermoGrip® shrink units are programmed with the parameters of
heating time and generator output to shrink all possible shank
diameters. Older version shrink units can be upgraded with these
parameters. As a result, thin-walled chucks can be shrunk with the
highest reliability and without the risk of overheating.

The broad product range means that chucks with different lengths
are available for all applications on all standard spindles.

RANTIRE. SRIE. SR

3° PARREATILHIRE
IR

3° incline for overcoming the
deep cavities seen in the mold
and die industry

HIEMEELE S

Optimal combination of
smallest possible interference
contour, high radial rigidity and
high torques

2/ IR HEIRR ATSFIH
Indication of the TSF
geometry by 2 grooves

=B ATSFmi g g B

(HSK-E. FEAEZI#thE )
Non-corroding coating for
mold and die chucks TSF
as well as all shrink chucks
HSK-E and HSK-F

ThermoGrip® 9

MMS/MQL TER LNE TSFV JD/JDF/BT AD/ADF CAT HSK

Appendix



THD - E# MK TR
THD — Heavy Duty Shrink Chucks

BeBnEnNtRiEeERE
BnTEE, S&E0NRT, BIEE BETHREREBE
Yo 33 0 I e, BT LA 38R 4R 3 High radial rigidity for best
Increased wall thickness combined form stability at highest
with the short and rigid design help metal removal rate
prevent vibrations even at high speeds.

Zik50%M1E R EE = EREY A

TR ERATIMRAREN TMEENEEHER:
@ 16, 20, 25R] ATEISG34xx WK-WSF1Z: B ISG3200-2_F fin#k
@ 32mmzf B A K R EETEHL-H1EISG44xx_E1E A

Up to 50 % more overlap - Suited for *HPC cutting

Attention: THD chuck can be used only with the following units/coils:

@ 16, 20, 25: on ISG34xx WK-WS and coil ISGS3200-2 possible
@ 32 and above: only on HL-units ISG44xx

* High Performance Cutting

1SG4410WK-HL

FRTIRHE ZE &R KR UNH#40T 52 1 71 4E

Vollautomatisches Schrumpfen und Kihlen auch groBer und schwerer Schrumpffutter
FEEED: 3mmEI5Tmm

WHIEE: K&

WHEIEE: 30F)

The Heavyweight Champion - shrinking of tools up to 40 kg

Fully automatic Shrinking and Cooling, also suitable for large and heavy Shrink Chucks
Clamping range @: 3 mm - 50 mm

Cooling type: Water

Cooling time: 30 seconds

10 ThermoGrip®



TSFV — B IEKAT
TSFV - Shrink Extensions

OB AT Lt N R

Shanks for modular build up to access deep and restricted cavities

I.
ThermoGrip® 11

CFmbh

wNFHRE, SNE. S3FHF
HIEHTEEES

Optimal combination of the
smallest possible interference
contour, high radial rigidity,
and high torques

MMS/MQL TER LNE TSFV JD/JDF/BT AD/ADF CAT HSK

Appendix



% AR 4 Nz 38 18 ] 5K 1]
ThermoGrip® Cool Jet - optimised closable coolant supply

ThermoGrip® Cool Jet B A

BT AR AEEEMEITIEI 7], BMEEREHERISEHI TR, Thermogrip® Cool Jetth fER £ A
S TE, T S KI2ETRE R Bz AT &MAL A,

n TBERABTIR, R TR

» BEERTHEEE. KMHMEEHEMT

ThermoGrip® Cool Jet Applications

Even with the most difficult milling operations, Thermogrip® Cool Jet works reliably
and safely due to the coolant jet directed to the cutting edge is flexibly adapted to each
application due to the locking screws provided.

= all tool types with and without internal cooling

m universal suitability for all metal, wood and composite applications

RIS EDIEE 7L AE
BRI AR ANE BT

~ ThermoGrip® #rEi%it
ERARREVHI TR

ThermoGrip® Cool Jet ifid 7] % [l 9:4 0 ik 4t B
BB S AR
PUSEIYIEI TIER ASE

ThermoGrip® Cool Jet stands for optimised
coolant supply through closable coolant supply

channels

AL = SHnTE i R
RERFFIHI IR IEETRE, TTRFSHEK
RENHIEEENERARE——BRH%BIG
REIFETE

ThermoGrip® Cool JetA[#R#HEZ3 mm ~ 50mmiz A
B T14R

demand-orientated cooling of the cutting edge
optimized air and lubricant feed

longer tool life due to constant tool preserving
cutting temperatures at the cutting edge
improved surface quality due to optimal chip
removal — no second chip cutting

excellent usability in shrinking and insertion

ThermoGrip® Cool Jet is available for standard shrink

chuck shanks T... from diameter 3 mm up to 50 mm

12 ThermoGrip®



72 AN A N AR

ThermoGrip® Corona Jet - the new standard in coolant feed

ThermoGrip® Corona Jet N
BIFTRL AN HLL T TIEENmEZEE — SRR, HARAERNEERE, BEIVIEI7FHEE
B,

RATFAFERLTIE
» EATERE. AMESHEAMTI
w FRIESHIME, BURREINT

ThermoGrip® Corona Jet Applications
Innovative Type of Coolant Feed: The front end of the chuck contains a jet ring with
integrated jets set at varying angles, directed at the cutting edge and cutters flutes.

m for Tools without coolant channels
m Treatment of metal, wood and composites
m particularly suitable for peripheral milling, circular pocket milling and deep cavities

REARASIHERMEL, RAER

YK it HEBTE, (ETHEE
ThermoGrip® #RiE &1t

ThermoGrip® Corona Jet i#id 4 ik HiEE 2 HH
DRAL & E0 i FniE iR i 4 L

n ENHEEEAENERTRE—E RSB G
BERFBLIHI T IEETRE, TNESEGEK

B TR IR, TR, H

HEB e , B D TI B ARR

MIEIEEHE

ThermoGrip® Corona Jet stands for optimal
coolant and lubricant feed directly at the cutting
edge
u ® improved surface quality due to optimal chip
u removal — No second cutting of chips
u longer tool life due to constant tool cutting
u temperatures at the cutting edge
complete coolant spraying of the cutter due to the

special angled design of the jets

ThermoGrip® Corona Jet AT EE6 mm ~ 20 mm#x
B TR

reduction in tool breakage due to effective chip
removal
excellent usability in shrinking and insertion

ThermoGrip® Corona Jet is available for standard

shrink chuck shanks T... from diameter 6 mm up to
20 mm

*HEEEBEE<?>T Balancing Information, page <?> ThermoGrip® 13

MMS/MQL TER LNE TSFV JD/JDF/BT AD/ADF CAT HSK

Appendix



IR AR

lllustration of the Pictograms

TItE R E A
Concentricity of the ThermoGrip® Shrink Chucks

A 0,005 A

=) |
&5 |

max. max. max. max. max. max. max. max. max. max. max. max. max. max.
8.000 10.000 12.000 15.000 18.000 20.000 24.000 J25.000 30.000 35.000 36.000 40.000 42,000 50.000

M S EE=1 kg TIHE, HI BREBG2.5 RMP2500iE% s T185; F|E<1 kghIJIH, BALRTEEHE<1 gmm
Balancing: The chucks are factory-made finely balanced with G2,5 at 25.000 rpm, for chucks with the mass of >= 1 kg; or chucks with
the mass of <1 kg with residual imbalance <1 g mm

BiEEALEE Corrosion protected (coated)

EFREMT — & FEETIL
Suitable for deep cavities — especially for the mold and die industry

T &44E A FRIEBILZ: The following applies for all ThermoGrip® shrink chucks:
SEHREEAL: 034=h4|05=h5|0>6=h6 Shank tolerance: @ 3,4 = h4 | @5 = h5 | @ > 6 = h6

BERTHERTIERIIMEK:
Form special shrink chuck directly via QR Code:

14  ThermoGrip®



T... HSK-A, pin69s9s

BB TI4E Shrink Chucks

T... HSK-A32

D1 A

[mm] | [mm]

L3
[mm]

D2
[mm]

D3
[mm]

L1
[mm]

|
[mm]

Bs
Designation

G2,5/| | | | max.
25.000 40.000
iT

Ident No.

=

D1 A
[mm]

[mm]

L3
[mm]

D2
[mm]

D3
[mm]

L1
[mm]

N
[mm]

B
Designation

3 65 45 15 20 20 5 M6 TO300/HSK-A32 6727280
4 65 45 15 20 20 5 M6 T0400/HSK-A32 6727281
5 65 45 15 20 25 5 M6 T0500/HSK-A32 6727282
6 75 55 21 26 36 10 M5 T0600-75/HSK-A32 5053729
8 75 55 21 26 36 10 M6 T0800-75/HSK-A32 9129720
10 75 55 24 29 42 10 M8x1 T1000/HSK-A32 6726214
12 80 60 24 29 47 5 M10x1 T1200/HSK-A32 6726215
” 5064893 M 6738740 B {455 #£82T Accessories, page 82
D2 D3 L1 [\ s TS
[mMm] | [mm] | [mm] | [mm] | [mMm] | [Mm] | [mm] Designation Ident No.
3 60 40 15 20 20 5 M6 TO300/HSK-A40 6726615
4 60 40 15 20 20 5 M6 T0400/HSK-A40 6726616
5 60 40 15 20 25 5 M6 T0500/HSK-A40 6726617
6 80 60 21 27 36 10 M5 T0600/HSK-A40 6726222
8 80 60 21 27 36 10 M6 T0800/HSK-A40 6726223
10 80 60 24 32 42 10 M8x 1 T1000/HSK-A40 6726224
12 90 70 24 32 47 10 M10x1 T1200/HSK-A40 6726225
14 90 70 27 34 47 10 M10x1 T1400/HSK-A40 6726226
16 90 70 27 34 50 10 M12x1 T1600/HSK-A40 6726227
" 5028425 WA 6738741 i 55 #8251 Accessories, page 82
T... HSK-A50 HSS

TS

Ident No.

3 80 54 15 20 20 5 M6 TO300/HSK-A50 5038902
4 80 54 15 20 20 5 M6 T0400/HSK-A50 9179308
5 80 54 15 20 25 5 M6 T0500/HSK-A50 5000253
6 80 54 21 27 36 10 M5 T0600/HSK-A50 6726232
8 80 54 21 27 36 10 M6 T0O800/HSK-A50 6726233
10 85 59 24 32 42 10 M8 x1 T1000/HSK-A50 6726234
12 90 64 24 32 47 10 M10x1 T1200/HSK-A50 6726235
14 90 64 27 34 47 10 M10x1 T1400/HSK-A50 6726236
16 95 69 27 34 50 10 M12x1 T1600/HSK-A50 6726237
18 95 69 33 42 50 10 M12x1 T1800/HSK-A50 6726238
20 100 74 33 42 52 10 M16x1 T2000/HSK-A50 6726239
” 5028426 M 6738442 5 S #8251 Accessories, page 82

*HEHEBEF<?>T Balancing Information, page <?>

ThermoGrip®

15

MMS/MQL TER LNE TSFV JD/JDF/BT AD/ADF CAT HSK

Appendix



T... HSK-A 63, pin69s9s
BBk TI4E Shrink Chucks

D1 A L3 D2 D3 L1 N B TS
[mMm] | [mm] | [mm] | [mm] | [mMm] | [mMm] | [mm] Designation Ident No.
3 80 54 15 20 20 5 M6 TO300/HSK-A63 6726618
4 80 54 15 20 20 5 M6 T0400/HSK-A63 6726619
5 80 54 15 20 25 5 M6 T0500/HSK-A63 6726620
6 80 54 21 27 36 10 M5 T0600/HSK-AB3 6726201
8 80 54 21 27 36 10 M6 TO800/HSK-A63 6726202
10 85 59 24 32 42 10 M8 x1 T1000/HSK-AB3 6726203
12 90 64 24 32 47 10 M10x1 T1200/HSK-A63 6726204
14 90 64 27 34 47 10 M10x1 T1400/HSK-A63 6726205
16 95 69 27 34 50 10 M12x1 T1600/HSK-AB3 6726206
18 95 69 33 42 50 10 M12x1 T1800/HSK-A63 6726211
20 100 74 33 42 52 10 M16x1 T2000/HSK-A63 6726207
25 115 89 44 52,5 58 10 M16x1 T2500/HSK-AB3 6726208
32 120 94 44 52,5 62 10 M16x1 T3200/HSK-A63 6726209
6 120 94 21 27 36 10 M5 T0600-120/HSK-A63 6726388
8 120 94 21 27 36 10 M6 T0800-120/HSK-A63 6726391
10 120 94 24 32 42 10 M8 x1 T1000-120/HSK-AB3 6726392
12 120 94 24 32 47 10 M10x1 T1200-120/HSK-A63 6726410
14 120 94 27 34 47 10 M10x1 T1400-120/HSK-A63 6726401
16 120 94 27 34 50 10 M12x1 T1600-120/HSK-A63 6726399
18 120 94 33 42 50 10 M12x1 T1800-120/HSK-A63 6726539
20 120 94 33 42 52 10 M16x1 T2000-120/HSK-A63 6726662
25 120 94 44 52,5 58 10 M16x1 T2500-120/HSK-A63 6726416
32 120 94 44 52,5 62 10 M16x1 T3200/HSK-AB3 6726209
6 160 134 21 32 36 10 M5 T0600-160/HSK-AB3 6726411
8 160 134 21 32 36 10 M6 T0800-160/HSK-A63 6726402
10 160 134 24 34 42 10 M8 x1 T1000-160/HSK-A63 6726403
12 160 134 24 34 47 10 M10x1 T1200-160/HSK-A63 6726404
14 160 134 27 42 47 10 M10x1 T1400-160/HSK-A63 6726405
16 160 134 27 42 50 10 M12x1 T1600-160/HSK-A63 6726406
18 160 134 33 51 50 10 M12x1 T1800-160/HSK-A63 6726407
20 160 134 33 51 52 10 M16x1 T2000-160/HSK-A63 6726468
25 160 134 44 52,5 58 10 M16x1 T2500-160/HSK-A63 6726408
32 160 134 44 52,5 62 10 M16x1 T3200-160/HSK-A63 6726409
6 200 174 21 32 36 10 M5 T0600-200-K1-HSKAB3 6726634
8 200 174 21 32 36 10 M6 T0800-200-K1-HSKAGB3 6726356
10 200 174 24 34 42 10 M8x1 T1000-200-K1-HSKAB3 6726498
12 200 174 24 34 47 10 M10x1 T1200-200-K1-HSKAB3 9073374
14 200 174 27 42 47 10 M10x1 T1400-200-K1-HSKAG3 5135423
16 200 174 27 42 50 10 M12x1 T1600-200-K1-HSKAB3 9079363
18 200 174 33 51 50 10 M12x1 T1800-200-K1-HSKAB3 5134245
20 200 174 33 51 52 10 M16x1 T2000-200-K1-HSKA6B3 5066417
25 200 174 44 52,5 58 10 M16x1 T2500-200-K1-HSKAB3 5134246
32 200 174 44 52,5 62 10 M16x1 T3200-200-K1-HSKAG3 5134247
= 5025376 - 6738421 M5 52825 Accessories, page 82

16  ThermoGrip® *#hFE#E{E BER<?>TT Balancing Information, page <?7>



T....-...-C1-...HSKAG63 / Cool Jet, piNn69s93
Cool Jet imE & EN#AK TI4E Shrink Chucks

(%]

BS

G25[ | _» | m
25,000 24,000
T

T4 2
nT

Designation Ident No.
3 80 54 15 20 20 5 M6 T0300-80-C1-HSKAB3 5150192
4 80 54 15 20 20 5 M6 T0400-80-C1-HSKAB3 5150201
5 80 54 15 20 25 5 M6 T0500-80-C1-HSKA63 5147940
6 80 54 21 27 36 10 M5 T0600-80-C1-HSKAB3 5150210
8 80 54 21 27 36 10 M6 T0800-80-C1-HSKAB3 5150212
10 85 59 24 32 42 10 M8 x1 T1000-85-C1-HSKAB3 5150214
12 90 64 24 32 47 10 M10 x1 T1200-90-C1-HSKAB3 5150217
14 90 64 27 34 47 10 M10 x1 T1400-90-C1-HSKAB3 5150218
16 95 69 27 34 50 10 M12 x1 T1600-95-C1-HSKA63 5150219
18 95 69 33 42 50 10 M12 x1 T1800-95-C1-HSKAB3 5150220
20 100 74 33 42 52 10 M16 x1 T2000-100-C1-HSKAB3 5150222
25 115 89 44 52,5 58 10 M16 x1 T2500-115-C1-HSKAB3 5150223
32 120 94 44 52,5 62 10 M16 x1 T3200-120-C1-HSKAB3 5150224
6 120 94 21 27 36 10 M5 T0600-120-C1-HSKAB3 5150225
8 120 94 21 27 36 10 M6 T0800-120-C1-HSKAB3 5150226
10 120 94 24 32 42 10 M8 x1 T1000-120-C1-HSKAB3 5150227
12 120 94 24 32 47 10 M10 x1 T1200-120-C1-HSKAB3 5150228
14 120 94 27 34 47 10 M10 x1 T1400-120-C1-HSKA63 5150229
16 120 94 27 34 50 10 M12 x1 T1600-120-C1-HSKAB3 5150230
18 120 94 33 42 50 10 M12 x1 T1800-120-C1-HSKAB3 5150231
20 120 94 33 42 52 10 M16 x1 T2000-120-C1-HSKAB3 5150232
25 120 94 44 52,5 58 10 M16 x1 T2500-120-C1-HSKAB3 5150233
32 120 94 44 52,5 62 10 M16 x1 T3200-120-C1-HSKAB3 5150224
6 160 134 21 32 36 10 M5 T0600-160-C1-HSKAB3 5150235
8 160 134 21 32 36 10 M6 T0800-160-C1-HSKAB3 5150236
10 160 134 24 34 42 10 M8 x1 T1000-160-C1-HSKA63 5150238
12 160 134 24 34 47 10 M10 x1 T1200-160-C1-HSKA63 5150240
14 160 134 27 42 47 10 M10 x1 T1400-160-C1-HSKAB3 5150241
16 160 134 27 42 50 10 M12 x1 T1600-160-C1-HSKAB3 5150242
18 160 134 33 51 50 10 M12 x1 T1800-160-C1-HSKAB3 5150940
20 160 134 33 51 52 10 M16 x1 T2000-160-C1-HSKAB3 5150245
25 160 134 44 52,5 58 10 M16 x1 T2500-160-C1-HSKA6B3 5150247
32 160 134 44 52,5 62 10 M16 x1 T3200-160-C1-HSKAB3 5150248

— 5025376 ES 6738241 Bt {55 #8271 Accessories, page 82

Cool-Jet 4§55

- AN
- EASHI
- AEmA A EAL

Cool-Jet execution

- for optional external cooling
- 2 closable cooling channel holes

- Optionally with 4 cooling channel holes

*HPEEEEM<?>T Balancing Information, page <?>

ThermoGrip®

17

MMS/MQL TER LNE TSFV JD/JDF/BT AD/ADF CAT HSK

Appendix



T... HSK-A 63, pin69s9s
BBk TI4E Shrink Chucks

T... HSK-A63 - #+t Inch
A L3 D2 D3 L1 N B TS

[Inch] | [Inch] | [Inch] | [Inch] | [Inch] | [Inch] Designation Ident No.
0,125 3,15 2,13 0,59 0,79 0,79 0,20 M6 T0318/HSK-AB3 9079266
0,187 3,15 2,13 0,59 0,79 0,98 0,20 M6 T0476/HSK-A63 9079278
0,250 3,15 2,13 0,83 1,06 1,42 0,39 M5 T0635/HSK-AB3 6726420
0,312 3,15 2,13 0,83 1,06 1,42 0,39 M6 T0794/HSK-A63 6726421
0,375 3,35 2,32 0,94 1,26 1,65 0,39 M8X1 T0953/HSK-AB3 6726422
0,500 3,54 2,52 1,06 1,34 1,85 0,39 M10X1 T1270/HSK-A63 6726424
0,625 3,74 2,72 1,06 1,34 1,97 0,39 M12X1 T1588/HSK-A63 6726426
0,750 3,94 2,91 1,30 1,65 2,05 0,39 M16X1 T1905/HSK-A63 6726428
1,000 4,53 3,50 1,73 2,07 2,44 0,39 M16X1 T2540/HSK-A63 6726430
0,125 4,72 3,70 0,59 0,79 0,79 0,20 M6 T0318-120/HSK-A63 9079267
0,187 4,72 3,70 0,59 0,79 0,98 0,20 M6 T0476-120/HSK-A63 9079279
0,250 4,72 3,70 0,83 1,06 1,42 0,39 M5 T0635-120/HSK-A63 6727392
0,375 4,72 3,70 0,94 1,26 1,65 0,39 M8X1 T0953-120/HSK-A63 6727393
0,500 4,72 3,70 1,06 1,34 1,85 0,39 M10X1 T1270-120/HSK-A63 6727394
0,625 4,72 3,70 1,06 1,34 1,97 0,39 M12X1 T1588-120/HSK-A63 9079254
1,000 4,72 3,70 1,73 2,07 2,44 0,39 M16X1 T2540-120/HSK-A63 5099442
1,250 4,72 3,70 1,73 2,07 2,44 0,39 M16X1 T3175/HSK-A63 6726431
0,125 6,30 5,28 0,59 1,06 0,79 0,20 M6 T0318-160/HSK-A63 9079268
0,187 6,30 5,28 0,59 1,06 0,98 0,20 M6 T0476-160/HSK-AB3 9079280
0,250 6,30 5,28 0,83 1,26 1,42 0,39 M5 T0635-160/HSK-A63 6726614
0,375 6,30 5,28 0,94 1,34 1,65 0,39 M8X1 T0953-160/HSK-A63 9079221
0,500 6,30 5,28 1,06 1,65 1,85 0,39 M10X1 T1270-160/HSK-A63 9079247
0,625 6,30 5,28 1,06 1,65 1,97 0,39 M12X1 T1588-160/HSK-A63 9079255
0,750 6,30 5,28 1,30 2,01 2,05 0,39 M16X1 T1905-160/HSK-A63 9079258
1,000 6,30 5,28 1,73 2,07 2,44 0,39 M16X1 T2540-160/HSK-A63 9079259
1,250 6,30 5,28 1,73 2,07 2,44 0,39 M16X1 T3175-160/HSK-A63 9079261

— 5025376 —vA 6738421 B {55 %8251 Accessories, page 82

18 ThermoGrip® *#hFE#E{E BER<?>TT Balancing Information, page <?7>



TSF... HSK-AB3, piN69893
RCBIBAK TIHE Slim Shrink Chucks

@01

@02
@03

] m

D1 A NL D2 D3 L1 N as TS
[mm] | [mm] | [mm] | [mm] | [mm] | [mm] | [mm] Designation Ident No.
3 70 40 9 13 20 5 M6 TSF0300-40/HSK-A63 9078617
4 70 40 10 14 20 5 M6 TSF0400-40/HSK-A63 9078654
6 90 60 12 18 36 5 M5 TSF0600-60/HSK-A63 9078658
8 90 60 14 20 36 5 M6 TSF0800-60/HSK-A63 9078670
10 90 60 16 22 42 5 M8 x1 TSF1000-60/HSK-A63 9078676
12 90 60 18 24 47 5 M10x1 TSF1200-60/HSK-A63 9078725
16 90 60 22 28 50 5 M12x1 TSF1600-60/HSK-A63 9078728
3 100 70 9 16 20 5 M6 TSF0300-70/HSK-A63 9078652
4 100 70 10 17 20 5 M6 TSF0400-70/HSK-A63 9078655
6 120 90 12 21 36 5 M5 TSF0600-90/HSK-A63 9078660
8 120 90 14 23 36 5 M6 TSF0800-90/HSK-A63 9078673
10 120 90 16 25 42 5 M8 x1 TSF1000-90/HSK-A63 9078677
12 120 90 18 27 47 5 M10x1 TSF1200-90/HSK-A63 9078726
16 120 90 22 31 50 5 M12x1 TSF1600-90/HSK-A63 9078729
3 130 100 9 19 20 5 M6 TSF0300-100/HSK-A63 9078653
4 130 100 10 20 20 5 M6 TSF0400-100/HSK-AB3 9078657
6 150 120 12 24 36 5 M5 TSF0600-120/HSK-AB3 9078661
8 150 120 14 26 36 5 M6 TSF0800-120/HSK-A63 9078674
10 150 120 16 28 42 5 M8 x1 TSF1000-120/HSK-AB3 9078678
12 150 120 18 30 47 5 M10x1 TSF1200-120/HSK-A63 9078624
16 150 120 22 34 50 5 M12x1 TSF1600-120/HSK-A63 9078730
3 200 174 9 26 20 5 M6 TSF0300-200-K1-HSKA63 5132995
6 200 174 12 29 36 5 M6 TSF0600-200-K1-HSKA63 5132993
8 200 174 14 31 36 5 M5 TSF0800-200-K1-HSKAB3 5132996
10 200 174 16 33 42 5 M8x1 TSF1000-200-K1-HSKA63 5132997
12 200 174 18 35 47 5 M10x1 TSF1200-200-K1-HSKA63 5132999

Q EERTSFERE N, ¥ MM#H87T TSF discs, see accessories page 87
— 5025376 ‘ _,A ‘ 6738421 B #4i55 #8251 Accessories, page 82

*HEHEBEF<?>T Balancing Information, page <?>

ThermoGrip®

MMS/MQL TER LNE TSFV JD/JDF/BT AD/ADF CAT HSK

Appendix



TSF... HSK-AB3, piN69893
RCBIBAK TIHE Slim Shrink Chucks

@03

| m
)- 1
6
e
o
@01
1§02

[ U2
{

T
G2,5/| | | | max. = l!‘
TSF... HSK-A63 - % Inch 25.000] | <3ym| [24.000 @ poet” _"-
D1 A NL D2 D3 L1 N B TS

[Inch] | [Inch] | [Inch] | [Inch] | [Inch] | [Inch] | [Inch] Designation Ident No.
0,125 2,76 1,57 0,35 0,51 0,79 0,20 M6 TSF0318-40/HSK-A63 5053808
0,187 3,54 2,36 0,43 0,71 0,98 0,20 M6 TSF0476-60/HSK-A63 5053812
0,250 3,54 2,36 0,47 0,71 1,42 0,20 M5 TSF0635-60/HSK-A63 5053814
0,375 3,54 2,36 0,63 0,87 1,65 0,20 M8X1 TSF0953-60/HSK-A63 5048183
0,500 3,54 2,36 0,79 1,02 1,85 0,20 M10X1 TSF1270-60/HSK-A63 5053816
0,625 3,54 2,36 0,87 1,10 1,97 0,20 M12X1 TSF1588-60/HSK-A63 5053817
0,125 3,94 2,76 0,35 0,63 0,79 0,20 M6 TSF0318-70/HSK-A63 5053818
0,187 4,72 3,54 0,43 0,83 0,98 0,20 M6 TSF0476-90/HSK-A63 5053819
0,250 4,72 3,54 0,47 0,83 1,42 0,20 M5 TSF0635-90/HSK-A63 5053821

0,375 4,72 3,54 0,63 0,98 1,65 0,20 M8X1 TSF0953-90/HSK-A63 5053822
0,500 4,72 3,54 0,79 1,14 1,85 0,20 M10X1 TSF1270-90/HSK-A63 5053823
0,625 4,72 3,54 0,87 1,22 1,97 0,20 M12X1 TSF1588-90/HSK-A63 5053824
0,125 5,12 3,94 0,35 0,75 0,79 0,20 M6 TSF0318-100/HSK-A63 5053825
0,187 5,91 4,72 0,43 0,94 0,98 0,20 M6 TSF0476-120/HSK-A63 5053826
0,250 5,91 4,72 0,47 0,94 1,42 0,20 M5 TSF0635-120/HSK-A63 5053827
0,375 5,91 4,72 0,63 1,10 1,65 0,20 M8X1 TSF0953-120/HSK-A63 5053828
0,500 5,91 4,72 0,79 1,26 1,85 0,20 M10X1 TSF1270-120/HSK-A63 5053829
0,625 5,91 4,72 0,87 1,34 1,97 0,20 M12X1 TSF1588-120/HSK-AG3 5053830

Q EEATSFERER, #8751 TSF discs, see accessories page 87
— 5025376 ‘ ’A ‘ 6738421 415 S #8251 Accessories, page 82

20 ThermoGrip® *#hFE#E{E BER<?>TT Balancing Information, page <?7>



T.. HSK-A80, pin69893
A TIHm Shrink Chucks

T, HSK-ABD &5 om0 @) s
D1 A K] D2 D3 L1 N Eilb= TS
[mm] [mm] [mm] [mm] [mm] [mm] [mm] Designation Ident No.
6 85 59 21 27 36 10 M5 T0600/HSK-A80 6726455
8 85 59 21 27 36 10 M6 T0800/HSK-A80 6726396
10 90 64 24 32 42 10 M8x1 T1000/HSK-A80 6726985
12 95 69 24 32 a7 10 M10x1 T1200/HSK-A80 6726397
14 95 69 27 34 47 10 M10x1 T1400/HSK-A80 6727004
16 100 74 27 34 50 10 M12x1 T1600/HSK-A80 6726658
18 100 74 33 42 50 10 M12x1 T1800/HSK-A80 6726874
20 105 79 33 42 52 10 M16x 1 T2000/HSK-A80 6726659
25 115 89 44 53 58 10 M16x 1 T2500/HSK-A80 6726488
32 120 94 44 53 62 10 M16x 1 T3200/HSK-A80 6726882

= 5028427 N 6738095 W% 5£825 Accessories, page 82

D1

[Inchl]

A
[Inchl]

T... HSK-A80 - %~} Inch

L3
[Inch]

D2
[Inch]

D3

[Inchl]

|
[Inchl]

N
[Inch]

G2,5/, max.
S5 o) 30/ @) s

Eili
Designation

TS

Ident No.

0,250 3,35 2,32 0,83 1,06 1,42 0,39 M5 T0635/HSK-A80 6726687
0,375 3,54 2,52 0,94 1,26 1,65 0,39 M8X1 T0953/HSK-A80 6726688
0,500 3,74 2,72 1,06 1,34 1,85 0,39 M10X1 T1270/HSK-A80 6726689
0,625 3,94 2,91 1,06 1,34 1,97 0,39 M12X1 T1588/HSK-A80 6726690
0,750 4,13 3,11 1,30 1,65 2,05 0,39 M16X1 T1905/HSK-A80 6726691
1,000 4,53 3,50 1,73 2,09 2,44 0,39 M16X1 T2540/HSK-A80 6726692
1,250 4,72 3,70 1,73 2,09 2,44 0,39 M16X1 T3175/HSK-A80 6726693
” 5028427 .ﬂA 6738095 M55 %827 Accessories, page 82

*HEHEBEF<?>T Balancing Information, page <?>

ThermoGrip®

21

MMS/MQL TER LNE TSFV JD/JDF/BT AD/ADF CAT HSK

Appendix



T... HSK-A100, pine9s93
BBk TI4E Shrink Chucks

T... HSK-A100
D1 A K] D2 k] L1 N as TS
[mm] [mm] [mm] [mm] [mm] [mm] [mm] Designation Ident No.
6 85 56 21 27 36 10 M5 T0600/HSK-A100 6726342
8 85 56 21 27 36 10 M6 T0800/HSK-A100 6726343
10 90 61 24 32 42 10 M8x1 T1000/HSK-A100 6726344
12 95 66 24 32 47 10 M10x1 T1200/HSK-A100 6726345
14 95 66 27 34 47 10 M10x1 T1400/HSK-A100 6726346
16 100 71 27 34 50 10 M12x1 T1600/HSK-A100 6726347
18 100 71 33 42 50 10 M12x1 T1800/HSK-A100 6726348
20 105 76 33 42 52 10 M16x1 T2000/HSK-A100 6726349
25 115 86 44 53 58 10 M16 x1 T2500/HSK-A100 6726350
32 120 91 44 53 62 10 M16x1 T3200/HSK-A100 6726351
6 120 91 21 27 36 10 M5 T0600-120/HSK-A100 6726478
8 120 91 21 27 36 10 M6 T0800-120/HSK-A100 6726479
10 120 91 24 32 42 10 M8 x1 T1000-120/HSK-A100 6726755
12 120 91 24 32 47 10 M10x1 T1200-120/HSK-A100 6726480
14 120 91 27 34 47 10 M10x1 T1400-120/HSK-A100 6726833
16 120 91 27 34 50 10 M12x1 T1600-120/HSK-A100 6726820
18 120 91 33 42 50 10 M12x1 T1800-120/HSK-A100 6727035
20 120 91 33 42 52 10 M16x1 T2000-120/HSK-A100 6726821
25 120 91 44 53 58 10 M16x1 T2500-120/HSK-A100 6727037
32 120 91 44 53 62 10 M16x1 T3200/HSK-A100 6726351
6 160 131 21 32 36 10 M5 T0600-160/HSK-A100 6726645
8 160 131 21 32 36 10 M6 T0800-160/HSK-A100 6726646
10 160 131 24 34 42 10 M8 x1 T1000-160/HSK-A100 6726647
12 160 131 24 34 47 10 M10x1 T1200-160/HSK-A100 6726648
14 160 131 27 42 47 10 M10x1 T1400-160/HSK-A100 6726649
16 160 131 27 42 50 10 M12x1 T1600-160/HSK-A100 6726650
18 160 131 33 51 50 10 M12x1 T1800-160/HSK-A100 6727036
20 160 131 33 51 52 10 M16x1 T2000-160/HSK-A100 6726643
25 160 131 44 60 58 10 M16x1 T2500-160/HSK-A100 6726644
32 160 131 44 60 62 10 M16x1 T3200-160/HSK-A100 6727038
6 200 171 21 32 36 10 M5 T0600-200-HSK-A100 6727176
8 200 171 21 32 36 10 M6 T0800-200-HSK-A100 6727177
10 200 171 24 34 42 10 M8x1 T1000-200-HSK-A100 6727178
12 200 171 24 34 47 10 M10x1 T1200-200-HSK-A100 6727179
14 200 171 27 42 47 10 M10x1 T1400-200-HSK-A100 6727180
16 200 171 27 42 50 10 M12x1 T1600-200-HSK-A100 6727181
18 200 171 33 51 50 10 M12x1 T1800-200-HSK-A100 6727182
20 200 171 33 51 52 10 M16x1 T2000-200-HSK-A100 6727183
25 200 171 44 60 58 10 M16x1 T2500-200-HSK-A100 6727184
32 200 171 44 60 62 10 M16x1 T3200-200-HSK-A100 6727185
— 5028428 —’A 6738303 BiiiE 5 %82 Accessories, page 82

22 ThermoGrip® *#hFE#E{E BER<?>TT Balancing Information, page <?7>



T....-...-C1-...HSK-A100 / Cool Jet, pine9893
Cool Jet imE 4 EN#AK T4 Shrink Chucks

(%]

A L3 D2 K] L1 N s TS

[mm] [mm] [mm] [mm] [mm] [mm] [mm] Designation Ident No.
6 85 56 21 27 36 10 M5 T0600-85-C1-HSKA100 5150254
8 85 56 21 27 36 10 M6 T0800-85-C1-HSKA100 5150255
10 90 61 24 32 42 10 M8 x1 T1000-90-C1-HSKA100 5150257
12 95 66 24 32 47 10 M10 x1 T1200-95-C1-HSKA100 5150266
14 95 66 27 34 47 10 M10 x1 T1400-95-C1-HSKA100 5150267
16 100 71 27 34 50 10 M12 x1 T1600-100-C1-HSKA100 5150268
18 100 71 33 42 50 10 M12 x1 T1800-100-C1-HSKA100 5150269
20 105 76 33 42 52 10 M16 x1 T2000-105-C1-HSKA100 5150270
25 115 86 44 53 58 10 M16 x1 T2500-115-C1-HSKA100 5150271
32 120 91 44 53 62 10 M16 x1 T3200-120-C1-HSKA100 5150272
6 120 91 21 27 36 10 M5 T0600-120-C1-HSKA100 5150279
8 120 91 21 27 36 10 M6 T0800-120-C1-HSKA100 5150280
10 120 91 24 32 42 10 M8 x1 T1000-120-C1-HSKA100 5150281
12 120 91 24 32 47 10 M10 x1 T1200-120-C1-HSKA100 5150282
14 120 91 27 34 47 10 M10 x1 T1400-120-C1-HSKA100 5150283
16 120 91 27 34 50 10 M12 x1 T1600-120-C1-HSKA100 5150284
18 120 91 33 42 50 10 M12 x1 T1800-120-C1-HSKA100 5150285
20 120 91 33 42 52 10 M16 x1 T2000-120-C1-HSKA100 5150286
25 120 91 44 53 58 10 M16 x1 T2500-120-C1-HSKA100 5150289
32 120 91 44 53 62 10 M16 x1 T3200-120-C1-HSKA100 5150272
6 160 131 21 32 36 10 M5 T0600-160-C1-HSKA100 5150295
8 160 131 21 32 36 10 M6 T0800-160-C1-HSKA100 5150293
10 160 131 24 34 42 10 M8 x1 T1000-160-C1-HSKA100 5150299
12 160 131 24 34 47 10 M10 x1 T1200-160-C1-HSKA100 5150300
14 160 131 27 42 47 10 M10 x1 T1400-160-C1-HSKA100 5150301
16 160 131 27 42 50 10 M12 x1 T1600-160-C1-HSKA100 5150302
18 160 131 33 51 50 10 M12 x1 T1800-160-C1-HSKA100 5150303
20 160 131 33 51 52 10 M16 x1 T2000-160-C1-HSKA100 5150304
25 160 131 44 60 58 10 M16 x1 T2500-160-C1-HSKA100 5150306
32 160 131 44 60 62 10 M16 x1 T3200-160-C1-HSKA100 5150307
— 5028428 A 6738303 BiFi5S #8271 Accessories, page 82

Cool-Jet $5 &

- AHAIE
- BRI
- WM AR

Cool-Jet execution

- for optional external cooling
- 2 closable cooling channel holes

- Optionally with 4 cooling channel holes

*HPEEEEM<?>T Balancing Information, page <?>

ThermoGrip®

23

MMS/MQL TER LNE TSFV JD/JDF/BT AD/ADF CAT HSK

Appendix



T... HSK-A100, pine9s93
BBk TI4E Shrink Chucks

S ) 5 @)
D1 A K] D2 k] L1 | ae TS
[Inch] | [Inch] | [Inch] | [Inch] | [Inch] | [Inch] | [Inch] Designation Ident No.
0,250 3,35 2,20 0,83 1,06 1,42 0,39 M5 T0635/HSK-A100 6726432
0,375 3,54 2,40 0,94 1,26 1,65 0,39 M8X1 T0953/HSK-A100 6726434
0,500 3,74 2,60 1,06 1,34 1,85 0,39 M10X1 T1270/HSK-A100 6726436
0,625 3,94 2,80 1,06 1,34 1,97 0,39 M12X1 T1588/HSK-A100 6726438
0,750 4,13 2,99 1,30 1,65 2,05 0,39 M16X1 T1905/HSK-A100 6726497
1,000 4,53 3,39 1,73 2,09 2,44 0,39 M16X1 T2540/HSK-A100 6726442
0,250 4,72 3,58 0,83 1,06 1,42 0,39 M5 T0635-120/HSK-A100 5057074
0,375 4,72 3,58 0,94 1,26 1,65 0,39 M8X1 T0953-120/HSK-A100 5057076
0,500 4,72 3,58 1,06 1,34 1,85 0,39 M10X1 T1270-120/HSK-A100 5057079
0,625 4,72 3,58 1,06 1,34 1,97 0,39 M12X1 T1588-120/HSK-A100 5057081
0,750 4,72 3,58 1,30 1,65 2,05 0,39 M16X1 T1905-120/HSK-A100 5057083
1,000 4,72 3,58 1,73 2,09 2,44 0,39 M16X1 T2540-120/HSK-A100 5057092
1,250 4,72 3,58 1,73 2,09 2,44 0,39 M16X1 T3175/HSK-A100 6726444
0,250 6,30 5,16 0,83 1,26 1,42 0,39 M5 T0635-160/HSK-A100 5057075
0,375 6,30 5,16 0,94 1,34 1,65 0,39 M8X1 T0953-160/HSK-A100 5057077
0,500 6,30 5,16 1,06 1,65 1,85 0,39 M10X1 T1270-160/HSK-A100 5057080
0,625 6,30 5,16 1,06 1,65 1,97 0,39 M12X1 T1588-160/HSK-A100 5057082
0,750 6,30 5,16 1,30 2,01 2,05 0,39 M16X1 T1905-160/HSK-A100 5057084
1,000 6,30 5,16 1,73 2,36 2,44 0,39 M16X1 T2540-160/HSK-A100 5057093
1,250 6,30 5,16 1,73 2,36 2,44 0,39 M16X1 T3175-160/HSK-A100 5057443

- 5028428 ,,,A 6738303 Bt 455 %8251 Accessories, page 82

24 ThermoGrip® *#hFE#E{E BER<?>TT Balancing Information, page <?7>



THD... HSK-A100, pine9s93

FEHMAKTIME Heavy Duty Shrink Chucks

P01
@02

P03

THD... HSK-A100

G2,5/| max.

s
Designation

TS
Ident No.

16 105 76 50 61 50 10 M12x1 THD1600-105/HSK-A100 5029007

20 110 81 58 70 52 10 M16x1 THD2000-110/HSK-A100 5025872

25 110 81 64 76 58 10 M16x1 THD2500-110/HSK-A100 5026038

32 120 91 72 85 62 10 M16x1 THD3200-120/HSK-A100 5028982
" 5028428 ‘A 6738303 P52 %82 Accessories, page 82

EEEMABETHDIM, EH 1057 Note for THD chucks, have a look at page 10

D1 A

THD... HSK-A100 - %~} Inch

L3 D2

D3

L1

[Inch] | [Inch] | [Inch] | [Inch] | [Inch] | [Inch]

N

[Inch]

G2,5/| max.
25.000 12.000

ns
Designation

TS

Ident No.

0,625 4,13 2,99 1,97 2,40 1,97 0,39 M12X1 THD1588-105/HSK-A100 5054390

0,750 4,33 3,19 2,28 2,76 2,05 0,39 M16X1 THD1905-110/HSK-A100 5054391

1,000 4,72 3,58 2,52 2,99 2,28 0,39 M16X1 THD2540-120/HSK-A100 5054392

1,250 4,72 3,58 2,83 3,35 2,44 0,39 M16X1 THD3175-120/HSK-A100 5054393
= 5028428 — 6738303 W55 2825 Accessories, page 82

EEEAETHDIIME, #5103 Note for THD chucks, have a look at page 10

*HEHEBEF<?>T Balancing Information, page <?>

ThermoGrip® 25

MMS/MQL TER LNE TSFV JD/JDF/BT AD/ADF CAT HSK

Appendix



THD... HSK-A125, pin69893
FEHMAKTIME Heavy Duty Shrink Chucks

P01
@02
P03

G2,5/, max.

D3 L1 N Bs TS
[mm] | [mm] | [mm] Designation Ident No.
16 110 81 50 60 50 10 M12x1 THD1600-110/HSK-A125 5029874
20 115 86 58 68 52 10 M16x1 THD2000-115/HSK-A125 5031102
25 120 91 64 76 58 10 M16x1 THD2500-120/HSK-A125 5029870
32 125 96 72 85 62 10 M16x1 THD3200-125/HSK-A125 5031105
- 5081044 A P52 %8251 Accessories, page 82

EEEMABETHDIM, EH 1057 Note for THD chucks, have a look at page 10

G2,5/, max.
THD... HSK-A125 - 3t Inch @

D1 A L3 D2 D3 L1 N fidk= TS
[Inch] | [Inch] | [Inch] | [Inch] | [Inch] | [Inch] | [Inch] Designation Ident No.
0,625 4,33 3,19 1,97 2,36 1,97 0,39 M12X1 THD1588-110/HSK-A125 5054394
0,750 4,53 3,39 2,28 2,68 2,05 0,39 M16X1 THD1905-115/HSK-A125 5054395
1,000 4,92 3,78 2,52 2,99 2,28 0,39 M16X1 THD2540-125/HSK-A125 5054396
1,250 4,92 3,78 2,83 3,35 2,44 0,39 M16X1 THD3175-125/HSK-A125 5054397

" 5081044 -!A Pi4i52 %8211 Accessories, page 82

EEERAETHDIIME, 7ES 103 Note for THD chucks, have a look at page 10

26 ThermoGrip® *#hFE#E{E BER<?>TT Balancing Information, page <?7>



T... HSK-C, pine9s93
BBk TI4E Shrink Chucks

L1

10

PO
\oa

D3

T... HSK-C 32

BS

Designation

G2,5/ | | | max.
25.000 25.000
RS

T4 2
=

Ident No.

6 65 21 26 36 55 M5 T0600-65-K1-HSKC32-S 5072296
8 65 21 26 36 55 M6 T0800-65-K1-HSKC32-S 5072304
10 65 24 30 41 55 M8x 1 T1000-65-K1-HSKC32-S 5072305
12 75 24 32 46 65 M10x1 T1200-75-K1-HSKC32-S 5072307
G2,5/, max.

Bs
Designation

BS TS

Designation Ident No.

6 70 21 30 36 60 M5 T0600-70-K1-HSKC40-S 5072308

8 70 21 30 36 60 M6 T0800-70-K1-HSKC40-S 5072309

10 70 24 33,5 41 60 M8x 1 T1000-70-K1-HSKC40-S 5072310
12 80 24 35 46 70 M10x1 T1200-80-K1-HSKC40-S 5072311
14 80 27 38 46 70 M10x1 T1400-80-K1-HSKC40-S 5072318
16 80 27 38 49 70 M12x1 T1600-80-K1-HSKC40-S 5072319

G2,5/,
T... HSK-C50

T4 2
=

Ident No.

max.
RS

BS

Designation

6 70 21 30 36 57,5 M5 T0600-70-K1-HSKC50-S 5072320

8 70 21 30 36 57,5 M6 T0800-70-K1-HSKC50-S 5072321
10 75 24 33 41 62,5 M8x 1 T1000-75-K1-HSKC50-S 5072322
12 80 24 34 46 67,5 M10x1 T1200-80-K1-HSKC50-S 5072325
14 80 27 37 46 67,5 M10x1 T1400-80-K1-HSKC50-S 5072326
16 85 27 38,5 49 72,5 M12x1 T1600-85-K1-HSKC50-S 5072327
18 85 33 44,5 49 72,5 M12x1 T1800-85-K1-HSKC50-S 5072328
20 90 33 45 51 77,5 M16x1 T2000-90-K1-HSKC50-S 5072329

T... HSK-C63

TS
Ident No.

6 70 21 30 36 57,5 M5 T0600-70-K1-HSKC63-S 5072330

8 70 21 30 36 57,5 M6 T0800-70-K1-HSKC63-S 5072331
10 75 24 34 41 62,5 M8x 1 T1000-75-K1-HSKC63-S 5072332
12 80 24 34 46 67,5 M10x1 T1200-80-K1-HSKC63-S 5072333
14 80 27 36 46 67,5 M10x1 T1400-80-K1-HSKC63-S 5072334
16 85 27 36 49 72,5 M12x1 T1600-85-K1-HSKC63-S 5072335
18 85 33 44 49 72,5 M12x1 T1800-85-K1-HSKC63-S 5072336
20 90 33 45 51 77,5 M16x 1 T2000-90-K1-HSKC63-S 5072337
25 100 44 53 57 87,5 M16x1 T2500-100-K1-HSKC63-S 5072338
32 110 44 53 61 97,5 M16x1 T3200-110-K1-HSKC63-S 5072662

*HEHEBEF<?>T Balancing Information, page <?>

ThermoGrip®

27

MMS/MQL TER LNE TSFV JD/JDF/BT AD/ADF CAT HSK

Appendix



T... HSK-E25,

DIN 69893

A TIHm Shrink Chucks

@01

P03

T... HSK-E25

D1 A

[mm] | [mm]

K] D2 D3 L1
[mm] | [mm] | [mm] | [mm]

s
Designation

G2,5/, _» | | max.
25000 50,000 @
®s

T8RS
Ident No.

6 50 40 15 19 36 5 M5 TO600/HSK-E25 9091169
6 55 45 15 19 36 5 M5 T0600-55/HSK-E25 5023504
= 5100005 Y 5100007 iS5 2825 Accessories, page 82

TSF... HSK-E25, pIN69893
RBIFAKTIHR Slim Shrink Chucks

L1
—E= N
| 3
a1 f v
- H‘E I 8§
-

G2,5/, max. b
TSF... HSK-E25
D1 A NL D2 D3 L1 N Eidh] iTES
[mMm] | [mm] | [mm] | [mm] | [mMm] | [mm] | [mm] Designation Ident No.
3 45 33 9 12,5 23 8 M6 TSF0300-33/HSK-E25 5023510
4 45 33 10 13,5 20 4 M6 TSF0400-33/HSK-E25 5023519
5 45 33 11 14,5 20 3 M6 TSF0500-33/HSK-E25 5023524
6 45 33 12 15,5 36 - - TSF0600-33/HSK-E25 5023525
8 50 38 14 18 36 - - TSF0800-38/HSK-E25 5023528
10 50 40 16 19 42 - - TSF1000-40/HSK-E25 5023530
3 55 43 9 13,5 25 10 M5 TSF0300-43/HSK-E25 5023515
4 55 43 10 14,5 20 13 M5 TSF0400-43/HSK-E25 5023521
3 70 58 9 15 25 10 M6 TSF0300-58/HSK-E25 5023517
4 70 58 10 16 20 15 M6 TSF0400-58/HSK-E25 5023523
6 70 58 12 18 36 10 M5 TSF0600-58/HSK-E25 5023527
8 70 59 14 18 36 7 M6 TSF0800-59/HSK-E25 5023529
10 70 60 16 19 42 5 M8 TSF1000-60/HSK-E25 5023531
Q iHERATSFER&ER, ¥EIM#875T TSF discs, see accessories page 87
8= 5100005 ‘ ',"A ‘ 5100007 M IS £82TT Accessories, page 82

28 ThermoGrip®

*#HEE {5 B EF<?>% Balancing Information, page <?>



T... HSK-E32, pin69893
BBk TI4E Shrink Chucks

@02

@03

T... HSK-E32

D1 .

[mm] | [mm]

L3
[mm]

D2
[mm]

D3
[mm]

Bs
Designation

G2,5/,
25.000
1)

T2
=

Ident No.

max.
50.000
=

3 60 40 15 20 20 5 M6 TO300/HSK-E32 6726863
4 60 40 15 20 20 5 M6 T0400/HSK-E32 6726574
5 60 40 15 20 25 5 M6 T0500/HSK-E32 6726575
6 70 50 20 26 36 10 M5 TO600/HSK-E32 6726289
8 70 50 20 26 36 10 M6 TO0800/HSK-E32 6726290
10 70 50 24 29 42 10 M8 x1 T1000/HSK-E32 6726291
12 70 50 24 29 47 10 M10x1 T1200/HSK-E32 6726292
h 5064893 A 6738740 i iS5 #8271 Accessories, page 82

*HPEEEEM<?>T Balancing Information, page <?>

ThermoGrip®

29

MMS/MQL TER LNE TSFV JD/JDF/BT AD/ADF CAT HSK

Appendix



TSF... HSK-E32, pine9s93
RCBIBAK TIHE Slim Shrink Chucks

L1
= N
vy =
\ B
s 7
‘ e S

b A
TSF... HSK-E32
D1 A NL D2 D3 L1 N s TS
[mMm] | [mm] | [mm] | [mm] | [mMm] | [mMm] | [mm] Designation Ident No.
3 64 40 9 13 20 5 M6 TSF0300-40/HSK-E32 9078742
4 64 40 10 14 20 5 M6 TSF0400-40/HSK-E32 9078744
6 74 50 12 17 36 5 M5 TSF0600-50/HSK-E32 9078746
8 74 50 14 19 36 5 M6 TSF0800-50/HSK-E32 9078748
10 78 55 16 21 42 5 M8 x1 TSF1000-55/HSK-E32 9078750
3 94 70 9 16 20 5 M6 TSF0300-70/HSK-E32 9078743
4 94 70 10 17 20 5 M6 TSF0400-70/HSK-E32 9078745
6 104 80 12 20 36 5 M5 TSF0600-80/HSK-E32 9078747
8 104 80 14 22 36 5 M6 TSF0800-80/HSK-E32 9078749
10 104 80 16 22 42 5 M8 x1 TSF1000-80/HSK-E32 9078751
9 iHEERATSFER&ER, EM#875T TSF discs, see accessories page 87
’ 5064893 ‘ ,,,—\ ‘ 6738740 Bt iS5 #8251 Accessories, page 82

G2,5/| max. m
TSF... HSK-E32 - %+ Inch ﬁ' lll
D1 A NL D2 D3 L1 '] B TS
[Inch] | [Inch] | [Inch] | [Inch] | [Inch] | [Inch] | [Inch] Designation Ident No.
0.125 2.52 1.57 0.39 0.55 0.79 0.20 M6 TSF0318-64/HSK-E32 5057306
0.187 2.52 1.57 0.43 0.55 0.98 0.20 M6 TSF0476-64/HSK-E32 5057311
0.250 2.91 1.97 0.47 0.67 1.42 0.20 M5 TSF0635-74/HSK-E32 5057313
0.375 3.07 217 0.63 0.83 1.65 0.20 M8x1 TSF0953-78/HSK-E32 5057317
0.125 3.70 2.76 0.39 0.67 0.79 0.20 M6 TSF0318-94/HSK-E32 5057309
0.187 3.70 2.76 0.43 0.71 0.98 0.20 M6 TSF0476-94/HSK-E32 5057312
0.250 4.09 3.15 0.47 0.79 1.42 0.20 M5 TSF0635-104/HSK-E32 5057315
0.375 4.09 3.15 0.63 0.87 1.65 0.20 M8x1 TSF0953-104/HSK-E32 5057318
9 EERATSFEA&ER, EWM#873T TSF discs, see accessories page 87
= 5064893 ‘ . | ‘ 6738740 BitHiE 52825 Accessories, page 82

30 ThermoGrip® *#hFE#E{E BER<?>TT Balancing Information, page <?7>



T... HSK-E40, pine9s93
BBk TI4E Shrink Chucks

@01

@03

max.

D1 A L3 D2 D3 L1 N iR RS
[mm] | [mm] | [mm] | [mm] | [mMm] | [mMm] | [mm] Designation Ident No.
3 60 40 15 20 20 5 M6 TO300/HSK-E40 6726576
4 60 40 15 20 20 5 M6 T0400/HSK-E40 6726577
5 60 40 15 20 25 5 M6 T0500/HSK-E40 6726578
6 65 45 21 27 36 - - T0600-65/HSK-E40 6726626
8 65 45 21 27 36 - - T0800-65/HSK-E40 6726627
10 65 45 24 30 42 - - T1000-65/HSK-E40 9081714
12 65 45 24 30 47 - - T1200-65/HSK-E40 6727546
3 80 60 15 20 20 5 M6 T0300-80/HSK-E40 5012455
4 80 60 15 20 20 5 M6 T0400-80/HSK-E40 9145679
5 80 60 15 20 25 5 M6 T0500-80/HSK-E40 5031332
6 80 60 21 27 36 10 M5 T0600/HSK-E40 6726299
8 80 60 21 27 36 10 M6 T0800/HSK-E40 6726300
10 80 60 24 32 42 10 M8x 1 T1000/HSK-E40 6726301
12 90 70 24 32 47 10 M10x1 T1200/HSK-E40 6726302
16 90 70 27 34 50 10 M12x1 T1600/HSK-E40 6726304
3 120 100 15 20 20 5 M6 T0300-120/HSK-E40 6727478
4 120 100 15 20 20 5 M6 T0400-120/HSK-E40 6727497
5 120 100 15 20 25 5 M6 T0500-120/HSK-E40 6727498
6 120 100 21 27 36 10 M5 T0600-120/HSK-E40 6726989
8 120 100 21 27 36 10 M6 T0800-120/HSK-E40 6726990
10 120 100 24 32 42 10 M8x 1 T1000-120/HSK-E40 6726991
12 120 100 24 32 47 10 M10x1 T1200-120/HSK-E40 6726992

— 5028425 A 6738741 P55 #8251 Accessories, page 82

*HPEEEEM<?>T Balancing Information, page <?>

ThermoGrip® 31

MMS/MQL TER LNE TSFV JD/JDF/BT AD/ADF CAT HSK

Appendix



T... HSK-E40, pine9so3
BB TI4E Shrink Chucks

@01

@03

T... HSK-E40 - 3} Inch
D1 A K] D2 D3 L1 N e TS
[Inch] | [Inch] | [Inch] | [Inch] | [Inch] | [Inch] | [Inch] Designation Ident No.
0.125 2.36 1,57 0.83 1.06 1.42 0.39 M6 T0318-60/HSK-E40 9079262
0.187 2.36 1,57 0.83 1.06 1.42 0.39 M6 T0476-60/HSK-E40 9079269
0.250 3.15 2,36 0.83 1.06 1.42 0.39 M5 T0635-80/HSK-E40 9079208
0.375 3.15 2,36 0.95 1.26 1.65 0.39 M8x1 T0953-80/HSK-E40 9079215
0.500 3.54 2,76 1.06 1.34 1.85 0.39 M10x1 T1270-90/HSK-E40 9079243
0.625 3.54 2,76 1.06 1.34 1.97 0.39 M12x1 T1588-90/HSK-E40 9079248
0.125 4.72 3,94 0.83 1.06 1.42 0.39 M6 T0318-120/HSK-E40 9079263
0.187 4.72 3,94 0.83 1.06 1.42 0.39 M6 T0476-120/HSK-E40 9079270
0.250 4.72 3,94 0.83 1.06 1.42 0.39 M5 T0635-120/HSK-E40 9079210
0.375 4.72 3,94 0.95 1.26 1.65 0.39 M8x1 T0953-120/HSK-E40 9079216
0.500 4.72 3,94 1.06 1.34 1.85 0.39 M10x1 T1270-120/HSK-E40 9079244
0.625 4.72 3,94 1.06 1.34 1.97 0.39 M12x1 T1588-120/HSK-E40 9079249

- 5028425 'A 6738741 Bt fiE5%£8251 Accessories, page 82

32 ThermoGrip® *#hFE#E{E BER<?>TT Balancing Information, page <?7>



TSF... HSK-E40, pine9s9s
RICBIBAK TIHE Slim Shrink Chucks

BN
i

] m
—_— o ) =)
D1 A NL D2 D3 L1 N RS TS
[mm] | [mm] | [mm] | [mm] | [mm] | [mm] | [mm] Designation Ident No.
3 50 24 9 12 20 5 M6 TSF0300-24/HSK-E40 5035774
4 50 24 10 12,5 20 5 M6 TSF0400-24/HSK-E40 5035773
6 50 24 12 15 34 - - TSF0600-24/HSK-E40 5035770
6 60 38 12 16 36 - - TSF0600-38/HSK-E40 9078910
8 60 38 14 18 36 - - TSF0800-38/HSK-E40 9078925
10 60 38 16 20 42 - - TSF1000-38/HSK-E40 9078926
12 60 38 18 22 42 - - TSF1200-38/HSK-E40 9078927
3 64 40 9 13 20 5 M6 TSF0300-40/HSK-E40 9078566
4 64 40 10 14 20 5 M6 TSF0400-40/HSK-E40 9078570
5 64 40 11 15 20 5 M6 TSF0500-40/HSK-E40 9122963
6 84 60 12 18 36 5 M5 TSF0600-60/HSK-E40 9078572
8 84 60 14 20 36 5 M6 TSF0800-60/HSK-E40 9078576
10 84 60 16 22 42 5 M8 x1 TSF1000-60/HSK-E40 9078579
12 84 60 18 24 47 5 M10x1 TSF1200-60/HSK-E40 9078582
3 94 70 9 16 20 5 M6 TSF0300-70/HSK-E40 9078569
4 94 70 10 17 20 5 M6 TSF0400-70/HSK-E40 9078571
5 94 70 11 18 20 5 M6 TSF0500-70/HSK-E40 9142898
6 114 90 12 21 36 5 M5 TSF0600-90/HSK-E40 9078573
8 114 90 14 23 36 5 M6 TSF0800-90/HSK-E40 9078577
10 114 90 16 25 42 5 M8 x1 TSF1000-90/HSK-E40 9078580
12 114 90 18 27 47 5 M10x1 TSF1200-90/HSK-E40 9078583
6 144 120 12 24 36 5 M5 TSF0600-120/HSK-E40 9078574
8 144 120 14 26 36 5 M6 TSF0800-120/HSK-E40 9078578
10 144 120 16 28 42 5 M8 x1 TSF1000-120/HSK-E40 9078581
12 144 120 18 30 47 5 M10x1 TSF1200-120/HSK-E40 9078584
9 iHEERATSFER&ER, EM#873T TSF discs, see accessories page 87
- 5028425 ‘ ,VA ‘ 6738741 Bt iS5 #8271 Accessories, page 82

*HEHEBEF<?>T Balancing Information, page <?>

ThermoGrip®

33

MMS/MQL TER LNE TSFV JD/JDF/BT AD/ADF CAT HSK

Appendix



TSF... HSK-E40, pine9s9s
RCBIBAK TIHE Slim Shrink Chucks

L1
= N
wy b=
\ St
- _1“_ o
= e .EE
[La)
G25/| | | | max. = %‘
TSF... HSK-E40 - &t Inch 25000 |<3um) (42000) | Soreq | |
D1 A NL D2 D3 L1 N e TS
[Inch] | [Inch] | [Inch] | [Inch] | [Inch] | [Inch] | [Inch] Designation Ident No.
0.125 2.52 1.65 0.39 0.55 0.79 0.20 M6 TSF0318-64/HSK-E40 5054359
0.187 2.52 1.57 0.39 0.55 0.98 0.20 M6 TSF0476-64/HSK-E40 5054361
0.250 2.56 1.50 0.47 0.63 1.42 - - TSF0635-65/HSK-E40 -
0.375 2.56 1.50 0.63 0.79 1.65 - - TSF0953-65/HSK-E40 -
0.500 2.56 1.50 0.71 0.87 1.65 - - TSF1270-65/HSK-E40 -
0.125 3.70 2.76 0.39 0.67 0.79 0.20 M6 TSF0318-94/HSK-E40 5054360
0.187 3.70 2.76 0.43 0.71 0.98 0.20 M6 TSF0476-94/HSK-E40 5054362
0.250 3.31 2.36 0.47 0.71 1.42 0.20 M5 TSF0635-90/HSK-E40 5054363
0.375 3.31 2.36 0.63 0.87 1.65 0.20 M8x1 TSF0953-84/HSK-E40 5054367
0.500 3.54 2.36 0.71 0.94 1.85 0.20 M10x1 TSF1270-90/HSK-E40 =
0.125 4.72 2.76 0.35 0.63 0.79 0.20 M6 TSF0318-120/HSK-E40 -
0.187 4.72 2.76 0.39 0.67 0.79 0.20 M6 TSF0476-120/HSK-E40 -
0.250 4.49 3.54 0.47 0.83 1.42 0.20 M5 TSF0635-114/HSK-E40 5054364
0.375 4.49 3.54 0.63 0.98 1.65 0.20 M8x1 TSF0953-114/HSK-E40 5054368
0.500 4.72 3.54 0.71 1.06 1.85 0.20 M10x1 TSF1270-120/HSK-E40 =
0.250 5.67 4.72 0.47 0.94 1.42 0.20 M5 TSF0635-144/HSK-E40 5054365
0.375 5.67 4.72 0.63 1.10 1.65 0.20 M8x1 TSF0965-144/HSK-E40 5054369
0.500 6.30 4.72 0.71 1.18 1.85 0.20 M12x1 TSF1270-160/HSK-E40 -
Q EEATSFERSER, #8751 TSF discs, see accessories page 87
= 5028425 ‘ N ‘ 6738741 Bi#is 52825 Accessories, page 82

34 ThermoGrip® *#hFE#E{E BER<?>TT Balancing Information, page <?7>



T... HSK-E50, pine9s9s
BBk TI4E Shrink Chucks

@01

@03

- S | B s
D1 A L3 D2 D3 L1 N 8= TS
[mm] | [mm] | [mm] | [mm] | [mm] | [mm] | [mm] Designation Ident No.
3 80 54 15 20 20 5 M6 TO300/HSK-E50 6726654
4 80 54 15 20 20 5 M6 T0400/HSK-E50 6726655
5 80 54 15 20 20 5 M6 T0500/HSK-E50 6726656
6 80 54 21 27 36 10 M5 T0600/HSK-E50 6726309
8 80 54 21 27 36 10 M6 T0O800/HSK-E50 6726310
10 85 59 24 32 42 10 M8 x1 T1000/HSK-E50 6726311
12 90 64 24 32 47 10 M10x1 T1200/HSK-E50 6726312
14 90 64 27 34 47 10 M10x1 T1400/HSK-E50 6726313
16 95 69 27 34 50 10 M12x1 T1600/HSK-E50 6726314
18 95 69 33 42 50 10 M12x1 T1800/HSK-E50 6726315
20 100 74 33 42 52 10 M16x1 T2000/HSK-E50 6726316
3 120 94 15 20 20 5 M6 T0300-120/HSK-E50 6773345
4 120 94 15 20 20 5 M6 T0400-120/HSK-E50 6727172
5 120 94 15 20 20 5 M6 T0500-120/HSK-E50 9080804
6 120 94 21 27 36 10 M5 T0600-120/HSK-E50 6726888
8 120 94 21 27 36 10 M6 T0800-120/HSK-E50 6726891
10 120 94 24 32 42 10 M8 x1 T1000-120/HSK-E50 6726756
12 120 94 24 32 47 10 M10x1 T1200-120/HSK-E50 6726896
16 120 94 27 34 50 10 M12x1 T1600-120/HSK-E50 6726964
’ 5028426 ,,,—A 6738442 P55 #8251 Accessories, page 82

*HPEEEEM<?>T Balancing Information, page <?>

ThermoGrip®

MMS/MQL TER LNE TSFV JD/JDF/BT AD/ADF CAT HSK

Appendix



T... HSK-E50, pine9s9s
BB TI4E Shrink Chucks

@01

@03

R —— 530 ) oo
D1 A K] D2 D3 L1 N e TS
[Inch] | [Inch] | [Inch] | [Inch] | [Inch] | [Inch] | [Inch] Designation Ident No.
0.125 3.15 2,13 0.83 1.06 1.42 0.39 M6 T0318-80/HSK-E50 9079264
0.187 3.15 2,13 0.83 1.06 1.42 0.39 M6 T0476-80/HSK-E50 9079271
0.250 3.15 2,13 0.83 1.06 1.42 0.39 M5 T0635-80/HSK-E50 6727386
0.375 3.35 2,32 0.95 1.26 1.65 0.39 M8x1 T0953-85/HSK-E50 6727388
0.500 3.54 2,52 1.06 1.34 1.85 0.39 M10x1 T1270-90/HSK-E50 6727390
0.625 3.74 2,72 1.06 1.34 1.97 0.39 M12x1 T1588-95/HSK-E50 9079250
0.750 3.94 2,91 1.30 1.65 2.05 0.39 M16x1 T1905-100/HSK-E50 9079256
0.125 6.30 5,28 0.83 1.26 1.42 0.39 M6 T0318-160/HSK-E50 9079265
0.187 6.30 5,28 0.83 1.26 1.42 0.39 M6 T0476-160/HSK-E50 9079272
0.250 6.30 5,28 0.83 1.26 1.42 0.39 M5 T0635-160/HSK-E50 9079211
0.375 6.30 5,28 0.95 1.34 1.65 0.39 M8x1 T0953-160/HSK-E50 9079218
0.500 6.30 5,28 1.06 1.65 1.85 0.39 M10x1 T1270-160/HSK-E50 9079245
0.625 6.30 5,28 1.06 1.65 1.97 0.39 M12x1 T1588-160/HSK-E50 9079252
0.750 6.30 5,28 1.30 2.01 2.05 0.39 M16x1 T1905-160/HSK-E50 9079257

— 5028426 'A 6738442 1415 S %£82TT Accessories, page 82

36 ThermoGrip® *#hFE#E{E BER<?>TT Balancing Information, page <?7>



TSF... HSK-E50, pine9so3
RICBIBAK T4 Slim Shrink Chucks

BN
s

G2,5/, max. m
TSF... HSK-E50
D1 A NL D2 D3 L1 N B TS
[mm] | [mm] | [mm] | [mm] | [mm] | [mm] | [mm] Designation Ident No.
3 70 42 9 13 20 5 M6 TSF0300-42/HSK-E50 9078885
4 70 42 10 14 20 5 M6 TSF0400-42/HSK-E50 9078888
6 70 42 12 16 36 5 M5 TSF0600-42/HSK-E50 9078929
8 70 42 14 18 36 5 M6 TSF0800-42/HSK-E50 9078931
10 70 42 16 20 42 - - TSF1000-42/HSK-E50 9078932
12 70 42 18 22 47 - - TSF1200-42/HSK-E50 9078933
16 70 41 22 26 47 - - TSF1600-41/HSK-E50 5038979
6 90 60 12 18 36 5 M5 TSF0600-60/HSK-E50 9078892
8 90 60 14 20 36 5 M6 TSF0800-60/HSK-E50 9078895
10 90 60 16 22 42 5 M8 x1 TSF1000-60/HSK-E50 9078898
12 90 60 18 24 47 5 M10x1 TSF1200-60/HSK-E50 9078901
16 90 60 22 28 50 5 M16x1 TSF1600-60/HSK-E50 9078906
3 100 70 9 16 20 5 M6 TSF0300-70/HSK-E50 9078887
4 100 70 10 17 20 5 M6 TSF0400-70/HSK-E50 9078889
6 120 90 12 21 36 5 M5 TSF0600-90/HSK-E50 9078893
8 120 90 14 23 36 5 M6 TSF0800-90/HSK-E50 9078896
10 120 90 16 25 42 5 M8x1 TSF1000-90/HSK-E50 9078899
12 120 90 18 27 47 5 M10x1 TSF1200-90/HSK-E50 9078902
16 120 90 22 31 50 5 M16x1 TSF1600-90/HSK-E50 9078908
6 150 120 12 24 36 5 M5 TSF0600-120/HSK-E50 9078894
8 150 120 14 26 36 5 M6 TSF0800-120/HSK-E50 9078897
10 150 120 16 28 42 5 M8 x1 TSF1000-120/HSK-E50 9078900
12 150 120 18 30 47 5 M10x1 TSF1200-120/HSK-E50 9078903
16 150 120 22 34 50 5 M16x1 TSF1600-120/HSK-E50 9078909
9 EEATSFER&ER, FMMHE875T TSF discs, see accessories page 87
— 5028426 ‘ 'VA ‘ 6738442 5 S #8271 Accessories, page 82

*HEHEBEF<?>T Balancing Information, page <?>

ThermoGrip®

37

MMS/MQL TER LNE TSFV JD/JDF/BT AD/ADF CAT HSK

Appendix



TSF... HSK-E50, pine9so3
RCBIBAK TIHE Slim Shrink Chucks

L1
—E= N
| 8
- -! o My
- E‘E — I i8%
-

m
o o et i ) )
D1 A NL D2 D3 L1 N 8BS TS

[Inch] | [Inch] | [Inch] | [Inch] | [Inch] | [Inch] | [Inch] Designation Ident No.
0.125 2.76 1.65 0.39 0.55 0.79 0.20 M6 TSF0318-70/HSK-E50 5054183
0.187 2.76 1.65 0.39 0.55 0.98 0.20 M6 TSF0476-70/HSK-E50 5054185
0.250 2.76 1.65 0.47 0.63 1.42 0.20 M5 TSF0635-70/HSK-E50 5054196
0.375 2.76 1.65 0.63 0.79 1.65 0.20 - TSF0953-70/HSK-E50 5054200
0.500 2.76 1.65 0.71 0.87 1.85 - - TSF1270-70/HSK-E50 -

0.625 2.76 1.65 0.87 1.02 1.85 - - TSF1588-70/HSK-E50 =

0.250 3.54 2.36 0.47 0.71 1.42 0.20 M5 TSF0635-90/HSK-E50 5054197
0.375 3.54 2.36 0.63 0.87 1.65 0.20 M8x1 TSF0953-90/HSK-E50 5054201
0.500 3.54 2.36 0.79 1.02 1.85 0.20 M10x1 TSF1270-90/HSK-E50 5054205
0.625 3.54 2.36 0.87 1.10 1.97 0.20 M10x1 TSF1588-90/HSK-E50 5054208
0.125 3.94 2.76 0.39 0.67 0.79 0.20 M6 TSF0318-100/HSK-E50 5054184
0.187 3.94 2.76 0.43 0.71 0.98 0.20 M6 TSF0476-100/HSK-E50 5054186
0.250 4.72 3.54 0.47 0.83 1.42 0.20 M5 TSF0635-120/HSK-E50 5054198
0.375 4.72 3.54 0.63 0.98 1.65 0.20 M8x1 TSF0953-120/HSK-E50 5054202
0.500 4.72 3.54 0.79 1.14 1.85 0.20 M10x1 TSF1270-120/HSK-E50 5054206
0.625 4.72 3.54 0.87 1.22 1.97 0.20 M10x1 TSF1588-120/HSK-E50 5054209
0.250 5.91 4.88 0.47 0.94 1.42 0.20 M5 TSF0635-150/HSK-E50 5054199
0.375 5.91 4.72 0.63 1.10 1.65 0.20 M8x1 TSF0953-150/HSK-E50 5054203
0.500 5.91 4.72 0.79 1.26 1.85 0.20 M10x1 TSF1270-150/HSK-E50 5054207
0.625 5.91 4.72 0.87 1.34 1.97 0.20 M10x1 TSF1588-150/HSK-E50 5054210

Q HERATSFERARE, ¥IM#875T TSF discs, see accessories page 87
= 5028426 ‘ -GA ‘ 6738442 FMifFiES £82% Accessories, page 82

38 ThermoGrip® *#hFE#E{E BER<?>TT Balancing Information, page <?7>



T... HSK-EB3, pin69s93
A T4 Shrink Chucks

T... HSK-E63
D1 A L3 D2 D3 L1 N S ITRS
[mMm] | [mm] | [mm] | [mm] | [mMm] | [mMm] | [mm] Designation Ident No.
6 80 54 21 27 36 10 M5 TO600/HSK-E63 6726319
8 80 54 21 27 36 10 M6 TO0800/HSK-E63 6726320
10 85 59 24 32 42 10 M8x1 T1000/HSK-E63 6726321
12 90 64 24 32 47 10 M10x1 T1200/HSK-E63 6726322
14 90 64 27 34 47 10 M10x1 T1400/HSK-E63 6726323
16 95 69 27 34 50 10 M12x1 T1600/HSK-E63 6726324
18 95 69 33 42 50 10 M12x1 T1800/HSK-E63 6726325
20 100 74 33 42 52 10 M16x1 T2000/HSK-E63 6726326
25 115 89 44 53 58 10 M16x1 T2500/HSK-E63 6726327

— 5025376 ’A 6738421 B {iE S #£82TT Accessories, page 82

*HPEEEEM<?>T Balancing Information, page <?>

ThermoGrip®

39

MMS/MQL TER LNE TSFV JD/JDF/BT AD/ADF CAT HSK

Appendix



T... HSK-F40, pine9s9s
BB TI4E Shrink Chucks

@01

@02
@03

G2,5/, max.
D1 A L3 D2 D3 L1 N s iTES
[mm] | [mm] | [mm] | [mMm] | [mm] | [mm] | [mm] Designation Ident No.
3 60 40 15 20 20 5 M6 T0300-60/HSK-F40 5036785
4 60 40 15 20 20 5 M6 T0400-60/HSK-F40 5036786
5 60 40 15 20 20 5 M6 T0500-60/HSK-F40 5036788
6 65 45 21 27 36 5 M5 T0600-65/HSK-F40 5026620
8 65 45 21 27 36 5 M6 T0800-65/HSK-F40 5036791
10 65 45 24 31 42 5 M8x1 T1000-65/HSK-F40 5036792
12 65 45 24 31 42 5 M10x1 T1200-65/HSK-F40 5036793
6 80 60 21 27 36 10 M5 T0600-80/HSK-F40 5036794
8 80 60 21 27 36 10 M6 T0800-80/HSK-F40 5036795
10 80 60 24 32 42 10 M8x 1 T1000-80/HSK-F40 5036797
12 90 70 24 32 47 10 M10x1 T1200-90/HSK-F40 5036798
16 90 70 27 34 50 10 M12x1 T1600-90/HSK-F40 5036799
TSF... HSK-F40, pine9s93
YR BUAK TI4E Slim Shrink Chucks
A
NL
L1
= N
v, i
\ 8
] I
#_-E_-_-r_ _____ E S a

TSF... HSK-F 40

D3

[mm]

L1
[mm]

|
[mm]

BS
Designation

G250 | || max. | |-y '
eSS

‘]’4& =

Ident No.

6 70 48 12 17 36 10 M5 TSF0600-48/HSK-F40 5083004
8 70 48 14 19 36 10 M6 TSF0800-48/HSK-F40 5083009
10 80 58 16 22 42 10 M8x1 TSF1000-58/HSK-F40 -
12 80 58 18 24 42 10 M10x1 TSF1200-58/HSK-F40 -
9 iHEERATSFER&ER, EM#873T TSF discs, see accessories page 87

40 ThermoGrip®

*#HEE {5 B EF<?>% Balancing Information, page <?>



T... HSK-F63, pine9s93
BBk TI4E Shrink Chucks

L1

—E N
7

@01

@02

@03

l

B — 8 () i lwso
D1 A L3 D2 D3 L1 N s RS
[mMm] | [mm] | [mm] | [mm] | [mMm] | [Mm] | [mm] Designation Ident No.
3 90 54 15 20 20 5 M6 TO300/HSK-F63 9107682
4 20 54 15 20 20 5 M6 T0400/HSK-F63 6773733
5 90 54 15 20 25 5 M6 T0500/HSK-F63 9091580
6 90 64 21 27 36 10 M5 T0600-90/HSK-F63 9122311
8 90 64 21 27 36 10 M6 T0800-90/HSK-F63 9122312
10 90 64 24 32 42 10 M8x1 T1000/HSK-F63 6726373
12 90 64 24 32 47 10 M10x1 T1200/HSK-F63 6726374
14 95 69 27 34 47 10 M10x1 T1400/HSK-F63 6726393
16 95 69 27 34 50 10 M12x1 T1600/HSK-F63 6726414
18 95 69 33 42 50 10 M12x1 T1800/HSK-F63 6726415
20 100 74 33 42 52 10 M16x1 T2000/HSK-F63 6726375
25 115 89 36 42 58 10 M16x1 T2500/HSK-F63 6727436
3 120 94 15 20 20 5 M6 T0300-120/HSK-F63 9115118
4 120 94 15 20 20 5 M6 T0400-120/HSK-F63 9115149
5 120 94 15 20 25 5 M6 T0500-120/HSK-F63 9115150
6 120 94 21 27 36 10 M5 T0600-120/HSK-F63 9075284
8 120 94 21 27 36 10 M6 T0800-120/HSK-F63 6726841
10 120 94 24 32 42 10 M8 x1 T1000-120/HSK-F63 6727435
12 120 94 24 32 47 10 M10x1 T1200-120/HSK-F63 6726810
14 120 94 27 34 47 10 M10x1 T1400-120/HSK-F63 9115151
16 120 94 27 34 50 10 M12x1 T1600-120/HSK-F63 9077033
18 120 94 33 42 50 10 M12x1 T1800-120/HSK-F63 9115152
20 120 94 33 42 52 10 M16x1 T2000-120/HSK-F63 9115153
3 160 134 15 27 20 5 M6 T0300-160/HSK-F63 9115154
4 160 134 15 27 20 5 M6 T0400-160/HSK-F63 9115155
5 160 134 15 27 25 5 M6 T0500-160/HSK-F63 9115156
6 160 134 21 32 36 10 M5 T0600-160/HSK-F63 9115158
8 160 134 21 32 36 10 M6 T0800-160/HSK-F63 9080135
10 160 134 24 34 42 10 M8 x1 T1000-160/HSK-F63 9080136
12 160 134 24 34 47 10 M10x1 T1200-160/HSK-F63 6727465
14 160 134 27 42 47 10 M10x1 T1400-160/HSK-F63 9115160
16 160 134 27 42 50 10 M12x1 T1600-160/HSK-F63 9097804
18 160 134 33 51 50 10 M12x1 T1800-160/HSK-F63 9115162
20 160 134 33 51 52 10 M16x1 T2000-160/HSK-F63 9075282

*HEHEBEF<?>T Balancing Information, page <?>

ThermoGrip® 41

MMS/MQL TER LNE TSFV JD/JDF/BT AD/ADF CAT HSK

Appendix



T... HSK-F63, pine9s93
A TIHm Shrink Chucks

L]
@01

| §53 Bl

| e

@02

@03

l

G2,5/, max.
T HEK-Fo- 51 Inh 530 (o) [1ss

D1 A K] D2 D3 L1 N B TS
[Inch] | [Inch] | [Inch] | [Inch] | [Inch] | [Inch] | [Inch] Designation Ident No.
0,250 3,54 2,52 0,83 1,06 1,42 0,39 M5 T0635-90/HSK-F63 5057126
0,312 3,54 2,52 0,83 1,06 1,42 0,39 M6 T0794-90/HSK-F63 5061847
0,375 3,54 2,52 0,94 1,26 1,65 0,39 M8X1 T0953-90/HSK-F63 5057131
0,500 3,54 2,52 1,06 1,34 1,85 0,39 M10X1 T1270-95/HSK-F63 5057133
0,625 3,74 2,72 1,06 1,34 1,97 0,39 M12X1 T1588-95/HSK-F63 5057140
0,750 3,94 2,91 1,30 1,65 2,05 0,39 M16X1 T1905-100/HSK-F63 5057142
1,000 4,53 3,50 1,73 2,09 2,44 0,39 M16X1 T2540-115/HSK-F63 5057148

42 ThermoGrip® *#hFE#E{E BER<?>TT Balancing Information, page <?7>



T... CAT 40, ANsI B5.50
BBk TI4E Shrink Chucks

|_710.003[A

Dy D,

D3

T... CAT40 - =} Inch
D1 A K] D2 D3 L1 N s TS
[Inch] | [Inch] | [Inch] | [Inch] | [Inch] | [Inch] | [Inch] Designation Ident No.
0,125 3,74 2,36 0,59 0,79 0,79 0,20 M6 T0318-95/CAT40ADB-UNC 9087264
0,187 3,74 2,36 0,59 0,79 0,98 0,20 M6 T0476-95/CAT40ADB-UNC 9087265
0,250 3,74 2,36 0,83 1,06 1,42 0,39 M5 T0635/CAT40ADB-UNC 9075136
0,312 3,74 2,36 0,83 1,06 1,42 0,39 M6 T0794-95/CAT40ADB-UNC 9087266
0,375 3,74 2,36 0,94 1,26 1,65 0,39 M8X1 T0953/CAT40ADB-UNC 9074678
0,500 3,74 2,36 1,06 1,34 1,85 0,39 M10X1 T1270/CAT40ADB-UNC 9074679
0,625 3,74 2,36 1,06 1,34 1,97 0,39 M12X1 T1588/CAT40ADB-UNC 9074680
0,750 3,74 2,36 1,30 1,65 2,05 0,39 M16X1 T1905/CAT40ADB-UNC 9074681
1,000 3,94 2,56 1,73 2,09 2,44 0,39 M16X1 T2540-100/CAT40ADB-UNC 9074675
1,250 3,94 2,56 1,73 2,09 2,44 0,39 M16X1 T3175-100/CAT40ADB-UNC 9074647
0,125 4,72 3,34 0,59 0,79 0,79 0,20 M6 T0318-120/CAT40ADB-UNC 9087267
0,187 4,72 3,34 0,59 0,79 0,98 0,20 M6 T0476-120/CAT40ADB-UNC 9087268
0,250 4,72 3,34 0,83 1,06 1,42 0,39 M5 T0635-120/CAT40ADB-UNC 9074633
0,312 4,72 3,34 0,83 1,06 1,42 0,39 M6 T0794-120/CAT40ADB-UNC 9087269
0,375 4,72 3,34 0,94 1,26 1,65 0,39 M8X1 T0953-120/CAT40ADB-UNC 9074635
0,500 4,72 3,34 1,06 1,34 1,85 0,39 M10X1 T1270-120/CAT40ADB-UNC 9074637
0,625 4,72 3,34 1,06 1,34 1,97 0,39 M12X1 T1588-120/CAT40ADB-UNC 9074639
0,750 4,72 3,34 1,30 1,65 2,05 0,39 M16X1 T1905-120/CAT40ADB-UNC 9074641
1,000 4,72 3,34 1,73 2,09 2,44 0,39 M16X1 T2540-120/CAT40ADB-UNC 9074645
1,250 4,72 3,34 1,73 2,09 2,44 0,39 M16X1 T3175-120/CAT40ADB-UNC 9074648
0,125 6,30 4,92 0,59 0,79 0,79 0,20 M6 T0318-160/CAT40ADB-UNC 9087270
0,187 6,30 4,92 0,59 0,79 0,98 0,20 M6 T0476-160/CAT40ADB-UNC 9087271
0,250 6,30 4,92 0,83 1,26 1,42 0,39 M5 T0635-160/CAT40ADB-UNC 9074634
0,312 6,30 4,92 0,83 1,26 1,42 0,39 M6 T0794-160/CAT40ADB-UNC 9087272
0,375 6,30 4,92 0,94 1,34 1,65 0,39 M8X1 T0953-160/CAT40ADB-UNC 9074636
0,500 6,30 4,92 1,06 1,65 1,85 0,39 M10X1 T1270-160/CAT40ADB-UNC 9074638
0,625 6,30 4,92 1,06 1,65 1,97 0,39 M12X1 T1588-160/CAT40ADB-UNC 9074640
0,750 6,30 4,92 1,30 1,75 2,05 0,39 M16X1 T1905-160/CAT40ADB-UNC 9074642
1,000 6,30 4,92 1,73 2,09 2,44 0,39 M16X1 T2540-160/CAT40ADB-UNC 9074646
1,250 6,30 4,92 1,73 2,09 2,44 0,39 M16X1 T3175-160/CAT40ADB-UNC 9074649

*HE#H{EBEF<?>% Balancing Information, page <?7>

ThermoGrip®

43

MMS/MQL TER LNE TSFV JD/JDF/BT AD/ADF CAT HSK

Appendix



T... CAT 40, ANSI B5.50
BB TI4E Shrink Chucks

Dy Dy Ds

T... CAT40
D1 A L3 D2 D3 L1 N e iTRS
[mm] [mm] [mm] [mm] [mm] [mm] [mm] Designation Ident No.
3 95 60 15 20 20 5 M6 T0300-95/CAT40ADB-UNC 9087273
4 95 60 15 20 20 5 M6 T0400-95/CAT40ADB-UNC 9087286
5 95 60 15 20 25 5 M6 T0500-95/CAT40ADB-UNC 9087287
6 95 60 21 27 36 10 M5 T0600-95/CAT40ADB-UNC 9074627
8 95 60 21 27 36 10 M6 T0800-95/CAT40ADB-UNC 9074628
10 95 60 24 32 42 10 M8x1 T1000-95/CAT40ADB-UNC 9074629
12 95 60 24 32 47 10 M10x1 T1200-95/CAT40ADB-UNC 9074630
14 95 60 27 34 47 10 M10x1 T1400-95/CAT40ADB-UNC 9074658
16 95 60 27 34 50 10 M12x1 T1600-95/CAT40ADB-UNC 9074631
18 95 60 33 42 50 10 M12x1 T1800-95/CAT40ADB-UNC 9074664
20 95 60 33 42 52 10 M16x1 T2000-95/CAT40ADB-UNC 9074632
25 100 65 44 53 58 10 M16x1 T2500-100/CAT40ADB-UNC 9074760
32 100 65 44 53 62 10 M16x1 T3200-100/CAT40ADB-UNC 9074672
6 120 85 21 27 36 10 M5 T0600-120/CAT40ADB-UNC 9074650
8 120 85 21 27 36 10 M6 T0800-120/CAT40ADB-UNC 9074652
10 120 85 24 32 42 10 M8x1 T1000-120/CAT40ADB-UNC 9074654
12 120 85 24 32 47 10 M10x1 T1200-120/CAT40ADB-UNC 9074656
14 120 85 27 34 47 10 M10x1 T1400-120/CAT40ADB-UNC 9074659
16 120 85 27 34 50 10 M12x1 T1600-120/CAT40ADB-UNC 9074662
18 120 85 33 42 50 10 M12x1 T1800-120/CAT40ADB-UNC 9074665
20 120 85 33 42 52 10 M16x1 T2000-120/CAT40ADB-UNC 9074667
25 120 85 44 53 58 10 M16x1 T2500-120/CAT40ADB-UNC 9074669
32 120 85 44 53 62 10 M16x1 T3200-120/CAT40ADB-UNC 9074673
6 160 125 21 32 36 10 M5 T0600-160/CAT40ADB-UNC 9074651
8 160 125 21 32 36 10 M6 T0800-160/CAT40ADB-UNC 9074653
10 160 125 24 34 42 10 M8x1 T1000-160/CAT40ADB-UNC 9074655
12 160 125 24 34 47 10 M10x1 T1200-160/CAT40ADB-UNC 9074657
14 160 125 27 42 47 10 M10x1 T1400-160/CAT40ADB-UNC 9074661
16 160 125 27 42 50 10 M12x1 T1600-160/CAT40ADB-UNC 9074663
18 160 125 33 44 50 10 M12x1 T1800-160/CAT40ADB-UNC 9074666
20 160 125 44 53 52 10 M16x1 T2000-160/CAT40ADB-UNC 9074668
25 160 125 44 53 58 10 M16x1 T2500-160/CAT40ADB-UNC 9074671
32 160 125 44 53 62 10 M16x1 T3200-160/CAT40ADB-UNC 9074674

44 ThermoGrip® *#hFE#E{E BER<?>TT Balancing Information, page <?7>



T... CAT 50, ANSI B5.50
BB TI4E Shrink Chucks

|_710.003[A

D4

Dy

D

T... CAT50 - =} Inch
D1 A L3 D2 D3 L1 N as RS
[Inch]l | [Inch] | [Inch] | [Inch] | [Inch] | [Inch] | [Inch] Designation Ident No.
0,250 3,74 2,36 0,83 1,06 1,42 0,39 M5 T0635/CAT50ADB-UNC 9074085
0,375 3,74 2,36 0,94 1,26 1,65 0,39 M8X1 T0953/CAT50ADB-UNC 9074102
0,500 3,74 2,36 1,06 1,34 1,85 0,39 M10X1 T1270/CAT50ADB-UNC 9074105
0,625 3,74 2,36 1,06 1,34 1,97 0,39 M12X1 T1588/CAT50ADB-UNC 9074108
0,750 3,74 2,36 1,30 1,65 2,05 0,39 M16X1 T1905/CAT50ADB-UNC 9074111
1,000 4,13 2,75 1,73 2,09 2,44 0,39 M16X1 T2540/CAT50ADB-UNC 9074115
1,250 4,13 2,75 1,73 2,09 2,44 0,39 M16X1 T3175/CAT50ADB-UNC 9074118
0,250 4,72 3,35 0,83 1,06 1,42 0,39 M5 T0635-120/CAT50ADB-UNC 9074098
0,375 4,72 3,35 0,94 1,26 1,65 0,39 M8X1 T0953-120/CAT50ADB-UNC 9074103
0,500 4,72 3,35 1,06 1,34 1,85 0,39 M10X1 T1270-120/CAT50ADB-UNC 9074106
0,625 4,72 3,35 1,06 1,34 1,97 0,39 M12X1 T1588-120/CAT50ADB-UNC 9074109
0,750 4,72 3,35 1,30 1,65 2,05 0,39 M16X1 T1905-120/CAT50ADB-UNC 9074112
1,250 4,72 3,35 1,73 2,09 2,44 0,39 M16X1 T3175-120/CAT50ADB-UNC 9074119
0,250 6,30 4,92 0,83 1,26 1,42 0,39 M5 T0635-160/CAT50ADB-UNC 9074101
0,375 6,30 4,92 0,94 1,34 1,65 0,39 M8X1 T0953-160/CAT50ADB-UNC 9074104
0,500 6,30 4,92 1,06 1,65 1,85 0,39 M10X1 T1270-160/CAT50ADB-UNC 9074107
0,625 6,30 4,92 1,06 1,65 1,97 0,39 M12X1 T1588-160/CAT50ADB-UNC 9074110
0,750 6,30 4,92 1,30 2,01 2,05 0,39 M16X1 T1905-160/CAT50ADB-UNC 9074113
1,000 6,30 4,92 1,73 2,36 2,44 0,39 M16X1 T2540-160/CAT50ADB-UNC 9074117
1,250 6,30 4,92 1,73 2,36 2,44 0,39 M16X1 T3175-160/CAT50ADB-UNC 9074120

*HE#H{EBEF<?>% Balancing Information, page <?7>

ThermoGrip®

45

MMS/MQL TER LNE TSFV JD/JDF/BT AD/ADF CAT HSK

Appendix



T... CAT 50, ANSI B5.50
BB TI4E Shrink Chucks

D4 Dy Dg

D1 A L3 D2 D3 L1 N e iTRS
[mm] [mm] [mm] [mm] [mm] [mm] [mm] Designation Ident No.
6 95 60 21 27 36 10 M5 T0600-95/CAT50ADB-UNC 9074144
8 95 60 21 27 36 10 M6 T0800-95/CAT50ADB-UNC 9074147
10 95 60 24 32 42 10 M8x1 T1000-95/CAT50ADB-UNC 9074150
12 95 60 24 32 47 10 M10x1 T1200-95/CAT50ADB-UNC 9074153
14 95 60 27 34 47 10 M10x1 T1400-95/CAT50ADB-UNC 9074156
16 95 60 27 34 50 10 M12x1 T1600-95/CAT50ADB-UNC 9074160
18 95 60 33 42 50 10 M12x1 T1800-95/CAT50ADB-UNC 9074163
20 95 60 33 42 52 10 M16x1 T2000-95/CAT50ADB-UNC 9074166
25 105 70 44 53 58 10 M16x1 T2500-105/CAT50ADB-UNC 9074170
32 105 70 44 53 62 10 M16x1 T3200-105/CAT50ADB-UNC 9074173
6 160 125 21 32 36 10 M5 T0600-160/CAT50ADB-UNC 9074146
8 160 125 21 32 36 10 M6 T0800-160/CAT50ADB-UNC 9074149
10 160 125 24 34 42 10 M8x1 T1000-160/CAT50ADB-UNC 9074152
12 160 125 24 34 47 10 M10x1 T1200-160/CAT50ADB-UNC 9074155
14 160 125 27 42 47 10 M10x1 T1400-160/CAT50ADB-UNC 9074159
16 160 125 27 42 50 10 M12x1 T1600-160/CAT50ADB-UNC 9074162
18 160 125 33 51 50 10 M12x1 T1800-160/CAT50ADB-UNC 9074165
20 160 125 33 51 52 10 M16x1 T2000-160/CAT50ADB-UNC 9074168
25 160 125 44 60 58 10 M16x1 T2500-160/CAT50ADB-UNC 9074172
32 160 125 44 60 62 10 M16x1 T3200-160/CAT50ADB-UNC 9074175

46 ThermoGrip® *#hFE#E{E BER<?>TT Balancing Information, page <?7>



THD... CAT..., ANSI B5.50
FEHMAKTIME Heavy Duty Shrink Chucks

D3

D1
[Inch]

0.625

A

THD... CAT40 - &5} Inch

L3

[Inch] | [Inch]

4.33

3.58

D2

[Inch] | [Inch]

1.97

D3

2.36

L1
[Inch]

1.97

)]
[Inch]

0.39

M12x1

G25[| | _~» | | ma
25.000 12.000

s
Designation

THD1588-110/CAT40ADB-UNC

TS

Ident No.
5057676

0.750

4.33

3.58

2.28

2.68

2.05

0.39

M16x1

THD1905-110/CAT40ADB-UNC

5057677

EEETETHDTIM, FEE100T

Note for THD chucks, have a look at page 10

D1

[Inch]

A

THD... CAT50 - &=} Inch

L3

[Inch] | [Inch]

D2

[Inch] | [Inch]

D3

L1
[Inch]

\'|
[Inch]

ns
Designation

sTED
1

Ident No.

G2,5/, max.
25.000 12.000
xS

0.625 4.33 3.58 1.97 2.36 1.97 0.39 M12x1 THD1588-110/CAT50ADB-UNC =
0.750 4.33 3.58 2.28 2.68 2.05 0.39 M12x1 THD1905-110/CAT50ADB-UNC =
1.000 4.33 3.58 2.52 2.99 2.44 0.39 M16x1 THD2540-110/CAT50ADB-UNC 5057678
1.250 4.33 3.58 2.83 3.35 2.44 0.39 M16x1 THD3175-110/CAT50ADB-UNC 5057679

EEETETHDTIM, FEE103

Note for THD chucks, have a look at page 10

*HE#H{EBEF<?>% Balancing Information, page <?7>

ThermoGrip®

MMS/MQL TER LNE TSFV JD/JDF/BT AD/ADF CAT HSK

Appendix



T... AD30, pIN 1IS07388-1
BBk TI4E Shrink Chucks

@01

B

T... AD30 (Alt/Old: DIN69871) 265%33 @
D1 A L3 D2 D3 L1 N s RS
[mMm] | [mm] | [mm] | [mm] | [mMm] | [mMm] | [mm] Designation Ident No.
6 71 52 21 27 36 10 M5 T0600-71/AD30 5038916
8 71 52 21 27 36 10 M6 T0800-71/AD30 5038934
10 71 52 24 32 42 10 M8x1 T1000-71/AD30 5038935
12 71 52 24 32 47 10 M10x1 T1200-71/AD30 5038936
16 71 52 27 34 50 10 M12x1 T1600-71/AD30 5038938
3 80 61 15 20 20 5 M6 T0300-80/AD30 9076052
4 80 61 15 20 20 5 M6 T0400-80/AD30 9076053
5 80 61 15 20 25 5 M6 T0500-80/AD30 9101810
6 80 61 21 27 36 10 M5 T0600/AD30 6727264
8 80 61 21 27 36 10 M6 T0800/AD30 6727265
10 80 61 24 32 42 10 M8 x1 T1000/AD30 6727266
12 80 61 24 32 47 10 M10x1 T1200/AD30 6727272
14 80 61 27 34 47 10 M10x1 T1400/AD30 6727261
16 80 61 27 34 50 10 M12x1 T1600/AD30 9118789
18 80 61 33 42 50 10 M12x1 T1800/AD30 9118792
20 80 61 33 42 52 10 M16x1 T2000/AD30 9118795

3 120 101 15 20 20 5 M6 T0300-120/AD30 -

4 120 101 15 20 20 5 M6 T0400-120/AD30 5038939

5 120 101 15 20 25 5 M6 T0500-120/AD30 -

6 120 101 21 27 36 10 M5 T0600-120/AD30 9118796

8 120 101 21 27 36 10 M6 T0800-120/AD30 9118801
10 120 101 24 32 42 10 M8x1 T1000-120/AD30 9118803
12 120 101 24 32 47 10 M10X1 T1200-120/AD30 9118813
16 120 101 27 34 50 10 M12X1 T1600-120/AD30 9118814

Hi5T% %8071 Pull stud see page 80

48 ThermoGrip® *#hFE#E{E BER<?>TT Balancing Information, page <?7>



T... AD40, piN 1Is07388-1
SK40 # B T14% Shrink Chucks

@01

T... AD40 (Alt/Old: DIN69871) @
D1 A L3 D2 D3 L1 [\ S TS
[mm] | [mm] | [mm] | [mMm] | [mm] | [mm] | [mm] Designation Ident No.

3 80 61 15 20 20 5 M6 TO300/AD40 6726852

4 80 61 15 20 20 5 M6 T0400/AD40 6726537

5 80 61 15 20 25 5 M6 T0500/AD40 6726538

6 80 61 21 27 36 10 M5 T0600/AD40 6726193

8 80 61 21 27 36 10 M6 T0800/AD40 6726194
10 80 61 24 32 42 10 M8 x1 T1000/AD40 6726195
12 80 61 24 32 47 10 M10x1 T1200/AD40 6726196
14 80 61 27 34 47 10 M10x1 T1400/AD40 6726276
16 80 61 27 34 50 10 M12x1 T1600/AD40 6726197
18 80 61 33 42 50 10 M12x1 T1800/AD40 6726277
20 80 61 33 42 52 10 M16x1 T2000/AD40 6726198
25 100 81 44 50 58 10 M16x1 T2500/AD40 6726199
32 100 81 44 50 62 10 M16x1 T3200/AD40 6726278

6 120 101 21 27 36 10 M5 T0600-120/AD40 6726832

8 120 101 21 27 36 10 M6 T0800-120/AD40 9073978
10 120 101 24 32 42 10 M8 x1 T1000-120/AD40 9074612
12 120 101 24 32 47 10 M10x1 T1200-120/AD40 9074772
14 120 101 27 34 47 10 M10x1 T1400-120/AD40 9074773
16 120 101 27 34 50 10 M12x1 T1600-120/AD40 9074775
18 120 101 33 42 50 10 M12x1 T1800-120/AD40 6727044
20 120 101 33 42 52 10 M16x1 T2000-120/AD40 9074778

6 160 141 21 32 36 10 M5 T0600-160/AD40 6726829

8 160 141 21 32 36 10 M6 T0800-160/AD40 9074611
10 160 141 24 34 42 10 M8 x1 T1000-160/AD40 6726830
12 160 141 24 34 47 10 M10x1 T1200-160/AD40 6726831
14 160 141 27 42 47 10 M10x1 T1400-160/AD40 9074774
16 160 141 27 42 50 10 M12x1 T1600-160/AD40 9074776
18 160 141 33 50 50 10 M12x1 T1800-160/AD40 9074777
20 160 141 33 50 52 10 M16x1 T2000-160/AD40 9074779

$i4T£ 8051 Pull stud see page 80

*HEEEBEF<?>T Balancing Information, page <?>

ThermoGrip®

49

MMS/MQL TER LNE TSFV JD/JDF/BT AD/ADF CAT HSK

Appendix



T....-...-C1-...AD40 / Cool Jet
SK40 Cool Jet s#HE % H#AK J148 Shrink Chucks

; L
_I' #
o = ‘
L
]

T.co...-C1-AD40 @
D2 DX] L1 N £l iTRS
[mm] | [mm] | [mm] | [mm] | [mm] | [mMm] | [mm] Designation Ident No.
3 80 61 15 20 20 5 M6 T0300-80-C1-AD40 5150243
4 80 61 15 20 20 5 M6 T0400-80-C1-AD40 5150348
5 80 61 15 20 25 5 M6 T0500-80-C1-AD40 5150349
6 80 61 21 27 36 10 M5 T0600-80-C1-AD40 5150350
8 80 61 21 27 36 10 M6 T0800-80-C1-AD40 5150351
10 80 61 24 32 42 10 M8 x1 T1000-80-C1-AD40 5150352
12 80 61 24 32 47 10 M10 x1 T1200-80-C1-AD40 5150353
14 80 61 27 34 47 10 M10 x1 T1400-80-C1-AD40 5150354
16 80 61 27 34 50 10 M12 x1 T1600-80-C1-AD40 5150356
18 80 61 33 42 50 10 M12 x1 T1800-80-C1-AD40 5150357
20 80 61 33 42 52 10 M16 x1 T2000-80-C1-AD40 5150358
25 100 81 44 50 58 10 M16 x1 T2500-100-C1-AD40 5150359
32 100 81 44 50 62 10 M16 x1 T3200-100-C1-AD40 5150360
6 120 101 21 27 36 10 M5 T0600-120-C1-AD40 5150365
8 120 101 21 27 36 10 M6 T0800-120-C1-AD40 5150367
10 120 101 24 32 42 10 M8 x1 T1000-120-C1-AD40 5150368
12 120 101 24 32 47 10 M10 x1 T1200-120-C1-AD40 5150369
14 120 101 27 34 47 10 M10 x1 T1400-120-C1-AD40 5150370
16 120 101 27 34 50 10 M12 x1 T1600-120-C1-AD40 5150371
18 120 101 33 42 50 10 M12 x1 T1800-120-C1-AD40 5150373
20 120 101 33 42 52 10 M16 x1 T2000-120-C1-AD40 5150374
6 160 141 21 32 36 10 M5 T0600-160-C1-AD40 5150375
8 160 141 21 32 36 10 M6 T0800-160-C1-AD40 5150376
10 160 141 24 34 42 10 M8 x1 T1000-160-C1-AD40 5150378
12 160 141 24 34 47 10 M10 x1 T1200-160-C1-AD40 5150380
14 160 141 27 42 47 10 M10 x1 T1400-160-C1-AD40 5150383
16 160 141 27 42 50 10 M12 x1 T1600-160-C1-AD40 5150385
18 160 141 33 50 50 10 M12 x1 T1800-160-C1-AD40 5150387
20 160 141 33 50 52 10 M16 x1 T2000-160-C1-AD40 5150389
FI$T2 8051 Pull stud see page 80

Cool-Jet 55

- A ANE
- AN ENEL
- ATEEMA S AL

Cool-Jet execution
- for optional external cooling

- 2 closable cooling channel holes ! L
- Optionally with 4 cooling channel holes

50 ThermoGrip® *#hFE#E{E BER<?>TT Balancing Information, page <?7>



T... ADF40, piN 1s07388-1

SK40 #ARKT14% Shrink Chucks ik =@ EN R L& H)

@01

@02

@03

&5
T... ADF40 (Alt/Old: ADB40 DIN69871) 25000/ |<3um| |18.000
D1 A L3 D2 D3 L1 N iR RS
[mMm] | [mm] | [mm] | [mm] | [mMm] | [mMm] | [mm] Designation Ident No.
3 80 61 15 20 20 5 M6 T0300/ADB40 6727758
4 80 61 15 20 20 5 M6 T0400/ADB40 6727760
5 80 61 15 20 25 5 M6 T0500/ADB40 6727759
6 80 61 21 27 36 10 M5 T0600/ADB40 6727671
8 80 61 21 27 36 10 M6 T0800/ADB40 6727677
10 80 61 24 32 42 10 M8 x1 T1000/ADB40 6727683
12 80 61 24 32 47 10 M10x1 T1200/ADB40 6727688
14 80 61 27 34 47 10 M10x1 T1400/ADB40 6727696
16 80 61 27 34 50 10 M12x1 T1600/ADB40 6727702
18 80 61 33 42 50 10 M12x1 T1800/ADB40 6727708
20 80 61 33 42 52 10 M16x1 T2000/ADB40 6727711
25 100 81 44 50 58 10 M16x1 T2500/ADB40 6727717
#1572 8051 Pull stud see page 80

*HEEEBEF<?>T Balancing Information, page <?>

ThermoGrip®

51

MMS/MQL TER LNE TSFV JD/JDF/BT AD/ADF CAT HSK

Appendix



TSF... AD40, piN 1s07388-1
SK40 BB TI4K Slim Shrink Chucks

AD o

- .i!
I
P02
@03

G

TSF-ADA40 (Alt/Old: DIN69871) ﬂ
D1 A NL D2 D3 L1 N s RS
[mm] | [mm] | [mm] | [mm] | [mm] | [mMm] | [mm] Designation Ident No.
3 83 60 9 13 20 5 M6 TSF0300-60/AD40 9101227
4 83 60 10 14 20 5 M6 TSF0400-60/AD40 9101238
6 83 60 12 18 36 5 M5 TSF0600-60/AD40 9079018
8 83 60 14 20 36 5 M6 TSF0800-60/AD40 9079023
10 83 60 16 22 42 5 M8 x1 TSF1000-60/AD40 9079026
12 83 60 18 24 47 5 M10x1 TSF1200-60/AD40 9079029
16 83 60 22 28 50 5 M12x1 TSF1600-60/AD40 9079032
3 123 100 9 16 20 5 M6 TSF0300-100/AD40 9108372
4 123 100 10 17 20 5 M6 TSF0400-100/AD40 9108373
6 123 100 12 22 36 5 M5 TSF0600-100/AD40 9079021
8 123 100 14 24 36 5 M6 TSF0800-100/AD40 9079024
10 123 100 16 26 42 5 M8x1 TSF1000-100/AD40 9079027
12 123 100 18 28 47 5 M10x1 TSF1200-100/AD40 9079030
16 123 100 22 32 50 5 M12x1 TSF1600-100/AD40 9079033
6 163 140 12 26 36 5 M5 TSF0600-140/AD40 9079022
8 163 140 14 28 36 5 M6 TSF0800-140/AD40 9079025
10 163 140 16 30 42 5 M8 x1 TSF1000-140/AD40 9079028
12 163 140 18 32 47 5 M10x1 TSF1200-140/AD40 9079031
16 163 140 22 36 50 5 M12x1 TSF1600-140/AD40 9079034

Q HERATSFER&EE, ¥IM#875T TSF discs, see accessories page 87
$14T2 801 Pull stud see page 80

52 ThermoGrip® *#hFE#E{E BER<?>TT Balancing Information, page <?7>



T... ADF50, piN 1s07388-1

SK50 #RKT14% Shrink Chucks ik =@ EN R L& H)

@01

@02

@03

] ) s
T... ADF50 (Alt/Old: ADB50 DIN69871) 25000/ |<3um| |12.000
D1 A L3 D2 D3 L1 N iR RS
[mMm] | [mm] | [mm] | [mm] | [mMm] | [mMm] | [mm] Designation Ident No.
6 80 61 21 27 36 10 M5 T0600/ADB50 6727617
8 80 61 21 27 36 10 M6 T0800/ADB50 6727615
10 80 61 24 32 42 10 M8 x1 T1000/ADB50 6727624
12 80 61 24 32 47 10 M10x1 T1200/ADB50 6727630
14 80 61 27 34 47 10 M10x1 T1400/ADB50 6727639
16 80 61 27 34 50 10 M12x1 T1600/ADB50 6727645
18 80 61 33 42 50 10 M12x1 T1800/ADB50 6727649
20 80 61 33 42 52 10 M16x1 T2000/ADB50 6727653
25 90 71 44 53 58 10 M16x1 T2500/ADB50 6727658
32 90 71 44 53 62 10 M16x1 T3200/ADB50 6727665
6 120 101 21 27 36 10 M5 T0600-120/ADB50 6727618
8 120 101 21 27 36 10 M6 T0800-120/ADB50 6727616
10 120 101 24 32 42 10 M8 x1 T1000-120/ADB50 6727625
12 120 101 24 32 47 10 M10x1 T1200-120/ADB50 6727631
14 120 101 27 34 47 10 M10x1 T1400-120/ADB50 6727640
16 120 101 27 34 50 10 M12x1 T1600-120/ADB50 6727603
18 120 101 33 42 50 10 M12x1 T1800-120/ADB50 6727650
20 120 101 33 42 52 10 M16x1 T2000-120/ADB50 6727654
25 120 101 44 53 58 10 M16x1 T2500-120/ADB50 6727661
32 120 101 44 53 62 10 M16x1 T3200-120/ADB50 6727667
6 160 141 21 32 36 10 M5 T0600-160/ADB50 6727612
8 160 141 21 32 36 10 M6 T0800-160/ADB50 6727621
10 160 141 24 34 42 10 M8 x1 T1000-160/ADB50 6727627
12 160 141 24 34 47 10 M10x1 T1200-160/ADB50 6727633
14 160 141 27 42 47 10 M10x1 T1400-160/ADB50 6727642
16 160 141 27 42 50 10 M12x1 T1600-160/ADB50 6727647
18 160 141 33 51 50 10 M12x1 T1800-160/ADB50 6727651
20 160 141 33 51 52 10 M16x1 T2000-160/ADB50 6727656
25 160 141 44 60 58 10 M16x1 T2500-160/ADB50 6727663
32 160 141 44 60 62 10 M16x1 T3200-160/ADB50 6727669
6 200 171 21 32 36 10 M5 T0600-200-K1-ADF50 5017434
8 200 171 21 32 36 10 M6 T0800-200-K1-ADF50 5134248
10 200 171 24 34 42 10 M8x1 T1000-200-K1-ADF50 5134249
12 200 171 24 34 47 10 M10x1 T1200-200-K1-ADF50 5134250
14 200 171 27 42 47 10 M10x1 T1400-200-K1-ADF50 5134251
16 200 171 27 42 50 10 M12x1 T1600-200-K1-ADF50 5017436
18 200 171 33 51 50 10 M12x1 T1800-200-K1-ADF50 5017439
20 200 171 33 51 52 10 M16x1 T2000-200-K1-ADF50 5134252
25 200 171 44 60 58 10 M16x1 T2500-200-K1-ADF50 5134253
32 200 171 44 60 62 10 M16x1 T3200-200-K1-ADF50 5134254
4TS R80T Pull stud see page 80

*HEEEBEF<?>T Balancing Information, page <?>

ThermoGrip®

53

MMS/MQL TER LNE TSFV JD/JDF/BT AD/ADF CAT HSK

Appendix



T....-...-C1-...ADF50/ Cool Jet
SK50 Cool Jet SHE 2 HI#AK T4 Shrink Chucks

o 21 - .

I _-___.__'-_'_'_ i

10 e

T....-...-C1-ADF50
A L3 D2 D3 L1 \| Fidl= TS
[mm] | [mm] | [mm] | [mm] | [mm] | [mMm] | [mm] Designation Ident No.
6 80 61 21 27 36 10 M5 T0600-80-C1-ADF50 5150418
8 80 61 21 27 36 10 M6 T0800-80-C1-ADF50 5150419
10 80 61 24 32 42 10 M8 x1 T1000-80-C1-ADF50 5150420
12 80 61 24 32 47 10 M10 x1 T1200-80-C1-ADF50 5150421
14 80 61 27 34 47 10 M10 x1 T1400-80-C1-ADF50 5150422
16 80 61 27 34 50 10 M12 x1 T1600-80-C1-ADF50 5150423
18 80 61 33 42 50 10 M12 x1 T1800-80-C1-ADF50 5150424
20 80 61 33 42 52 10 M16 x1 T2000-80-C1-ADF50 5150425
25 90 71 44 53 58 10 M16 x1 T2500-90-C1-ADF50 5150426
32 90 71 44 53 62 10 M16 x1 T3200-90-C1-ADF50 5150427
6 120 101 21 27 36 10 M5 T0600-120-C1-ADF50 5150428
8 120 101 21 27 36 10 M6 T0800-120-C1-ADF50 5150432
10 120 101 24 32 42 10 M8 x1 T1000-120-C1-ADF50 5150434
12 120 101 24 32 47 10 M10 x1 T1200-120-C1-ADF50 5150435
14 120 101 27 34 47 10 M10 x1 T1400-120-C1-ADF50 5150437
16 120 101 27 34 50 10 M12 x1 T1600-120-C1-ADF50 5150438
18 120 101 33 42 50 10 M12 x1 T1800-120-C1-ADF50 5150439
20 120 101 33 42 52 10 M16 x1 T2000-120-C1-ADF50 5150440
25 120 101 44 53 58 10 M16 x1 T2500-120-C1-ADF50 5150441
32 120 101 44 53 62 10 M16 x1 T3200-120-C1-ADF50 5150442
6 160 141 21 32 36 10 M5 T0600-160-C1-ADF50 5150444
8 160 141 21 32 36 10 M6 T0800-160-C1-ADF50 5150445
10 160 141 24 34 42 10 M8 x1 T1000-160-C1-ADF50 5150447
12 160 141 24 34 47 10 M10 x1 T1200-160-C1-ADF50 5150448
14 160 141 27 42 47 10 M10 x1 T1400-160-C1-ADF50 5150450
16 160 141 27 42 50 10 M12 x1 T1600-160-C1-ADF50 5150451
18 160 141 33 51 50 10 M12 x1 T1800-160-C1-ADF50 5150453
20 160 141 33 51 52 10 M16 x1 T2000-160-C1-ADF50 5150454
25 160 141 44 60 58 10 M16 x1 T2500-160-C1-ADF50 5150455
32 160 141 44 60 62 10 M16 x1 T3200-160-C1-ADF50 5150457
4TS 80T Pull stud see page 80

Cool-Jet 55

- AT AS

- AN A EITL

- ATEMAN A EFL

Cool-Jet execution

- for optional external cooling ;
- 2 closable cooling channel holes ! -
- Optionally with 4 cooling channel holes

54 ThermoGrip® *#hFE#E{E BER<?>TT Balancing Information, page <?7>



THD... ADF50, piN Iso7388-1
SK50 E#;# Ak TI# Heavy Duty Shrink Chucks

=

@01

=

gl
I\

@03

D2

[mm]

THD-ADF50 (Alt/Old: ADB50 DIN 69871)

D3
[mm]

L1
[mm]

s
Designation

G2,5/,
25,000

max.
) 153
1

AR 2
Ident No.

16 90 70,9 50 60 50 10 M12x1 THD1600-90/ADB50 5031169

20 920 70,9 58 68 52 10 M16x1 THD2000-90/ADB50 5031171

25 90 70,9 64 74 58 10 M16x1 THD2500-90/ADB50 5031173

32 110 90,9 72 85 62 10 M16x1 THD3200-110/ADB50 5031174
$14T5 80T Pull stud see page 80

EEEMETHDTIM, S 107 Note for THD chucks, have a look at page 10

*EhE#{EBER<?>R Balancing Information, page <?>

ThermoGrip® 55

MMS/MQL TER LNE TSFV JD/JDF/BT AD/ADF CAT HSK

Appendix



T... JD30, pINIs07388-2
BT30#AKk 714" Shrink Chucks

@01

@02

@03

F// (2 E— :
I\

T... JD30 (Alt/Old: BT30, MAS403) @

D1 A L3 D2 K] L1 N s iTRS
[mm] | [mm] | [mMm] | [mMm] | [mm] | [mm] | [mm] Designation Ident No.
3 80 58 15 20 20 5 M6 T0300-80/BT30 5020062
4 80 58 15 20 20 5 M6 T0400-80/BT30 5020063
5 80 58 15 20 25 5 M6 T0500-80/BT30 5020064
6 80 58 21 27 36 10 M5 T0600-80/BT30 5020065
8 80 58 21 27 36 10 M6 T0800-80/BT30 5020066
10 80 58 24 32 42 10 M8 x1 T1000-80/BT30 5020067
12 80 58 24 32 47 10 M10x1 T1200-80/BT30 5020068
14 80 58 27 34 47 10 M10x1 T1400-80/BT30 5061825
16 80 58 27 34 50 10 M12x1 T1600-80/BT30 5020069
18 80 58 33 42 50 10 M12x1 T1800-80/BT30 5092553
20 80 58 33 42 52 10 M16x1 T2000-80/BT30 5020070

$i4T5 8171 Pull stud see page 81

T... JD30 (Alt/Old: BT30, MAS403) - &=} Inch HSS

D1 A L3 D2 D3 L1 N k= TS
[Inch] | [Inch] | [Inch] | [Inch] | [Inch] | [Inch] | [Inch] Designation Ident No.
0.125 3.15 2.28 0.59 0.79 0.79 0.20 M6 T0318/BT30 5057109
0.187 3.15 2.28 0.59 0.79 0.98 0.20 M6 T0476/BT30 5057110
0.250 3.15 2.28 0.83 1.06 1.42 0.39 M5 T0635/BT30 5057111
0.375 3.15 2.28 0.95 1.26 1.65 0.39 M8x1 T0953/BT30 5057112
0.500 3.15 2.28 1.06 1.34 1.85 0.39 M10x1 T1270/BT30 5057113
0.625 3.15 2.28 1.06 1.34 1.97 0.39 M12x1 T1588/BT30 5057114
$14T5 811 Pull stud see page 81

56 ThermoGrip® *#hFE#E{E BER<?>TT Balancing Information, page <?7>



T... JDF 40, piN 1s07388-2
BT40#4BKk 714" Shrink Chucks

@01

CAT HSK

AD/ADF

T... JDF40 (Alt/Old: BT40, MAS403) zas%gé @
D1 A L3 D2 D3 L1 N s RS
[mMm] | [mm] | [mm] | [mm] | [mMm] | [mMm] | [mm] Designation Ident No.
3 90 63 15 20 20 5 M6 TO300/BT40 6726807
4 90 63 15 20 20 5 M6 T0400/BT40 6726621
5 90 63 15 20 25 5 M6 T0500/BT40 6726622
6 90 63 21 27 36 10 M5 T0600/BT40 6726499
8 90 63 21 27 36 10 M6 T0800/BT40 6726484
10 90 63 24 32 42 10 M8x1 T1000/BT40 6726485
12 90 63 24 32 47 10 M10x1 T1200/BT40 6726486
14 90 63 27 34 47 10 M10x1 T1400/BT40 6726500
16 90 63 27 34 50 10 M12x1 T1600/BT40 6726470
18 90 63 33 42 50 10 M12x1 T1800/BT40 6726501
20 90 63 33 42 52 10 M16x1 T2000/BT40 6726469
25 100 73 44 53 58 10 M16x1 T2500/BT40 6726502
32 100 73 44 53 62 10 M16x1 T3200/BT40 9117365
6 120 93 21 27 36 10 M5 T0600-120/BT40 6727101
8 120 93 21 27 36 10 M6 T0800-120/BT40 6727102
10 120 93 24 32 42 10 M8 x1 T1000-120/BT40 6727103
12 120 93 24 32 47 10 M10x1 T1200-120/BT40 6727104
14 120 93 27 34 47 10 M10x1 T1400-120/BT40 6727105
16 120 93 27 34 50 10 M12x1 T1600-120/BT40 6727106
18 120 93 33 42 50 10 M12x1 T1800-120/BT40 6727107
20 120 93 33 42 52 10 M16x1 T2000-120/BT40 6727108
25 120 93 44 53 58 10 M16x1 T2500-120/BT40 6727109
32 120 93 44 53 62 10 M16x1 T3200-120/BT40 9126834
6 160 133 21 32 36 10 M5 T0600-160/BT40 6726811
8 160 133 21 32 36 10 M6 T0800-160/BT40 6726812
10 160 133 24 34 42 10 M8 x1 T1000-160/BT40 6726813
12 160 133 24 34 47 10 M10x1 T1200-160/BT40 6726814
14 160 133 27 42 47 10 M10x1 T1400-160/BT40 6726815
16 160 133 27 42 50 10 M12 x1 T1600-160/BT40 6726816
18 160 133 33 51 50 10 M12x1 T1800-160/BT40 6726817
20 160 133 33 51 52 10 M16x1 T2000-160/BT40 6726818
25 160 133 44 53 58 10 M16x1 T2500-160/BT40 6726819
$i5T%M8171 Pull stud see page 81

*HEEEBEF<?>T Balancing Information, page <?>

ThermoGrip®

57

MMS/MQL TER LNE TSFV JD/JDF/BT

Appendix



T....-...-C1-...dDF40/ Cool Jet
BT40 Cool Jet SHEZ H#FAKTIHH Shrink Chucks

K]

- t

g
B0
g

max. m
B =g
A L3 D2 K] L1 N S RS
[mm] | [mMm] | [Mm] | [mMm] | [mMm] | [mMm] | [mm] Designation Ident No.
3 90 63 15 20 20 5 M6 T0300-90-C1-JDF40 5150234
4 20 63 15 20 20 5 M6 T0400-90-C1-JDF40 5150941
5 90 63 15 20 25 5 M6 T0500-90-C1-JDF40 5150518
6 90 63 21 27 36 10 M5 T0600-90-C1-JDF40 5150519
8 90 63 21 27 36 10 M6 T0800-90-C1-JDF40 5150521
10 90 63 24 32 42 10 M8 x1 T1000-90-C1-JDF40 5150942
12 90 63 24 32 47 10 M10 x1 T1200-90-C1-JDF40 5150511
14 90 63 27 34 47 10 M10 x1 T1400-90-C1-JDF40 5150531
16 90 63 27 34 50 10 M12 x1 T1600-90-C1-JDF40 5150534
18 90 63 33 42 50 10 M12 x1 T1800-90-C1-JDF40 5150535
20 90 63 33 42 52 10 M16 x1 T2000-90-C1-JDF40 5150537
25 100 73 44 53 58 10 M16 x1 T2500-100-C1-JDF40 5150539
32 100 73 44 53 62 10 M16 x1 T3200-100-C1-JDF40 5150542
6 120 93 21 27 36 10 M5 T0600-120-C1-JDF40 5150543
8 120 93 21 27 36 10 M6 T0800-120-C1-JDF40 5150553
10 120 93 24 32 42 10 M8 x1 T1000-120-C1-JDF40 5150554
12 120 93 24 32 47 10 M10 x1 T1200-120-C1-JDF40 5150555
14 120 93 27 34 47 10 M10 x1 T1400-120-C1-JDF40 5150556
16 120 93 27 34 50 10 M12 x1 T1600-120-C1-JDF40 5150557
18 120 93 33 42 50 10 M12 x1 T1800-120-C1-JDF40 5150899
20 120 93 33 42 52 10 M16 x1 T2000-120-C1-JDF40 5150900
25 120 93 44 53 58 10 M16 x1 T2500-120-C1-JDF40 5150901
32 120 93 44 53 62 10 M16 x1 T3200-120-C1-JDF40 5150902
6 160 133 21 32 36 10 M5 T0600-160-C1-JDF40 5150904
8 160 133 21 32 36 10 M6 T0800-160-C1-JDF40 5150905
10 160 133 24 34 42 10 M8 x1 T1000-160-C1-JDF40 5150906
12 160 133 24 34 47 10 M10 x1 T1200-160-C1-JDF40 5150907
14 160 133 27 42 47 10 M10 x1 T1400-160-C1-JDF40 5150908
16 160 133 27 42 50 10 M12 x1 T1600-160-C1-JDF40 5150910
18 160 133 33 51 50 10 M12 x1 T1800-160-C1-JDF40 5150911
20 160 133 33 51 52 10 M16 x1 T2000-160-C1-JDF40 5150912
25 160 133 44 53 58 10 M16 x1 T2500-160-C1-JDF40 5150913
H$T£H80TT  Pull stud see page 80

Cool-Jet 5

- Al A S

- WA AEITL

- A[EMA S EFL

Cool-Jet execution

- for optional external cooling
- 2 closable cooling channel holes -
- Optionally with 4 cooling channel holes

58 ThermoGrip® *#hFE#E{E BER<?>TT Balancing Information, page <?7>



TSF... JD40, pin 1s07388-2
BT404A KB B TI4® Slim Shrink Chucks

|
‘
|
o B
aulic
{0
‘
I I
L
L
:
D1
D2
D3

G2,5, max. m
TSF-JD40 (Alt/Old: BT40, MAS403) 25,000

D1 A NL D2 D3 L1 N s TS
[mMm] | [mm] | [mm] | [mm] | [mMm] | [mMm] | [mm] Designation Ident No.
3 99 60 9 13 20 5 M6 TSF0300-60/BT40 9101105
4 99 60 10 14 20 5 M6 TSF0400-60/BT40 9088462
6 91 60 12 18 36 5 M5 TSF0600-60/BT40 9088457
8 91 60 14 20 36 5 M6 TSF0800-60/BT40 9101100
10 91 60 16 22 42 5 M8 TSF1000-60/BT40 9101101
12 91 60 18 24 47 5 M10 TSF1200-60/BT40 9101102
16 91 60 22 28 50 5 M12 TSF1600-60/BT40 9101103
20 91 60 27 33 52 5 M16 TSF2000-60/BT40 9101104

9 iHERATSFERARR, #4875 TSF discs, see accessories page 87

$i§T% %8071 Pull stud see page 80

THD... JD50, piN 1s07388-2
BT50E# A J148 Heavy Duty Shrink Chucks

@02
03

2 i_']ﬁiiffﬁi_gf
\\

Iﬂl

THD-JD50 (Alt/Old: BT50, MAS403) @

A L3 D2 K] L1 N S TS
[mm] | [mm] | [mm] | [mm] | [mm] | [mm] Designation Ident No.
16 110 72 50 60 50 10 M12x1 THD1600-110/BT50 5031175
20 110 72 58 68 52 10 M16x1 THD2000-110/BT50 5031176
25 110 72 64 74 58 10 M16x1 THD2500-110/BT50 5031177
32 130 92 72 85 62 10 M16x1 THD3200-130/BT50 5031178

$Hi4TZ #8151 Pull stud see page 81
FEEFEMATHDIIMR, #1053 Note for THD chucks, have a look at page 10

*ZhF & {5 BE H<?>TT Balancing Information, page <?7> ThermoGrip® 59

MMS/MQL TER LNE TSFV JD/JDF/BT AD/ADF CAT HSK

Appendix



T... JD50, piNI1so7388-2
BT50# Ak 714/ Shrink Chucks

L3
L1

.

@02

@03

C I”// = ¥
I\

T... JD50 (Alt/Old: BT50, MAS403)
D1 A L3 D2 D3 L1 N s TS
[mMm] | [mm] | [mm] | [mm] | [mMm] | [mMm] | [mm] Designation Ident No.
6 100 62 21 27 36 10 M5 T0600/BT50 6726503
8 100 62 21 27 36 10 M6 T0800/BT50 6726504
10 100 62 24 32 42 10 M8 x1 T1000/BT50 6726505
12 100 62 24 32 47 10 M10x1 T1200/BT50 6726506
14 100 62 27 34 47 10 M10x1 T1400/BT50 6726507
16 100 62 27 34 50 10 M12x1 T1600/BT50 6726378
18 100 62 33 42 50 10 M12x1 T1800/BT50 6726508
20 100 62 33 42 52 10 M16x1 T2000/BT50 6726509
25 110 72 44 53 58 10 M16x1 T2500/BT50 6726510
32 110 72 44 53 62 10 M16x1 T3200/BT50 6726511
6 120 82 21 27 36 10 M5 T0600-120/BT50 6727110
8 120 82 21 27 36 10 M6 T0800-120/BT50 6727112
10 120 82 24 32 42 10 M8 x1 T1000-120/BT50 6727114
12 120 82 24 32 47 10 M10x1 T1200-120/BT50 6727116
14 120 82 27 34 47 10 M10x1 T1400-120/BT50 6727118
16 120 82 27 34 50 10 M12x1 T1600-120/BT50 6727120
18 120 82 33 42 50 10 M12x1 T1800-120/BT50 6727122
20 120 82 33 42 52 10 M16x1 T2000-120/BT50 6727124
25 120 82 44 53 58 10 M16x1 T2500-120/BT50 6727126
32 120 82 44 53 62 10 M16x1 T3200-120/BT50 6727128
6 160 122 21 32 36 10 M5 T0600-160/BT50 6726953
8 160 122 21 32 36 10 M6 T0800-160/BT50 6727113
10 160 122 24 34 42 10 M8 x1 T1000-160/BT50 6727115
12 160 122 24 34 47 10 M10x1 T1200-160/BT50 6727117
14 160 122 27 42 47 10 M10x1 T1400-160/BT50 6727119
16 160 122 27 42 50 10 M12 x1 T1600-160/BT50 6727121
18 160 122 33 51 50 10 M12x1 T1800-160/BT50 6727123
20 160 122 33 51 52 10 M16x1 T2000-160/BT50 6726952
25 160 122 44 60 58 10 M16x1 T2500-160/BT50 6727127
32 160 122 44 60 62 10 M16x1 T3200-160/BT50 6727129
$i4T5 8171 Pull stud see page 81

60 ThermoGrip® *#hFE#E{E BER<?>TT Balancing Information, page <?7>



T....-...-C1-...JD50/ Cool Jet
BT50 Cool Jet iHEZ H#FAKTIHH Shrink Chucks

veeem...-C1-JD50

G2,5/, max.
T

A K] D2 D3 L1 N s T8

[mMm] | [mm] | [mm] | [mm] | [mm] | [mMm] | [mm] Designation Ident No.
6 100 62 21 27 36 10 M5 T0600-100-C1-JD50 5150928
8 100 62 21 27 36 10 M6 T0800-100-C1-JD50 5150929
10 100 62 24 32 42 10 M8 x1 T1000-100-C1-JD50 5150930
12 100 62 24 32 47 10 M10 x1 T1200-100-C1-JD50 5150931
14 100 62 27 34 47 10 M10 x1 T1400-100-C1-JD50 5150932
16 100 62 27 34 50 10 M12 x1 T1600-100-C1-JD50 5150933
18 100 62 33 42 50 10 M12 x1 T1800-100-C1-JD50 5150935
20 100 62 33 42 52 10 M16 x1 T2000-100-C1-JD50 5150936
25 110 72 44 53 58 10 M16 x1 T2500-110-C1-JD50 5150937
32 110 72 44 53 62 10 M16 x1 T3200-110-C1-JD50 5150938
6 120 82 21 27 36 10 M5 T0600-120-C1-JD50 5150945
8 120 82 21 27 36 10 M6 T0800-120-C1-JD50 5150946
10 120 82 24 32 42 10 M8 x1 T1000-120-C1-JD50 5150947
12 120 82 24 32 47 10 M10 x1 T1200-120-C1-JD50 5150948
14 120 82 27 34 47 10 M10 x1 T1400-120-C1-JD50 5150949
16 120 82 27 34 50 10 M12 x1 T1600-120-C1-JD50 5150950
18 120 82 33 42 50 10 M12 x1 T1800-120-C1-JD50 5150951
20 120 82 33 42 52 10 M16 x1 T2000-120-C1-JD50 5150953
25 120 82 44 53 58 10 M16 x1 T2500-120-C1-JD50 5150954
32 120 82 44 53 62 10 M16 x1 T3200-120-C1-JD50 5150955
6 160 122 21 32 36 10 M5 T0600-160-C1-JD50 5150959
8 160 122 21 32 36 10 M6 T0800-160-C1-JD50 5150960
10 160 122 24 34 42 10 M8 x1 T1000-160-C1-JD50 5150961
12 160 122 24 34 47 10 M10 x1 T1200-160-C1-JD50 5150962
14 160 122 27 42 47 10 M10 x1 T1400-160-C1-JD50 5150963
16 160 122 27 42 50 10 M12 x1 T1600-160-C1-JD50 5150964
18 160 122 33 51 50 10 M12 x1 T1800-160-C1-JD50 5150966
20 160 122 33 51 52 10 M16 x1 T2000-160-C1-JD50 5150967
25 160 122 44 60 58 10 M16 x1 T2500-160-C1-JD50 5150968
32 160 122 44 60 62 10 M16 x1 T3200-160-C1-JD50 5150969

HI$TS 80T

Pull stud see page 80

Cool-Jet 55

- AT AS

- AN A EITL

- ATEMAN A EFL

Cool-Jet execution

- for optional external cooling
- 2 closable cooling channel holes
- Optionally with 4 cooling channel holes

*EhE#{EBER<?>R Balancing Information, page <?>

ThermoGrip®

61

MMS/MQL TER LNE TSFV JD/JDF/BT AD/ADF CAT HSK

Appendix



TSFV

MK IAKIE AT Slim Shrink Chucks Extensions

L

fol)

201
@02

@03

- L
Bild BS TS
Picture Designation Ident No.
3 63 12 110 9 11,8 15 5 1 TSFV0300-110-K1-Z1200 5118180
4 63 12 110 10 11,8| 15 5 1 TSFV0400-110-K1-Z1200 5118185
5 63 12 110 11 11,8| 20 5 1 TSFV0500-110-K1-Z1200 5118191
6 63 12 110 12 17 | 36 10 3 TSFV0600-110-K1-Z1200 5118091
8 63 12 110 14 19 | 36 10 3 TSFV0800-110-K1-Z1200 5118104
3 60 16 110 9 183 | 15 5 1 TSFV0300-110-K1-Z1600 5118181
4 60 16 110 10 14 | 15 5 1 TSFV0400-110-K1-Z1600 5118186
5 60 16 110 11 15 | 20 5 1 TSFV0500-110-K1-Z1600 5118192
6 60 16 110 12 15,8| 36 10 2 TSFV0600-110-K1-Z1600 5118092
8 60 16 110 14 19 | 36 10 3 TSFV0800-110-K1-Z1600 5118159
3 58 20 110 9 13 | 15 5 1 TSFV0300-110-K1-Z2000 5118182
4 58 20 110 10 14 | 15 5 1 TSFV0400-110-K1-Z2000 5118187
5 58 20 110 11 15 | 20 5 1 TSFV0500-110-K1-Z2000 5118194
6 58 20 110 12 16 | 36 10 1 TSFV0600-110-K1-Z2000 5118093
8 58 20 110 14 19 | 36 10 1 TSFV0800-110-K1-Z2000 5118160
10 58 20 110 16 19,8 | 42 10 1 TSFV1000-110-K1-Z2000 5118168
12 58 20 110 18 19,8 | 47 10 1 TSFV1200-110-K1-Z2000 5118173
) '™
TSFV 18.000 ‘_”-
3 113 12 160 9 11,8 20 5 1 TSFV0300-160-K1-Z21200 5146279
4 113 12 160 10 11,8 20 5 1 TSFV0400-160-K1-Z1200 5146281
3 110 16 160 9 13 20 5 1 TSFV0300-160-K1-Z1600 5146282
4 110 16 160 10 14 20 5 1 TSFV0400-160-K1-Z1600 5146283
5 110 16 160 11 15 25 5 1 TSFV0500-160-K1-Z1600 5146284
5 110 20 160 11 15 25 5 1 TSFV0500-160-K1-Z22000 5146286
8 108 20 160 14 19 36 10 1 TSFV0800-160-K1-Z2000 5146291
8 108 25 160 14 19 36 10 1 TSFV0800-160-K1-Z2500 5146292
10 108 25 160 16 21 42 10 1 TSFV1000-160-K1-Z2500 5146294
12 108 25 160 18 23 47 10 1 TSFV1200-160-K1-Z22500 5146296
14 108 25 160 20 24,8 47 10 1 TSFV1400-160-K1-Z2500 5146298
16 108 25 160 22 24,8 50 10 1 TSFV1600-160-K1-Z2500 5146299
10 98 32 160 16 21 42 10 1 TSFV1000-160-K1-Z3200 5146300
12 98 32 160 18 23 47 10 1 TSFV1200-160-K1-Z3200 5146301
14 98 32 160 20 25 47 10 1 TSFV1400-160-K1-Z3200 5146302
16 98 32 160 22 28 50 10 1 TSFV1600-160-K1-Z3200 5146304
18 98 32 160 25 30 50 10 1 TSFV1800-160-K1-Z3200 5146305
20 98 32 160 26 31,8 52 10 1 TSFV2000-160-K1-Z3200 5146306
9 EERTSFERAR, ¥MME875 TSF discs, see accessories page 87

62 ThermoGrip®




TSFV

MK IAKIE AT Slim Shrink Chucks Extensions

L

@0

@01
@02

@03

TSFV

L

D2

D3

L1

N

Bild

" &
SN
RS

BS

* =
i 4L

[mm] | [mm] | [mm] | [mm] | [mm] | Picture Designation Ident No.

3 150 16 200 9 13 15 5 1 TSFV0300-200-K1-Z1600 5118183
4 150 16 200 10 14 15 5 1 TSFV0400-200-K1-Z1600 5118188
5 150 16 200 11 15 20 5 1 TSFV0500-200-K1-Z21600 5118195
6 150 16 200 12 15,8 36 10 1 TSFV0600-200-K1-Z1600 5118096
8 150 16 200 14 19 36 10 3 TSFV0800-200-K1-Z1600 5118163
6 198 20 250 12 16 36 10 1 TSFV0600-250-K1-22000 5118098
8 198 20 250 14 19 36 10 1 TSFV0800-250-K1-Z22000 5118165
10 198 20 250 16 19,8 42 10 1 TSFV1000-250-K1-Z22000 5118171
12 192 25 250 18 23 47 10 1 TSFV1200-250-K1-22500 5118175
16 192 25 250 22 28 50 10 1 TSFV1600-250-K1-22500 5118178

9‘ BERATSFEA&R, #8751 TSF discs, see accessories page 87

D1
[Inch]

TSFV - &5t Inch

A
[Inch]

D
[Inch]

L
[Inch]

D2
[Inch]

D3
[Inch]

L1
[Inch]

N
[Inch]

Bild

Picture

max. | [ L)
ELEN:

B
Designation

TS

Ident No.

0.125 2.48 0.50 4.33 0.39 0.50 0.79 0.20 2 TSFV0318-110-K1-21270 5118200
0.125 2.28 0.75 4.33 0.39 0.75 0.98 0.20 1 TSFV0318-110-K1-Z1905 5118201
0.187 2.48 0.50 4.33 0.43 0.50 0.98 0.20 2 TSFV0476-110-K1-Z1270 5118203
0.187 2.28 0.75 4.33 0.43 0.75 0.98 0.20 1 TSFV0476-110-K1-Z21905 5118204
0.250 2.48 0.50 4.33 0.47 0.50 1.42 0.39 3 TSFV0635-110-K1-Z1270 5118206
0.250 2.28 0.75 4.33 0.47 0.75 1.42 0.39 1 TSFV0635-110-K1-Z21905 5118207
0.375 2.28 0.75 4.33 0.63 0.75 1.65 0.39 2 TSFV0953-110-K1-Z1905 5118209
TSFV o | W 25/
0.125 7.79 0.75 9.84 0.39 0.75 0.79 0.20 1 TSFV0318-250-K1-Z1905 5118202
0.187 7.79 0.75 9.84 0.43 0.75 0.98 0.20 1 TSFV0476-250-K1-Z1905 5118205
0.250 7.79 0.75 9.84 0.47 0.75 1.42 0.39 1 TSFV0635-250-K1-Z1905 5118208
0.375 7.79 0.75 9.84 0.63 0.75 1.65 0.39 2 TSFV0953-250-K1-Z21905 5118210
0.500 7.59 0.75 9.84 0.79 1.00 1.85 0.39 1 TSFV1270-250-K1-Z21905 5118211
0.500 7.59 1.00 9.84 0.87 1.00 1.85 0.39 1 TSFV1270-250-K1-22540 5118212
0.625 7.59 1.00 9.84 0.87 1.00 1.97 0.39 2 TSFV1588-250-K1-22540 5118213
9‘ EEATSFERER, #8751 TSF discs, see accessories page 87

ThermoGrip®

63

MMS/MQL TER LNE TSFV JD/JDF/BT AD/ADF CAT HSK

Appendix



T IURAEKERAT

w— Vibration-damped Shrink Chuck Extensions

f# A VidataE B 2 U EBE 2 1 BE
Significantly improved damping properties with Vidat

ThermoGrip® VIDATR BBilzf iR AR, RFHEH
T KA E = A R 3h K B & M IR R AB 14 IR i . 48
PeZ @ EKHF, VIDATHIREKATZE DA LLAZ|4DB
BN,

M R P IEE SRR SRR E K E KA
HASFIL IR MEE, VIDATHRIRE KR D
TiXARAL, EAE A T N AR X i,

@it {5 FABILZ VIDAT#BKERKAT, {RATIL

» D RFFR GRS
 REIHRERE
= RETIEF

64 ThermoGrip®

ThermoGrip® VIDAT stands for Vlbrations DAmping
Technology from Bilz. Vibrations caused during the
first extension deflection are effectively absorbed
by integrated dampers. VIDAT extensions achieve
damping rates of at least 4dB in comparison to
normal extensions.

The very rigid nature of the shrinking process means
that long, slim extensions in particular have a
tendency to chatter and vibrate. VIDAT extensions
reduce this effect, thus considerably

increasing the area of application.

By using Bilz VIDAT extensions you can

= reduce the vibrations in the clamping system
m improve the surface quality of the workpiece
m increase tool life



VIDAT
MK B HTRAARE AT
Slim Shrink Chuck Extensions with Vibration Damping

@2.35

BIZBIVIDATIE AT VIDAT extensions with shrink geom

etry

HEREEHEE

D1 A D L D2 K] N
[mm] | [mm] | [mm] | [mm]

[mm]

1SO40-ISO50

max. rpm in combination with
[mm] | [mm] | HSK63-HSK100/

HSK50/
1ISO30

Bs
Designation

TS
Ident No.

6 158 20 210 12 19,8 5 10000 1/min 7000 1/min LNE-T0600-210-K1-Z2000 5109763

8 158 20 210 14 19,8 5 10000 1/min 7000 1/min LNE-T0800-210-K1-Z2000 5110224
10 158 20 210 16 19,8 5 10000 1/min 7000 1/min LNE-T1000-210-K1-Z2000 5110226
12 158 20 210 18 19,8 5 10000 1/min 7000 1/min LNE-T1200-210-K1-Z2000 5110227
10 242 25 300 16 24,8 5 8000 1/min - LNE-T1000-300-K1-Z2500 5110287
12 242 25 300 18 24,8 5 8000 1/min - LNE-T1200-300-K1-Z22500 5109988
14 242 25 300 20 24,8 5 8000 1/min - LNE-T1400-300-K1-Z2500 5109994
16 242 25 300 22 24,8 5 8000 1/min - LNE-T1600-300-K1-Z22500 5110303
12 238 32 300 18 31,8 5 8000 1/min - LNE-T1200-300-K1-23200 5110428
14 238 32 300 20 31,8 5 8000 1/min - LNE-T1400-300-K1-Z3200 5110429
16 238 32 300 22 31,8 5 8000 1/min - LNE-T1600-300-K1-Z3200 5110430
18 238 32 300 25 31,8 5 8000 1/min - LNE-T1800-300-K1-Z3200 5110433
20 238 32 300 27 31,8 5 8000 1/min - LNE-T2000-300-K1-Z3200 5110436

A4 & AK50bar Internal coolant supply up to max. 50 bar

I

| HERATSFERARE, ¥IM#875T TSF discs, see accessories page 87

Sl

@ D2
@ D3

5

92.35

L3

A D L D1 D2

[mm] | [mm] | [mm] | [nm] | [mm] | [nm] | HSK63-HSK100/

AEREEEE

D3 | max. rpm in combination with

HSK50/

Bs
Designation

TS
Ident No.

1ISO40-ISO50 1ISO30
12 [M12x1,75| 192 | 26 | 250 | 12,5 | 21 | 24,8 8000 1/min - LNE-MH12-250-K1-Z2500| 5110692
12 |M12x1,75| 242 | 256 | 300 | 1256 | 21 | 24,8 8000 1/min - LNE-MH12-300-K1-Z2500| 5110690
16 |[M16x2 188 | 32 | 250 | 17 29 | 31,8 8000 1/min - LNE-MH16-250-K1-Z3200| 5110698
16 |M16x2 238 | 32 | 300 | 17 29 | 31,8 8000 1/min - LNE-MH16-300-K1-Z23200| 5110696

K% B K50bar Internal coolant supply up to max. 50 bar

o

| EERTSFEREE, FRM#S75 TSF discs, see accessories page 87

ThermoGrip® 65

MMS/MQL TER LNE TSFV JD/JDF/BT AD/ADF CAT HSK

Appendix



TER — #AKEEDIN 6499

TER - Shrink Fit Adaptor for Collets Type ER to DIN 6499

i E BB FE 8 E AR

Highest possible run-out and repeatability accuracy

> 10 pm

& B m, YDA TV B AR R A — A Bk BESR )
HMR:
REMBIE R MOIIE, HiERREMEIR B FITAE

When shrunk in, cutting tool and shrink fit collet form a unit
(monoblock)

Result:

A very high transmittable torque, best possible run-out
properties and highest possible stability

EK TI B F M Ai£300%
ATFTERMAME R EIFTNANEHE, MENERRHENTH,
BEERYET) “RE"

HR:
BRMTHREMRSTHEE

Increase of tool life for cutting tools up to 300 %

Due to the precise clamping of the tool with the TER shrink
collets, all cutters enter the workpiece simultaneously, avoi-
ding “hitting” the cutting edge.

Result:

Better surface finishes & improved accuracy

66 ThermoGrip®

B FSRIE: IR, shhsk, HUREMBEIERE,

Ba%EE

WMRTIEFEARIT, TIEMIHEEREMISZIRAMIERS, T
BRFGBRY, ERESBOFTEX, BImE 7ImIinTIEHER,

ERHIERNRRERE

{ERTERA LUK TIBAFEEM B T, TIEETMRFFEREFL
B, FELEEMEESTERTIEHE— N RERER, KiES
B, REEE, RIESEVETEAESBE, HREEERETHT
BHER,

FERATERRLFTRIFAFTREEMA:
= BkZ) <3 um

" R AHIEEN

= QiE5F

= B, BRI
AEEERI BRI LTI EH

MEEEAXRS
TERME XA ZTEINEERERKES,
TEREZ L AT A E (A ThermoGrip® B Bz = il & e it

Areas of application: collet chucks, driven tool holders,
direct clamping in the machine spindle

Perfect Fit

If the tool is not clamped securely, high forces are exerted on the
tool and chuck through rotation. The tool will begin to wobble.

The result: a higher load, therefore increased wear on the chuck
and tool, leading to impaired quality of the manufacturing result.
Using TER means that the load on the tool due to imbalance is
practically eliminated. The tool is clamped precisely in the centre of
the clamping bore, meaning that it runs true and when shrunk in,

it forms a stable unit with the TER collet. The short and rigid clamp-
ing enables high precision at higher cutting speeds and reduces the
wear on the cutting tool dramatically.

Using TER means profiting from the main advantages of collet
shrinking,

= Run-out < 3 ym

= maximum holding forces

= rigidity

= J[ow-wear monoblock properties

without the need to replace existing collet chucks or spindles.

Much higher cutting speeds

The biggest advantage of TER is the potential of machining with
much higher cutting speeds. The TER shrink fit collet can be heated
on all ThermoGrip® induction units.



EATMRETATEIRETRE — TERFEZ R ATTHE!

Using high efficiency to reduce production costs - TER makes it possible!

" BHEE. REHTT (< 30s)

B TR, ERHEAKMT

EERERREETD Increase productivity in a short period of time
miEMT High-speed machining

w RIS = High transmittable torque

= TIFRE = Stable clamping

" R ARIREEN = Maximum holding forces

= Ultra-precise, quick tool changes (< 30s)

Longer machining due to less wear

TIEFEHEKZE300%

" RESERE

= HhE R ML

= SRR, B

" AR RG ( BEHNEBERRS )

iEE R RIABIREMR

Increase of tool life for cutting tools up to 300 %
= High stability of the system

= Minimum load from axial forces

= Precise clamping means less damage

= Resistant to dirt (sealed monoblock system)

High quality machining for top results

ERENZERE
= SEERBEEIERE (<3 pum )
BRSNS EES S

ERBZETRER RS REE

High precision and process-secure
= Excellent run-out properties (< 3 pm)
= High repeatability due to precise clamping

Improve manufacturing without changing production processes

FREEHRTIA..

= PE RIS TR AR LUE A

s BRATNEGHARSYT

s BHBERABRE — EEXBAMYRAE

No need to retool ...

= Existing collet chucks can still be used

= Universal toolholder for all sizes

= Sealing disc is no longer required — cost and logistics saving

R IhZH] Success Story

YR Situation

XETH
Spinal Support Element

#LFR: Machine: INDEX G 200
T{4%: Parts: 1500
##l: Material: TiAI6V4

i@ R7 = Solution

Z Ak Customer benefit

hn TR i) PR -
Reduction of the cutting time: 48s

7,82min - 7,02min = 11,39 %

TIE#E#&IRE: Increase tool life: 300 %

Z&4# . Competition:

B3 Collets DIN 6499-25

@ 6mm (ML) (Finishing)
@ 10mm (85T ) (Roughing)

YIEI3#E: Cutting data:
#&MX: Finishing:
Vc=75,36 fz=0,05
#1T: Roughing:
Vc=50,24 fz=0,08

#MI: Finishing:

S TAFE: Cutting time: 20's
TIE#4n: Tool life: 500 14 pieces
##InX: Roughing:

14/t E: Cutting time: 75's
TIE#4s: Tool life: 500 14 pieces

I H:Tool:
TER0600/25 (1T ) (Finishing)
TER1000/25 (#8A0T ) (Roughing)

YIEIE#E . Cutting data:
#EHNL: Finishing:

Vc = 84,78 fz=0,06
#8/nT: Roughing

Vc =50,24 fz=0,2

#¥&MI: Finishing:

fnTEiE: Cutting time: 17s
TIE % & Tool life: 1500 {4 pieces
#/T: Roughing:

ST AFE: Cutting time: 30's
TIEH&: Tool life: 1500 {4 pieces

B AITE: Cost calculation:
FANTEHETAVIEIEE:
Reduction of the cutting time:
48s / I work piece

T 4. Parts: 1500 4 pieces
HLERIEZE: Machine cost:
|HR3EIT 3 €/min

PR & Cost reduction:

35500 €
35.000 €
34.500 €
34.000 € -3.600 € ——|
33500 €
33.000 €
32500 €
32.000 €
31500 €

Wettbewerb Competition Bilz

ThermoGrip® 67

MMS/MQL TER LNE TSFV JD/JDF/BT AD/ADF CAT HSK

Appendix



TER
Bk Shrink Fit Adaptor

: L
] - i
=—| =
N e e - 2 o
TER a8
s iTEs
Designation Ident No.
TER.../11 ER11/4008E
3 TER0300/11 5076671
4 11 18 TER0400/11 5076673
6 TER0600/11 5076674
TER.../16 ER16/426E
3 TER0300/16 5004694
4 16 275 TER0400/16 5004696
6 ’ TERO0600/16 5004697
8 TERO0800/16 5004698
TER.../20 ER20/428E
6 TER0600/20 5004699
8 20 31,5 TER0800/20 5004700
10 TER1000/20 5004701
TER.../25 ER25/430E
3 TERO0300/25 5004702
4 TER0400/25 5004703
6 TER0600/25 5004705
8 o5 34 TER0800/25 5004706
10 TER1000/25 5004707
12 TER1200/25 5004708
14 TER1400/25 5004709
16 TER1600/25 5004710
TER.../32 ER32/470E
6 TER0600/32 5004711
8 TER0800/32 5004712
10 TER1000/32 5004713
12 30 40 TER1200/32 5004714
14 TER1400/32 5004715
16 TER1600/32 5004717
18 TER1800/32 5004718
20 TER2000/32 5004719

FEMMHEIEIS8TT Required Accessories see page 88

68 ThermoGrip®



TER

Bk Shrink Fit Adaptor

D1

@DA

TER - %7 Inch 1
D1 DA L £l iTRS
[Inch] [Inch] [Inch] Designation Ident No.
TER.../16 ER16/426E
0.125 TER0318/16 5059311
0.156 TER0397/16 5089047
0.187 0,67 1,22 TERO0476/16 5068405
0.250 TER0635/16 5059313
0.312 TER0794/16 5089048
TER.../20 ER20/428E
0.125 TER0318/20 5068413
0.156 TER0397/20 5089049
0.250 0,83 1,22 TER0635/20 5059315
0.312 TER0794/20 5089050
0.375 TER0953/20 5059316
TER.../25 ER25/430E
0.125 TERO0318/25 5068416
0.187 TERO0476/25 5068417
0.250 TER0635/25 5068419
0.312 102 138 TER0794/25 5089052
0.375 ’ ’ TER0953/25 5068420
0.437 TER1111/25 5089055
0.500 TER1270/25 5060472
0.625 TER1588/25 5068421
TER.../32 ER32/470E
0.250 TER0635/32 5059317
0.375 TER0953/32 5059318
0.500 1.30 1.57 TER1270/32 5059319
0.625 TER1588/32 5060473
0.750 TER1905/32 5068422

EEWMEFIER88TT Required Accessories see page 88

ThermoGrip® 69

MMS/MQL TER LNE TSFV JD/JDF/BT AD/ADF CAT HSK

Appendix



PR TR E T
Our Shrink Chucks and Applications

ERHUSRERETRNERN, RINMEESH N TEAZRE. BERPXEREHHN
RAR, REZFFEREMEHFRRTESMEE, WHEMNBILZEBRA R
RETSIRML 2 R EM, TEErylE.

While providing the highest quality standards in production, we strongly emphasize
application support, customer relations, and competency for solutions. Separate from
our standard range are individually designed chucks for the needs of our customers.
Sustainable solutions from Bilz offer unequalled benefits worldwide

M— T R FREEE

MMS

4*)&&%@%4‘\5 ? e @@ -

BNMRASE, HRT BNORRAFE, T8 HNOBRFE, & BTERTHECANEAR, HitARwEmGEmE

RURSRPRERR FHOREARPH  19%WAE, AL e L e )
MTEFE, BPEE &, ANROEERN RERE. TELES Due to the extremely low volume of lubricant with
ER 5!’ Eﬂﬂﬂﬁ%ﬁo fﬂﬂfﬂ‘]?ﬁﬁo Minimal Qualtlty Lubricant (MQL) technology, it's very

important to deliver the lubricant precisely on target
and with the exact quantity needed directly to the point

of the tool.
F— R HIBilz MQLTIARAE 2 TI4R AT A 52 4 52 AR i Le 4k
i :
Personnel safety Environment Economy The new generation of Bilz MQL synchro chucks can
Our solutions deliver Our solutions stand Our solutions reduce completely overcome both of these challenges as a
employee protection for reduced sourcing costs up to 19 %, toolholder:
and safety at work by and maintenance cost reduce the useage > RILHE
maintaining a hazard- as well as reduced dramatically, and the SRS AR TTIARE, TR RIES 2D 78 53
free working environ- disposal issues and expensive disposal of £/, TSEittEms| R,
ment and minimizing  increased tool life. coolant is not needed. ~ Optimized sealed design
skin problems. provides loss-free lubricant delivery.

The design of the toolholder guarantees that all
lubricant is applied immediately, no lubricant loss
due to flow problems.

- BPed4E
R ENRIAZ IR [5) 7] O B AR TR A E SR 5K
- Immediate lubricant
delivery for delay-free flow of the aerosol without
any loss in pressure up to the tool tip

ERiRm: RRNEREITHERNEERRS
DAt S T ZIRARAE !

Your advantage: with optimal leak prevention,
we deliver lubricant from the very first second

— loss-free.

70 ThermoGrip®



MMS
MQL

HEE RS (HorkosAREF] ) WIBIE R 5

1-Channel system licence of Horkos Corp. 2-Channel System

1 : BHE
- L Coolant tube

KR TI25T

Length presetting screw

T... ThermoGrip® T... ThermoGrip® Typ

MQ1 % MQ2 #E%H n
MQL1 18 & A% MQL2W 238 5& %4 ( Bielomatik )

N 10 KK E TR N 102 KK ETIS

¥ |
)e with 9D T... ThermoGrip® typewith @D
MQ1 Minimal quantit !_ubrication MQ1 Minimal quantity |
System MQL-2-Channel System (Bielomatik)

FTFMQLE 25 2i51hI0 L /R 2% Wik -
Check list for MQL at www.bilz.de or direct via QR Code:

*EhE#{EBER<?>R Balancing Information, page <?> ThermoGrip® 71

MMS/MQL TER LNE TSFV JD/JDF/BT AD/ADF CAT HSK

Appendix



MMS 1BRBERS nunm
MQL 1-Channel-System shrink Ghucks

’green

tec

A
L1
4>N
E—
f@z
— =t ===t —t- D1
o anzs
7 \ \\
di- Skt
(1) (2]
# AT o D 0 @ SR ST ARET
Shrink Chucks 25000/ | <3um) (25.000 ' Supply unit (1 Setting screw 2}
D1 A L1 B TS UE-Type TS AES-Type iITES
[mm] | [mm] | [mm] Designation Ident No. i BILZ Ident No. BILZ Ident No.

6 | 80 | 36 |TOB00-MQ1-80/HSK-A63/0001 | 5056416 T0600-3B-63 | 5056199

8 | 80 36 | TOB00-MQ1-80/HSK-A63/0001 | 5050219 | 4,6 4 | T0800-3B-63 | 5050206
10 | 85 | 40 | T1000-MQ1-85/HSK-A63/0001 | 5050220 T1000-3B-63 | 5049429
12 | 90 | 45 |T1200-MQi-90/HSK-A63/0001 | 5058016 T1200-3B-63 | 5056207
14 | 90 | 45 |T1400-MQ1-90/HSK-A63/0001 | 5050221 T1400-3B-63 | 5050207
16 | 95 | 48 |T1600-MQ1-95/HSK-A63/0001 | 5058017 UEB-HSK63 (15050204 T1600-3B-63 | 5056213
18 | 95 | 48 |T1800-MQi-95/HSK-AB3/0001 | 5058018 | 5,8 5 | T1800-3B-63 | 5056219
20 | 100 | 50 |T2000-MQ1i-100/HSK-A63/0001 | 5058019 T2000-3B-63 | 5049430
25 | 115 | 56 | T2500-MQ1-115/HSK-A63/0001 | 5058020 T2500-3B-63 | 5056216
32 | 120 | 60 | T3200-MQ1i-120/HSK-A63/0001 | 5058021 T3200-3B-63 | 5057000

6 36 | TOBO0-MQ1-120/HSK-A63/0001 | 5074641 | 2,3 2 |T0600-3B-32 | 5056966

8 | 120 | 36 | T0B00-MQ1-120/HSK-A63/0001 | 5051301 | 3.45 3 |T0800-3B-40 | 5051305
10 40 | T1000-MQ1-120/HSK-A63/0001 | 5076833 | 4.6 4 | T1000-3B-50 | 5050209
12 45 | T1200-MQ1-120/HSK-A63/0001 | 5076835 T1200-3B-63 | 5056207
14 45 | T1400-MQ1-120/HSK-A63/0001 | 5076836 UE6-HSKE3 i T1400-3B-63 | 5050207
16 | 120 | 48 | T1600-MQ1-120/HSK-A63/0001 | 5076837 | 5.8 5 [T1600-3B-63 | 5056213
18 48 | T1800-MQ1-120/HSK-A63/0001 | 5076838 T1800-3B-63 | 5056219
20 50 | T2000-MQ1-120/HSK-A63/0001 | 5076840 T2000-3B-63 | 5049430

6 36 | T0600-MQ1-160/HSK-A63/0001 | 5054945 | 2.3 2 |T0600-3B-32 | 5056966

8 | 160 | 36 | T0B00-MQ1-160/HSK-A63/0001 | 5054946 | 3.45 3 |T0800-3B-40 | 5051305
10 40 | T1000-MQ1-160/HSK-A63/0001 | 5050222 | 4.6 4 | T1000-3B-50 | 5050209
12 45 | T1200-MQ1-160/HSK-A63/0001 | 5054947 T1200-3B-63 | 5056207
14 45 | T1400-MQ1-160/HSK-A63/0001 | 5054948 T1400-3B-63 | 5050207
16 48 | T1600-MQ1-160/HSK-A63/0001 | 5054949 UEE-HSKE3 [Reiobet T1600-3B-63 | 5056213
18 | 160 | 48 | T1800-MQ1-160/HSK-AB3/0001 | 5054950 | 5.8 5 | T1800-3B-63 | 5056219
20 50 | T2000-MQ1-160/HSK-A63/0001 | 5054951 T2000-3B-63 | 5049430
25 56 | T2500-MQ1-160/HSK-A63/0001 | 5054952 T2500-3B-63 | 5056216
32 60 | T3200-MQ1-160/HSK-A63/0001 | 5054953 T3200-3B-63 | 5057000

Zitak: SaXAERERATIET

Delivery package: supply unit & setting screw

72 ThermoGrip® *#hFE#E{E BER<?>TT Balancing Information, page <?7>



MQL 2XUBIE RS muns
MQL 2-Channel-System shrink chucks

’green

tec

CAT HSK

AD/ADF

B TR
Shrink Chucks

A ERET
Setting screw (2]

D1

[mm] | [mm] | [mm]

.

L1

G2,5)) [ _» | [ max. REHER BT
Swovo @
=

gg =
Designation

TS

Ident No.

UE-Type
BILZ

iTEsS

Ident No.

AES-Type
BILZ

iTES

Ident No.

6 80 36 T0600-MQ2-80/HSK-A63/0001 | 5043587 | 1,6 | UE5-HSK63-50/1 | 50387176 | 1,5 | T0600-2B-63/1 | 5037179
T0600-MQ2-80/HSK-A63/0002 | 5043590 & 2,3 | UE5-HSK63-50/2 | 5037289 | 2,0 | T0600-2B-63/2 | 5041227

8 80 36 T0800-MQ2-80/HSK-A63/0001 | 5043818 | 1,6 | UE5-HSK63-50/1 | 5037176 | 1,5 | T0800-2B-63/1 | 5037263
T0800-M Q2-80/HSK-A63/0002 | 5043819 | 2,3 | UE5-HSK63-50/2 | 5037289 | 2,0 | T0800-2B-63/2 | 5041243

10 85 40 T1000-MQ2-85/HSK-A63/0001 | 5043820 | 1,6 | UE5-HSK63-50/1 | 5037176 | 1,5 | T1000-2B-63/1 | 5041380
T1000-MQ2-85/HSK-A63/0002 | 5043821 @ 2,3 | UE5-HSK63-50/2 | 5037289 | 2,0 | T1000-2B-63/2 | 5037285
T1200-MQ2-90/HSK-A63/0001 | 5043823 | 1,6 | UE5-HSK63-49/1 | 5043830 | 1,5 | T1200-2B-63/1 | 5041379

12 90 45 | T1200-MQ2-90/HSK-A63/0002 | 5043824 | 2,3 | UE5-HSK63-49/2 | 5039864 | 2,0 | T1200-2B-63/2 | 5037301
T1200-MQ2-90/HSK-A63/0003 | 5043825 | 3,4 | UE5-HSK63-49/3 | 5038801 | 3,0 | T1200-2B-63/3 | 5041250
T1400-MQ2-90/HSK-A63/0001 | 5043826 & 1,6 | UE5-HSK63-49/1 | 5043830 | 1,5 | T1400-2B-63/1 | 5041377

14 90 45 | T1400-MQ2-90/HSK-A63/0002 | 5043827 | 2,3 | UE5-HSK63-49/2 | 5039864 | 2,0 | T1400-2B-63/2 | 5041378
T1400-MQ2-90/HSK-A63/0003 | 5043828 | 3,4 | UE5-HSK63-49/3 | 5038801 | 3,0 | T1400-2B-63/3 | 5037323
T1600-MQ2-95/HSK-A63/0001 | 5043934 | 1,6 | UE5-HSK63-49/1 | 5043830 | 1,5 | T1600-2B-63/1 | 5041376

16 95 48 | T1600-MQ2-95/HSK-A63/0002 | 5043935 | 2,3 | UE5-HSK63-49/2 | 5039864 | 2,0 | T1600-2B-63/2 | 5037356
T1600-MQ2-95/HSK-A63/0003 | 5043936 & 3,4 & UE5-HSK63-49/3 | 5038801 | 3,0 | T1600-2B-63/3 | 5037325
T1800-MQ2-95/HSK-A63/0001 | 5043937 | 1,6 | UE5-HSK63-49/1 | 5043830 | 1,5 | T1800-2B-63/1 | 5041375

18 95 48 | T1800-MQ2-95/HSK-A63/0002 | 5043939 | 2,3 | UE5-HSK63-49/2 | 5039864 | 2,0 | T1800-2B-63/2 | 5041236
T1800-MQ2-95/HSK-A63/0003 | 5043940 @ 3,4 | UE5-HSK63-49/3 | 5038801 | 3,0 | T1800-2B-63/3 | 5037329
T2000-MQ2-100/HSK-A63/0002 | 5043953 | 2,3 | UE5-HSK63-49/2 | 5039864 | 2,0 | T2000-2B-63/2 | 5041382

20 | 100 50 |T2000-MQ2-100/HSK-A63/0003 | 5043954 | 3,4 | UE5-HSK63-49/3 | 5038801 | 3,0 | T2000-2B-63/3 | 5041400
T2000-MQ2-100/HSK-A63/0004 | 5043955 & 4,6 | UE5-HSK63-50/4 | 5037339 | 4,0 | T2000-2B-63/4 | 5037338
T2500-MQ2-115/HSK-A63/0002 | 5043956 | 2,3 | UE5-HSK63-54/2 | 5043968 | 2,0 | T2500-2B-63/2 | 5041384

25 115 56 | T2500-MQ2-115/HSK-A63/0003 | 5043957 | 3,4 | UE5-HSK63-54/3 | 5043969 | 3,0 | T2500-2B-63/3 | 5041385
T2500-MQ2-115/HSK-A63/0004 | 5043958 @ 4,6 | UE5-HSK63-54/4 | 5039132 | 4,0 | T2500-2B-63/4 | 5037344
T3200-MQ2-120/HSK-A63/0002 | 5043965 | 2,3 | UE5-HSK63-54/2 | 5043968 | 2,0 | T3200-2B-63/2 | 5041386

32 120 60 | T3200-MQ2-120/HSK-A63/0003 | 5043966 | 3,4 | UE5-HSK63-54/3 | 5043969 | 3,0 | T3200-2B-63/3 | 5041387
T3200-MQ2-120/HSK-A63/0004 | 5043967 | 4,6 | UE5-HSK63-54/4 | 5039132 | 4,0 | T3200-2B-63/4 | 5041388

Za%: GaXANERGRETIET

Delivery package: supply unit & setting screw

*HE#H{EBEF<?>% Balancing Information, page <?7>

| MQL 2XiEiE &% MQL 2-channel system
EE X1 Circle area

ZiEFLE O Tube bore @

di, mm Ae, mm?2
1,6 2,01
2,3 4,15
3,4 9,08
4,6 16,62

ThermoGrip®

73

MMS/MQL TER LNE TSFV JD/JDF/BT

Appendix



MQL 2XUBIE RS muns
MQL 2-Channel-System shrink chucks

’green

tec

L1

di- \- Skt

(1] (2]
Bk 714 G25)) [ _w | (max @ WEE RIS T A ERET
Shrink Chucks 25.000] | <3um) (24.000 ' Supply unit (1) Setting screw (2}
D1 | A | L1 B iT%S UE-Type iTES AES-Type iTES
[mm]|[mm]|[mm] Designation Ident No. i BILZ Ident No. BILZ Ident No.

6 120 | 36 T0600-MQ2-120/HSK-A63/0001 = 1,6 | UE5-HSK63-90/1 | 5037264 | 1,5 | T0600-2B-32/1 | 5037207
T0600-MQ2-120/HSK-A 63/0002 = 2,3 | UE5-HSK63-90/2 | 5039009 | 2,0 | TO600-2B-32/2 | 5041398

8 1120 | 36 T0800-MQ2-120/HSK-A63/0001 | 5072972 | 1,6 | UE5-HSK63-90/1 | 5037264 | 1,5 |T0800-2B-40/1 | 5037266
T0800-MQ2-120/HSK-A63/0002 = 2,3 |UE5-HSK63-90/2 | 5039009 | 2,0 | T0800-2B-40/2 | 5038976

10 l120 | 40 T1000-MQ2-120/HSK-A63/0001 = 1,6 | UE5-HSK63-85/1 | 5044847 | 1,5 | T1000-2B-50/1 | 5041389
T1000-MQ2-120/HSK-A63/0002 = 2,3 | UE5-HSK63-85/2 | 5037300 | 2,0 | T1000-2B-50/2 | 5037290
T1200-MQ2-120/HSK-A63/0001 = 1,6 | UE5-HSK63-79/1 | 5045174 | 1,5 | T1200-2B-63/1 | 5041379

12 120 | 45 |T1200-MQ2-120/HSK-A63/0002 | 5072397 | 2,3 | UE5-HSK63-79/2| 5039011 | 2,0 | T1200-2B-63/2 | 5037301
T1200-MQ2-120/HSK-A 63/0003 = 3,4 | UE5-HSK63-79/3 | 5037303 | 3,0 | T1200-2B-63/3 | 5041250
T1400-MQ2-120/HSK-A63/0001 = 1,6 | UE5-HSK63-79/1| 5045174 | 1,5 | T1400-2B-63/1 | 5041377

14 120 | 45 |T1400-MQ2-120/HSK-A63/0002 = 2,3 |UE5-HSK63-79/2 | 5039011 | 2,0 | T1400-2B-63/2 | 5041378

T1400-MQ2-120/HSK-A63/0003 | 5132223 | 3,4 | UE5-HSK63-79/3 | 5037303 | 3,0 |T1400-2B-63/3 | 5037323
T1600-MQ2-120/HSK-A63/0001 = 1,6 | UE5-HSK63-74/1 | 5069074 | 1,5 | T1600-2B-63/1 | 5041376
16 120 | 48 |T1600-MQ2-120/HSK-A63/0002 | 5080820 | 2,3 | UE5-HSK63-74/2| 5039010 | 2,0 | T1600-2B-63/2 | 5037356

T1600-MQ2-120/HSK-A 63/0003 = 3,4 | UE5-HSK63-74/3 | 5037327 | 3,0 | T1600-2B-63/3 | 5037325
T1800-MQ2-120/HSK-A63/0001 | 5069152 | 1,6 | UE5-HSK63-74/1| 5069074 | 1,5 |T1800-2B-63/1 | 5041375
18 120 | 48 |T1800-MQ2-120/HSK-A63/0002 = 2,3 | UE5-HSK63-74/2 | 5039010 | 2,0 | T1800-2B-63/2 | 5041236
T1800-MQ2-120/HSK-A63/0003 = 3,4 |UE5-HSK63-74/3 | 5037327 | 3,0 | T1800-2B-63/3 | 5037329
T2000-MQ2-120/HSK-A63/0002 = 2,3 | UE5-HSK63-70/2 = 2,0 | T2000-2B-63/2 | 5041382
20 120 | 50 |T2000-MQ2-120/HSK-A63/0003 = 3,4 | UE5-HSK63-70/3 3,0 | T2000-2B-63/3 | 5041400

T2000-MQ2-120/HSK-A63/0004 = 4,6 | UE5-HSK63-70/4 | 5043481 | 4,0 | T2000-2B-63/4 | 5037338

L% GRRABERERFTIES
Delivery package: supply unit & setting screw

74 ThermoGrip® *#hFE#E{E BER<?>TT Balancing Information, page <?7>



MQL 2XGEIE R S5 wmnwm

MQL 2-Channel-System shrink chucks

’green

tec

A
L1
4>N
fffffff —=—-——- D1
di- Skt
(1] (2]
B T G25)) [ _» | [max. @ REMER BT W TRET
Shrink Chucks 25000/ |<3pm| (24.000 ' Supply unit (1) Setting screw (2}

D1

[mm]|[mm]|[mm]

A

L1

ns
Designation

TS
Ident No.

iTEsS

Ident No.

AES-Type
BILZ

iTES

Ident No.

6 160 | 36 T0600-MQ2-160/HSK-A63/0001 | 5069141 | 1,6 | UE5-HSK63-130/1 | 5037370 | 1,5 | T0600-2B-32/1 | 5037207
T0600-MQ2-160/HSK-A63/0002 = 2,3 | UE5-HSK63-130/2 | 5039133 | 2,0 | T0600-2B-32/2 | 5041398

8 160 | 36 T0800-MQ2-160/HSK-A63/0001 | 5072395 | 1,6 | UE5-HSK63-130/1 | 5037370 | 1,5 | T0800-2B-40/1 | 5037266
T0800-MQ2-160/HSK-A63/0002 = 2,3 | UE5-HSK63-130/2 | 5089133 | 2,0 | T0800-2B-40/2 | 5038976

10 160 | 40 T1000-MQ2-160/HSK-A63/0001 | 5069142 | 1,6 | UE5-HSK63-125/1 = 1,5 | T1000-2B-50/1 | 5041389
T1000-MQ2-160/HSK-A63/0002 = 2,3 | UE5-HSK63-125/2 | 5041254 | 2,0 | T1000-2B-50/2 | 5037290
T1200-MQ2-160/HSK-A63/0001 | 5072399 | 1,6 | UE5-HSK63-119/1 | 5072402 | 1,5 |T1200-2B-63/1 | 5041379

12 160 | 45 |T1200-MQ2-160/HSK-A63/0002 = 2,3 | UE5-HSK63-119/2 | 5041246 | 2,0 |T1200-2B-63/2 | 5037301
T1200-MQ2-160/HSK-A63/0003 = 3,4 | UE5-HSK63-119/3 | 5041251 | 3,0 | T1200-2B-63/3 | 5041250
T1400-MQ2-160/HSK-A63/0001 = 1,6 | UE5-HSK63-119/1 | 5072402 | 1,5 | T1400-2B-63/1 | 5041377

14 160 | 45 | T1400-MQ2-160/HSK-A63/0002 = 2,3 | UE5-HSK63-119/2 | 5041246 | 2,0 | T1400-2B-63/2 | 5041378
T1400-MQ2-160/HSK-A63/0003 = 3,4 | UE5-HSK63-119/3 | 5041251 | 3,0 | T1400-2B-63/3 | 5037323
T1600-MQ2-160/HSK-A63/0001 | 5069149 | 1,6 | UE5-HSK63-114/1 | 5069071 | 1,5 |T1600-2B-63/1 | 5041376

16 160 | 48 |T1600-MQ2-160/HSK-A63/0002 = 2,3 | UE5-HSK63-114/2 = 2,0 |T1600-2B-63/2 | 5037356
T1600-MQ2-160/HSK-A63/0003 = 3,4 | UE5-HSK63-114/3 | 5102531 | 3,0 | T1600-2B-63/3 | 5037325
T1800-MQ2-160/HSK-A63/0001 | 5069153 | 1,6 | UE5-HSK63-114/1 | 5069071 | 1,5 | T1800-2B-63/1 | 5041375

18 160 | 48 |T1800-MQ2-160/HSK-A63/0002 = 2,3 | UE5-HSK63-114/2 = 2,0 | T1800-2B-63/2 | 5041236
T1800-MQ2-160/HSK-A63/0003 = 3,4 | UE5-HSK63-114/3 | 5102531 | 3,0 | T1800-2B-63/3 | 5037329
T2000-MQ2-160/HSK-A63/0002 | 5069154 | 2,3 | UE5-HSK63-110/2 | 5069072 | 2,0 | T2000-2B-63/2 | 5041382

20 160 | 50 |T2000-MQ2-160/HSK-A63/0003 = 3,4 | UE5-HSK63-110/3 = 3,0 | T2000-2B-63/3 | 5041400
T2000-MQ2-160/HSK-A63/0004 = 4,6 | UE5-HSK63-110/4 | 5101838 | 4,0 | T2000-2B-63/4 | 5037338
T2500-MQ2-160/HSK-A63/0002 = 2,3 | UE5-HSK63-99/2 = 2,0 |T2500-2B-63/2 | 5041384

25 160 | 56 |T2500-MQ2-160/HSK-A63/0003 = 3,4 | UE5-HSK63-99/3 = 3,0 |T2500-2B-63/3 | 5041385
T2500-MQ2-160/HSK-A63/0004 = 4,6 | UE5-HSK63-99/4 | 5037346 | 4,0 | T2500-2B-63/4 | 5037344
T3200-MQ2-160/HSK-A63/0002 = 2,3 | UE5-HSK63-94/2 | 5069073 | 2,0 | T3200-2B-63/2 | 5041386

32 160 | 60 |T3200-MQ2-160/HSK-A63/0003 | 5069156 | 3,4 | UE5-HSK63-94/3 = 3,0 |T3200-2B-63/3 | 5041387
T3200-MQ2-160/HSK-A63/0004 = 4,6 | UE5-HSK63-94/4 = 4,0 |T3200-2B-63/4 | 5041388

RfHE%E: EERANERERIATIEST
Delivery package: supply unit & setting screw

*HE#H{EBEF<?>% Balancing Information, page <?7>

ThermoGrip®

75

MMS/MQL TER LNE TSFV JD/JDF/BT AD/ADF CAT HSK

Appendix



UEREE: )

Adjusting Screws

!

N

SW

T... ¥ IR5T T... Adjusting screws

BS TS

Designation Ident No.

3 M6 16 3 BN158-0616-1.5 6954747
4 M6 10 3 BN158-0610 6946782
5 M6 10 3 BN158-0610 6946782
6 M5 18 2,5 T0600-2-M5x18 6947302
8 M6 20 3 T0800-2-M6x20 6947303
10 M8x 1 20 4 T1000-2-M8x1x20 6952015
11 M8x 1 20 5 T1000-2-M8x1x20 6952015
12 M10x1 15 5 T1200-2-M10x1x15 6952444
14 M10x1 15 5 T1200-2-M10x1x15 6952444
15 M12x1 20 6 T1600-2-M12x1x20 6952017
16 M12x1 20 6 T1600-2-M12x1x20 6952017
18 M12x1 20 6 T1600-2-M12x1x20 6952017
20 M16x1 20 8 T2000-2-M16x1x20 6952018
22 M16x1 20 8 T2000-2-M16x1x20 6952018
25 M16x1 20 8 T2000-2-M16X1x20 6952018
28 M16x1 20 8 T2000-2-M16X1x20 6952018
32 M16x1 20 8 T2000-2-M16X1x20 6952018

TSF... 54847 TSF... Adjusting screws

3 =1
1 45

n= ws

Designation Ident No.

3 M6 16 3 BN158-0616-1.5 6954747
4 M6 10 3 BN158-0610 6946782
5 M6 10 3 BN158-0610 6946782
6 M5 15 2,5 T0600-2-M5x18 6952890
8 M6 16 3 T0800-2-M6x16 6950028
10 M8x 1 15 4 T1000-2-M8x1x15 6952442
12 M10x1 15 5 T1200-2-M10x1x15 6952444
14 M10x1 15 5 T1200-2-M10x1x15 6952444
16 M12x1 15 6 T1600-2-M12x1x15 6952445
18 M12x1 20 6 T1600-2-M12x1x20 6952017
20 M16x 1 15 8 T2000-2-M16x1x15 6952529
25 M16x1 15 8 T2000-2-M16x1x15 6952529

THD... %1847 THD... Adjusting screws

e

Designation

TS
Ident No.

16 M12x1 20 6 T1600-2-M12x1x20 6952017
20 M16x1 20 8 T2000-2-M16x1x20 6952018
25 M16x1 20 8 T2000-2-M16x1x20 6952018
32 M16x1 20 8 T2000-2-M16x1x20 6952018

76  ThermoGrip®




EITIKETuEE

Measuring Adaptor for Length Presetting

TS
Ident No.

Designation

6 2,5 80 | T3-M0600 6725959

8 3,0 80 | T3-M0800 6725962
10 4,0 80 | T3-M1000 6725963
12 5,0 80 | T3-M1200-SW5 6726111
14 5,0 80 | T3-M1400-SW5 6726112
16 6,0 80 | T3-M1600 6725967
18 6,0 80 | T3-M1800 6725968
20 8,0 80 | T3-M2000 6725969
25 8,0 80 | T3-M2500 6725970
32 8,0 80 | T3-M3200 6725971

ERAFE:
Tk (B) MATIME (A) BFERGTRNCERTEZ,
JIR (C) MAFAEZ (B) B,

XY BB EERARETRKE, FTEL, REMEFHRYT,
BRH S TR E T

BATHREZFEERRST (L=80mm) , ENBKHEZE,
ERTIEKE,
#5: BB (B) MiEZNERE, TUSHMIMRT,

RE&RET

®iE, %718 (C) M\FAs (B) s, BHRENTIMH (A) o

EH—=
XFFIRAKER TRITESR, Rg ZEmMBERARARE 71
B2 TIHK BRI LB S T

MAr-iz
XTI EE R T ARER K EREL

THEEF
HTEAESR, FErHERErE, mMEETUESHEERIIRT
ERMRIETZERE,

Low Price - Big Effect

The ThermoGrip® Measuring Adaptor is the low cost entry into pre-
setting and is characterized by its simple handling and versatility. The
length of the tool holder can be preset independently by the clamp-
ing device.

One for all
The ThermoGrip® Measuring Adaptor works on all standard
length presetting machines.

Cost reduction

Due to simple handling, time can be saved. The ThermoGrip®
Measuring Adaptor guarantees process security in production
due to higher dimensional accuracy at the length presetting.

Measurement Process

The measuring adaptor (B) is put into the ThermoGrip® shrink
chuck (A) and locks into the hexagon of the length presetting
screw.

The tool (C) is inserted into the measuring adaptor (B).

By turning the measuring adaptor (B) the tool length is determined
via the adjusting screw with the help of a presetting device.

The measuring adaptor (B) is then taken out of the ThermoGrip®
shrink chuck.

The differential dimension (L) (L = 80mm) has to be considered
during adjustment. This stored value has to be deducted from the
total length.

Tip: Make sure not to turn the measuring adaptor (B) when taking
it out. Otherwise the length adjusting screw is displaced and the
total length is readjusted.

As a last step, you put the tool (C) without measuring adaptor

into the counterbore of the ThermoGrip® shrink chuck (A) and
shrink it on the ISG machine of your own choice.

ThermoGrip® 77

MMS/MQL TER LNE TSFV JD/JDF/BT AD/ADF CAT HSK

Appendix



TIRFETIREREE (MQL 1 + 2 #@E)
Universal Measuring Adaptor (MQL 1 + 2 Channel)

di d2 iTES

Designation [mm] [mm] [mm] [mm] Ident No.
T3-M0600/0001 6 25 115 80 50 10 2,0 1,5 - 5046404
T3-M0600/0002 6 25 115 80 50 10 3,0 2,5 - 5046406
T3-M0600/0003 6 25 115 80 50 10 4,0 - - 5046407
T3-M0800/0001 8 25 115 80 50 10 2,0 1,5 - 5046461

T3-M0800/0002 8 25 115 80 50 10 3,0 - - 5046462
T3-M0800/0003 8 25 115 80 50 10 4,0 - - 5046463
T3-M1000/0001 10 25 115 80 50 10 2,0 1,5 - 5046464
T3-M1000/0002 10 25 115 80 50 10 4,0 3,0 - 5046466
T3-M1200/0001 12 25 115 80 50 10 3,0 2,0 1,5 5046468
T3-M1200/0002 12 25 115 80 50 10 5,0 4,0 - 5046469
T3-M1400/0001 14 25 115 80 50 10 3,0 2,0 1,5 5046470
T3-M1400/0002 14 25 115 80 50 10 5,0 4,0 - 5046471

T3-M1600/0001 16 25 120 85 55 10 3,0 2,0 1,5 5046472
T3-M1600/0002 16 25 120 85 55 10 6,0 5,0 4,0 5046473
T3-M1800/0001 18 30 120 85 55 10 3,0 2,0 1,5 5046474
T3-M1800/0002 18 30 120 85 55 10 6,0 5,0 4,0 5046475
T3-M2000/0001 20 30 135 90 65 10 4,0 3,0 2,0 5046476
T3-M2000/0002 20 30 135 90 65 10 8,0 5,0 - 5046477
T3-M2500/0001 25 35 140 100 70 10 4,0 3,0 2,0 5046478
T3-M2500/0002 25 35 140 100 70 10 8,0 5,0 - 5046479
T3-M3200/0001 32 45 150 100 70 10 4,0 3,0 2,0 5046480
T3-M3200/0002 32 45 150 100 70 10 8,0 5,0 - 5046482

=

78 ThermoGrip®



ENKEIFALRR
Length Adjusting Sleeve

KERTERFAERNEEMHTIHNKE, BEFEEERNR
SHHSUR, ARBIIEMIBMNAKIIREINIL, TEEERIEHE
R, TETEHSE, REMRTIME, NTETEEIEMEIIEM,

The length adjusting sleeve makes it possible to determine exactly
how far the cutting tools come out of the shrink chuck. The slide is
adjusted to the required length and clamped in.

The cutting tool is then inserted into the bore hole, pressed against
the plastic stop and clamped. This way the cutter is inserted into
the hot shrink chuck up to the stop.

Ll

P
o bl o
- -l

[ARRRRRRRR RN

UL TS

Designation Ident No.

3mm 5-25mm T3-LS0300-5-25 5021284
3mm 30 - 50mm T3-LS0300-30-50 5032090
4mm 5-25mm T3-LS0400-5-25 5021285
4mm 30 -50mm T3-LS0400-30-50 5032091
5mm 5-25mm T3-LS0500-5-25 5021286
5mm 30 - 50mm T3-LS0500-30-50 5032092
6mm 10 - 35mm T3-LS0600-10-35 5021287
6mm 35-60mm T3-LS0600-35-60 5032093
8mm 10 - 35mm T3-LS0800-10-35 5021288
8mm 35 -60mm T3-LS0800-35-60 5032094
10mm 15 -50mm T3-LS1000-15-50 5021289
10mm 35 -60mm T3-LS1000-35-60 5032095
12mm 15 -50mm T3-LS1200-15-50 5021290
16mm 30 -65mm T3-LS1600-30-65 5032102

ThermoGrip® 79

MMS/MQL TER LNE TSFV JD/JDF/BT AD/ADF CAT HSK

Appendix



SKT7J#H$TDIN 1ISO 7388-3

Pull Stud DIN ISO 7388-3

L1

Form AD #KAFL, A# OB With through hole, without O-ring

Designatio ae O
M12 13 9 13 44 24 15° BN 164-SK 30 6733614
M16 19 14 17 54 26 15° BN 164-SK 40 6733615
M24 28 21 25 74 34 15° BN 164-SK50 6733616
,Vj
L1
L
Form AF RER47L, B&OME Without through hole, incl. O-ring
D D D O = =

Designatio de O
M16 19 ” 17 54 26 15° BN 164B-SK40 5056290
M24 28 21 25 74 34 15° BN 164B-SK 50 5056292

80 ThermoGrip®




BT71##£TDIN ISO 7388-3

Pull Stud DIN ISO 7388-3

©03

L1

=

il
i

Form JD #HRK4FL, A#OME With through hole, without O-ring

M12 11 7 12,5 43 23 45° BN 164-BT30 6733617
M16 15 10 17 60 35 45° BN 164 -BT40 6733618
M24 23 17 25 85 45 45° BN 164-BT50 6733619
M12 11 7 12,5 43 23 60° BN 164 -BT30-60 4600614
M16 15 10 17 60 35 60° BN 164 -BT40-60 4600882
M24 23 17 25 85 45 60° BN 164 -BT50-60 4601402
M16 15 10 17 60 35 90° BN 164 -BT40-90 4600959
M24 23 17 25 85 45 90° BN 164 -BT50-90 4601404
ok ]
g ﬁa
% : ‘é :
L1
|
Form JD W& FL, B&OMFE With through hole, incl. O-ring
D D D O = =

Designatio de O
M12 11 7 12,5 43 23 45° BN 164-BT30 4600613
M16 15 10 17 60 35 45° BN 164 -BT40 4600957
M24 23 17 25 85 45 45° BN 164-BT50 4601460
M12 11 7 12,5 43 23 60° BN 164 -BT30-60 5084973
M16 15 10 17 60 35 60° BN 164 -BT40-60 4600958
M24 23 17 25 85 45 60° BN 164 -BT50-60 4601461
M16 15 10 17 60 35 90° BN 164 -BT40-90 5084974
M24 23 17 25 85 45 90° BN 164 -BT50-90 4602462

ThermoGrip®

81

MMS/MQL TER LNE TSFV JD/JDF/BT AD/ADF CAT HSK

Appendix



HAEEAEI A
Assembly Instructions Coolant Transfer Set

O[] ( i&iMAY ) O-ring (to be greased)
Je#54EME Clamping nut TEEORE

Socket spanner with T handle

¥ H%E Coolant tube

R E

Coolant transfer set

1. HSKTI#RAMHE IR TS, XBREEH%RE.

The HSK shank must be clean and free from swarf and damage.
2. FERIFEORIE Lk i,

Grease the O-rings before assembly.
3. EEMANRHNERN (RAEPRBEFI2/0RE ) , X HEHSKTIHE,

Completely insert the coolant transfer set (coolant tube, clamping nut and
2 O-rings) centrically into the HSK.

4. PIRIEH,
Screw in the coolant transfer set/unit.
5. WEALHERTHEEE®I,
Check the coolant tube for radial movement.

= /@
‘}E'_""""_' E H g 7 I e \
---------- 4 i
L
% #%E Coolant pipe BHEREMF Installation wrench for coolant pipe
g S i8S mAHIE TS
Size Designation Ident No. Max. torque Ident No.
HSK25 | UE4 HSK25 5100005 [Nm]
HSK32 UE4 HSK32 5064893 HSK25 6,8 132 3 5100007
HSK 40 UE4 HSK40 5028425 HSK32 8,5 115 7 6738740
HSK50 UE4 HSK50 5028426 HSK40 10,5 115 1 6738741
HSK63 UE4 HSK 63 5025376 HSK50 14,5 115 15 6738422
HSK80 UE4 HSK 80 5028427 HSK63 16,5 136 20 6738421
HSK100 UE4 HSK100 5028428 HSK80 18,5 136 25 6738095
HSK125 UE4 HSK125 5064893 HSK100 22,0 136 30 6738303

ATFHSKTItRS A teis, SFREMNEEDIN 3770FEEERE,

For coolant transfer for HSK tools incl. round gasket DIN 3770 and union nut.

82 ThermoGrip®



ISGFFFLRKA
Thermogrip® ISG-Shrink Units

NN
Starter

FHEESE

Manual coil guidance

ISG3400R 7! & EHT 153 2
[EIHERL TN TRLER

Clearly structured dialog menu
ThermoGrip® ISG3400 series
now available in entry shrink
machine STARTER

HEANEIEZTFERARE .
TIEFSHE

Ergonomic storage for inter-
changeable pole discs, tools
and cooling adaptor

BI&KESH

Automatic coil guidance

ISG3400 % 5! & & iF MR XS
E

Clearly structured dialog
menu ThermoGrip® ISG3400
series

ANRELE
4 cooling places

ThermoGrip® 83



288 Allrounder

84 ThermoGrip®

FHBHLBETLAE, TEE
e

Manual coil guiding and cool-
ing tower movement

—no compressed air required

TERISIRMTIN, BRI
HED#E SE2R .

Within a few seconds the
shrink chuck will be cooled
by ,,Cool Down* technology
without touching the hot part.

287k 58
281 liquid tank




E I Professional
LB, BIWF

Fully automatic Shrinking ,hands free“

TIEE LB IR R
Optionally available with coil
quick change system

REHEREEF=SRTRE
Improved drying feature
after the cooling process

2B HIMKREANTES
Fully automatic cooling and
drying of the shrink chuck

ThermoGrip® 85



B8 Heavy Duty
2 BHWMATEE, EERHREHAMKIIE

Fully automatic Shrinking and Cooling, also suitable for large and heavy Shrink Chucks

BRI KB THIE R, HEE
R¥RINEE

Different sizes of coil available
with coil quick change system

ATFHKTIR ZHSK-A125
RAONFTE

For shrink chucks up to HSK-
A125 and 40 kg weight

TEBERAITINE, BEHTI ‘
AR ST E,

Within a few seconds the

shrink chuck will be cooled by
»Cool Down* technology

without touching the hot part.

86 ThermoGrip®



Rk R

Pole discs one-piece

*) ZE L E2 ISG3400-2 —#2 £ &,

{7845 5129760

always delivered with coil 2 ISGS3400-2

Ident No. 5129760

AT 7 EIRERFNLL Bl < B R E A RE S kB 1P

For optimal shielding of the magnetic field between coil and tool shank

me %i335E-0 | 1SG1000 'S‘;Z;‘;“ ISG 3400 %5
Designation Clamping-0 iT#= Ident No.

Spule 1 Spule 2
ISGS1001-2 6,0 - 16 mm 5094533 - - =
ISGS2201-1 3,0-59mm | 6725758 @ 6725758 - -
ISGS2201-2 6,0 - 12 mm = 6725759 = =
ISGS2201-3 12,1 - 20 mm = 6725760 = =
ISGS3201-0 3,0-5,9mm = = 6726157 =
ISGS3201-1 6,0 - 12 mm - - 6726143 =
ISGS3201-2 12,1 — 22 mm = = 6726144 =
ISGS3201-3 221 - 32 mm = = 6726145 =
ISGS3401-100X27X10 HH7LE27 mm = - - 5137388
ISGS3401-72X100X35X20%) | # K ¥#L1235 mm - - - 5137383
ISGS3401-100X54X10 £ FFLE54 mm - — = 5137387

SeXEHER

Pole discs two-piece

d

ATIHEEXTMAEENERT

For use when the cutting diameter is bigger than the shrinking diameter

U xiEl-0 | 1561000 'SE20 1sa3400 23
Designation Clamping-@ T8£S Ident No.

Spule 1 Spule 2
ISGS2201GT-1 3,0 - 5,9 mm | 9074537 | 9074537 - -
ISGS2201GT-2 6,0 -12,0 mm | 9074538 | 9074538 = =
ISGS2201GT-3 12,1 - 20,0 mm | 9074539 | 9074539 - -
ISGS3201GT-0 3,0- 5,9 mm - - 9074540 -
ISGS3201GT-1 6,0 - 12,0 mm - - 9074541 -
ISGS3201GT-2 12,1 - 22,0 mm - - 9074542 -
ISGS3201GT-3 22,1 - 32,0 mm - - 9074543 -
ISGS3401GT-72X100X22X20, & F¥FLE22 mm - - - 5137396
ISGS3401GT-72X100X35X20|  #&FFL{E35 mm - - = 5137398
ISGS3401GT-100X54X10 #FFLES4 mm - - - 5137394

HRENWER
Pole discs TSF

2

TSFELF R MMHEER T, BT IIEMmaERL E RN &
X REBRIERE. TRAETSFIIM,

The TSF set allows TSF shrink chucks to be shrunk using the shrink machine.
The TSF discs provide optimal shielding of the magnetic field between coil and tool shank.
This guarantees safe and reliable shrinking of the TSF shrink chucks.

B Fi5EE-0 | 1ISG1000 |s%2;:;oo '3%3;;00
Designation Clamping-@ 174 S Ident No.
R

T EHHERR
1SGS..201-TSF-SET 9102759 @ 9102759 9102645
consists of the following parts
TVP-ISG-TSF Infr &
TVP-ISG-TSF storage box 6955194 ' 6955194 6955194
ISGS...201-TSF03 3 mm 9102727 = 9102727 9088924
ISGS...201-TSF04 4 mm 9102728 = 9102728 9088925
ISGS...201-TSF05 5 mm 9102749 | 9102749 9102646
ISGS...201-TSF06 6 mm 9102750 @ 9102750 9088926
ISGS...201-TSF08 8 mm 9102752 | 9102752 9088927
ISGS...201-TSF10 10 mm 9102753 | 9102753 9088928
ISGS...201-TSF12 12 mm 9102754 | 9102754 9088980
ISGS...201-TSF14 14 mm 9102755 @ 9102755 9102647
ISGS...201-TSF16 16 mm 9102756 @ 9102756 9088981
ISGS...201-TSF18 18 mm 9102757 | 9102757 9102648
ISGS...201-TSF20 20 mm 9102758 | 9102758 9088982
ISGS3201-TSF25 25 mm - - 9088983

ThermoGrip® 87

MMS/MQL TER LNE TSFV JD/JDF/BT AD/ADF CAT HSK

Appendix



AlNE PG

TER Accessories for ISG Machines

HREE, TERFKERY
Basic adaptor TER with length adjustment

KEWE, IR KERYT, IBRATESENTIEKE,
BEBATHAEFRERT, BEEHMTIRESL,

S HMAALISG ... TWKHIISG... WK, REZERLERE
T..-WWK/TER,

ST F SR ABKIISG1000F1ISG... TLK, EEFLLERE
T..-WWK/ TER # T...-W/TER,

Variable, mechanical length adjustment, can be precisely
adjusted to the required tool length.

For all clamping sizes with suitable shrink adaptor.

For water cooled shrink units ISG... TWK and ISG... WK
only the basic adaptor T...-WWK/TER is needed.

An additional adaptor T...-W/TER in combination with
the basic holder T...-WWK/TER is required for the table
shrink machines ISG 1000 and ISG... TLK.

BS TS Ident No.
Designation ISG1000 |ISG...TLK | ISG..TWK | ISG...WK
T3-WWK/TER - - 5020330
T3-WWK/TER 5020330 | 5020330
+ + + = =
T8-WWK/TER T3-W/55x114x70 T3-W/55x114x70 | 5051118 | 5051118
TER#AMERIZRE AR RIS AIREE A T EMEIRET---WWK/TER
Adaptors for shrink fit adaptors TER For safe holding of the TER shrink fit adaptor
Suitable for basic adaptor T...-WWK/TER
S ITRS
Designation Ident No.
TER 11-2 5111889
TER 16-2 5111890
TER 20-2 5111891
TER 25-2 5111892
TER 32-2 5111893

TER#BKFRE AIR#AE
Pole disc for shrink fit adaptors TER

AT IR Bl < 8 B R AR 1 & B

For optimal shielding of the magnetic field between
coil and tool shank

#fRHEZ-0| XFERE-09| DA ns iTRS
Designation Ident No.

Disc-@ Clamping-@
03-06 | ER11 | ISGS2201-TER11-1| 5065479

03-04 |ER16 ISGS2201-TER16-1 5065474

06-08 |ER16 | ISGS2201-TER16-2 5065477

1SG2400 06-10 | ER20 ISGS2201-TER20-1 5065473

Series 03 -04 | ER25| ISGS2201-TER25-1| 5065468

40 mm 06-08 | ER25 ISGS2201-TER25-2 5065470

10-16 | ER25 | ISGS2201-TER25-3| 5065472

06-14 | ER32 ISGS2201-TER32-1 5065466

16-20 | ER32  ISGS2201-TER32-2| 5065467

03-06 | ER11 ISGS3201-TER11-1| 5095918

03-04 |ER16 | ISGS3201-TER16-1| 5087772

06-08 | ER16 ISGS3201-TER16-2 5087773

ISG3400 06-10 |ER20 | ISGS3201-TER20-1| 5087774

Series 03-04 | ER25 ISGS3201-TER25-1| 5087777

54 mm 06-10 |ER25 | ISGS3201-TER25-2| 5087778

12-16 | ER25 | ISGS3201-TER25-3| 5087779

06-08 |ER32 | ISGS3201-TER32-1| 5087780

10-20 | ER32 | ISGS3201-TER32-2| 5087781

88 ThermoGrip®




HIREIE 2% TDSc System[T

T BB 1ISG3410-WK-WS
» 7E L7 P SE R BRI A2

n B SR BB E R

ALk TIHRE TR IR T1 4R

s RAHNZ e

FULLY AUTOMATIC SHRINKING
with the ThermoGrip® shrink machine ISG3410-
WK-WS
® Fully automatic shrinking within seconds
= No incorrect input of parameters
= No overheating and burning
of the shrink holders
= Maximum security

AR E 4R T R
HIREE RS

Scan the QR Code to view the TDSc
System in combination with the
ThermoGrip® Shrink Machine

O F RS HUR I R iR BEE AL b

= FTAMEXETE, ARREFEERESRF
» EEE B E R B BIUSBEE O

SYSTEM CONFIGURATION WITH CONNECTION TDSc-DC ... Data Carrier

to shrink machine, shrinking parameters on the data carrier

e All relevant data for the shrink process is stored
on the data carrier (EPC range)

¢ Reading unit is connected to the shrinking machine
via USB interface

TID (12BYTE)
EPC ##&#{& Memory (16 BYTE)

A
v

AN TDSc B3 E Reading Unit

WA RERS (TR RIER )

A4

Innovative Mounting System
of the Data Carrier (patent pending)




ISGE FIF AR BB

Accessories for the ISG Machine Series

& R E BIS-C Chip Reader E&XBIS-C/BIS-MEHIZMER, #FHTMEBNLSE
* WREIAR, EMYEE
Balluff BIS-C / BIS-M evaluation unit with handheld Chip Reader

and holder
* Option on request, additional clarification necessary

BEEUTERE

Suitable for the following machines

Eidh= TS | 1SG2410 | 1ISG2430 | 1ISG2430 | 1ISG2431 | ISG3410 | ISG3410 | ISG3430 | ISG3430 | ISG3430 | ISG4410 | ISG4410
Designation Ident No. | WK1 TLK TWK WK1 WK4 TLK TLK4 TWK WK1 WK2

|ISG23410—BIS—C‘5108649‘\/‘—‘\/‘—‘\/‘\/‘—‘\/‘\/‘\/‘\/|

‘ BILZ RFID:& /iZE 4 & Bilz Chip Reader BILZ RFIDE A RS, S i BE EfMS e
Bilz RFID evaluation unit with handheld Chip Reader and holder

BEEUTEE

Suitable for the following machines

il B TS | 1SG2410 | 1ISG2430 | 1ISG2430 | ISG2431 | ISG3410 | ISG3410 | ISG3430 | ISG3430 | ISG3430 | ISG4410 | ISG4410
Designation Ident No. | WK1 TLK TWK TLK WK1 WK4 TLK TLK4 TWK WK1 WK2
ISGZ3410-BILZ-ID ‘5097703 ‘ v ‘ - ‘ v ‘ - ‘ v ‘ v ‘ - ‘ v ‘ v ‘ v ‘ v |
TIAEIRARARH Tool Memory Editor FTE iR BB P OHE E TR LA A S8
e -
1::1.- PC program with which customer-specific tool designations and
e e the corresponding shrink parameters can be set up.
Al = Wa
w o e o Tema
Tt s
- -
&Y Taad o
; . By
R BEAUTRE
EEw - & | Suitable for the following machines

kil TS | 1SG2410 | 1ISG2430 | 1ISG2430 | 1ISG2431 | 1ISG3410 | 1ISG3410 | ISG3430 | ISG3430 | ISG3430 | ISG4410 | ISG4410

Designation Ident No. | WK1 TLK TWK TLK WK1 WK4 TLK TLK4 TWK WK1 WK2

ISGZ3410-TME 5096091 v v v v v v v v v v

USB#N
USB Interface

USBEOZESEARERMBZFL

Connection of the USB-connector on the distributor board
to the plug and socket on the generator box

Eilh] T84S |1SG2410 |1SG2430 | 1ISG2430 | ISG2431 [1SG3410 | ISG3410 | ISG3430 | ISG3430 | ISG3430 | 1SG4410 | ISG4410

Designation Ident No. | WK1 TLK TWK TLK WK1 WK4 TLK TLK4 TWK WK1 WK2

ISGZS410-USB-BG‘5082290‘ v ‘ v ‘ v ‘ - ‘ v ‘ v ‘ v ‘ v ‘ v ‘ v ‘ v |

90 ThermoGrip®



BEERT
Important Hints

e E AR

EF@ERARIEES, RNFRUNBENF~RIFEEFES
BEATRARREE, BRMRMNESHETERNNS@EE, FI5MER
T, BTHR~ R HIVZEEFNIAR, BHSBAIRARFARE
B R EDEN TR

NREEFRER, RINOEEARSKRE, RESSENTRWAE
SBiE. HIBHREVWIN BRI LRI,

Xt AR S ANE B _EBUHRA T R RSB E AR,

PR R Hl SR X AR RSB AR FIRARIERE, &N
KIMEX R LR FRIRFAITISIE

ik
BEEELAHNER.

BMTRMHE
MRITAMERT100BLT, SHMIT20BRTTHIMTNZE A,
FERTIERNEITESX,

kR it
MREB R AR, RMNABHFRITERR, RINBOBEAREN

BB REAERBEHRBRT R,

Updating of our product range

In the course of updating our product range, we are not only con-
stantly adding new and technically improved products to our pro-
gramme, but at the same time we are also continually reassessing
the product range. In exceptional cases, it is possible that we no
longer have the product you order on stock.

You will then receive a technically improved product or an equivalent
alternative. In any case of doubt, our sales team will contact you in
order to determine the optimal version for you. We ensure that you
will always get the most updated tools.

We therefore do not assume any obligation to supply tools appear-
ing in the catalogue and/or in the price list which have already been
adjusted out of the system internally.

Bilz and its partners shall have no liability for indirect, incidental or
consequential errors in this catalog.

Prices
For prices, please refer to the current price list.

Minimum order value

An additional handling fee of EUR 20.00 will be charged for orders
with a total value of less than EUR 100.00.

The minimum order quantity for special tools is 3 pcs.

Special designs

If you find that your specific machining problems cannot be resol-
ved with any of our permanently stocked tools, then we can supply
special designs or tools made according to drawings. Our applica-
tion technicians will be glad to help you.

KAERREFANGERESHEITRED, VL RERE, M TFHEAPHERFHEMZITESR, BRNREBELHNF . =mEERIMNISE

MAHE

This publication may not be reprinted in whole or part without our permission. All rights reserved. No rights may be derived from any errors
in content or from typographical or typesetting errors. Diagrams, features, and dimensions represent the current status of the date of issue
on this catalog. We reserve the right to make technical changes. The visual appearance of the products may not necessarily correspond to

the actual appearance in all cases or in every detail.

ThermoGrip® 91



EELREZTAEFRARPERTR
BILZ WERKZEUGFABRIK

GmbH & Co. KG

Ligimtdl, EHR=HK526535#
A107Z, FE EEHAESEX 200131

FEi%: +86 21 2076 5699
t£H.: +86 21 2076 5722

BILZ WERKZEUGFABRIK
GmbH & Co. KG
Vogelsangstr. 8

73760 Ostfildern
Deutschland/Germany
Telefon +4971134801-0
Telefax +4971134812 56

info@bilz.cn
www.bilz-boehlerit.com

info@bilz.de
www.bilz.de

0000
00000000 00000000000
00000000000000000000000000 o
O 000000000 0000000000000000 0000 000
O 000 000000 00000000000000000 0000 0000
0000 O o ooo 000000000000000000 oo o oo
000000000 0O 0000000000000000 0000 00000000 000
o o 000 0000000000000 o 0000000000 00000
0000 0000000000 00000000000 o 000000000000000000000
o0 00000000 00 0000000 00000000000 o0 o000 000000000000000000000000000000 oo
00000000 0000 000000000 0000000 00000000000 00000 o 0000000000000000000000000000000000000000
000000000000000000 000000000 O 0OOO 000000000 000000000000000000000000000000000000000000000000000000000
00000000000000000000000000000 0000 0000000 000000000000000000000000000000000000000000000000000000000000
00000000000000000000000000000 00000 0000 00000000000000000000000000000000000000000000000 0000
0000000000000000000000000 o0 00 OO 0000 o0 00000000000000000000000000000000000000000000000000000
000000000000000000000000 000 o 00000 000000000000000000000000000000000000000000000 0000
0000 0000000000000000 o0 o 0000 0000000000000001:000000000000000000000000 oo
000 00000000000000 00000 00000000000000000000000000000000000000 oo
000 00000000000000000 00000 o 000010000000000000000000000000000000000000000 000
o 000000000000 00000000 0000 0000000000000000000000000000000000000000 o
000000000000000000000 000 00000000000000000000000000000000000000000000
00000000000000000000 00O 0 00000000000000000000000000000000000000000000000
00000000000000000 0000 0:000000000000000000000000000000000000000000
0000000000 0000000 0000 000000000000000000000000000 00 OO
000000000000 0000 O O 0000000000000000000000000000000000000 o
000000000000000 o O 00001.00000000000000000000000000000 o
00000000000000 000000 00000000000000000000000000000 00000
000000000000 0000000 o0 o0 0000000000000000000000000 (] o
000000000000 000000000000000000000000000000000000000000
000000 o 000000000000000000000 00000000000000000000
oo 0000000000000000000000 000000000000000000
000 00 0000 00000000000000000000000000 000000000000000
000000 00000 00000000000000000000000 0000 0000 000
o o 00000000000000000000000 o 0000 oo
o o 000000 0000000000000 [oJole] 000 000
00000000 0000000000000000000000 o o o oo
00000000 0000000000000000000000 o oo oo
00000000000 oo 0000000000000 o0o00 o0
00000000000 000000000000 o0 0000000
0000000000000 00000000000 00 00000000000
0000000000000000 0000000000 oo oo 0000000
000000000100000 000000000 0000000 0000OOO oo
00000000000000 000000000 00 O o
000000000000 0000000000 oo 0000 o
00000000 0000000000 OO 0000000000
0000000000 0000 oo oo 0000000000 oo
0000000000 0000 o oo 0000000000000 oo
0000000 00000000 o 000000000000
00000000 00000 0000000000000
00000000 00000 000000000000
000000 oo ooo 000000 o
00000 0000 o
00000 oo 000
00000 oo
0000 ooo
000 oo
ooo
oo
000
ooo

EBL T E
Production and sales locations of the LEITZ Group

Bilz
Boehlerit

Leitz

Printed in Germany, No. 5053454 12.19





